aSle adlal

4 gadll daghiiall g 30 gll) 7 pd g Lia
dodalall @ il clallda g Dda 3 ggaa
i Gl aa) jag A
J Uy Gany o lud A+ Ul

u-b\ﬂ SJ.«'AM\

$Y) B dlaal Lecture 1
e Ao G pdiu(( Grammar ))..

A ode iy a3 dlia((Grammar)) i Ml dliu oy,
? What is Grammar

. Grammar is defined as the rules that say how words are combined, arranged
and changed to show different meanings

¢ gaill sa Lall
AQlide laa LBy W it g gl 5 9 CilalSl) auend oy (S g g (AN 20 g8 1 gadl) iyt QL
Slia ccilalSl) oda Linic:
teacher, student, question, asked

fraludl oaiia dlea B cilall) o Juad (i€ || Jo& g Jlead 2ibl

alaa J4i> The teacher asked the student a question
A B claeld P4 geGrammar saie dlay Ul < ygdid WAL ) 5 cilalsl) oda U,

4l dlay aaid AT JSdw qui A 13 85 See> The student asked the teacher a question
g alral) Jloy s ga ulldal) Ligd
iaall b oliae cptlan W e jghh cpilaal) (0 b i ) 83 JNA (e b
Al PA (e addiey 13 J8"Grammar” s ggad CGrammar” GlalS s g Wl (58 GI(( — alaa
et — s — il
agsaill 20 g JNA (a JalS el W ey i clalSl) o3 LSy 130 Y) Allat o gllaal) Jal) g o ) 5 Led

The largest unit of grammar is the sentence

Alaadl & Aall) a0 g8l Ban g S|
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Jaall b e ka8 LAl ((Sentences))

¢ alaadl A La il
A sentence is a group of words that expresses a statement, question, command
or exclamation

dag i dlsdaTypes 4daall 4dlisal):
1- Type statement
2- question Type
3-command Type
4- exclamation Type
.. A Sentence consists of one or more clause
b LS (e AS) g saalgo b Ao (g giad alaad)

.. and usually has at least one subject and verb
g Jad gaalg Jeld o (5 giad dlaall bl
: Types of Sentences
£153) Axy ) Led Alaad) o L Sd LaS

Jo¥):((Statement))
4yl Alaad) A L Statement sentence ¢

il glaa u.h’."s alaa o .
Ul o3 2 o (( Declarative sentence )) 4siyad ) 4y puai alay 1 fray.,

Jia: He is studying << 4xibys dlaa e o adaa A" Statement sentence” o 4y mal dax g
44 23" Declarative sentence"

s Jady paddi O Aaglaa Uik )(( guut padd) |,

Lgranuid daglaall (a5 3 ) 4aglra Lithe) laal) 022 Jad(( Statement sentence )) s)((
Declarative sentence))..

..We can make statements affirmative or negative
Aifa g dgiia dibend) Alaad) Jrad L) (Saal) (.,

Jia: | have found a mistake already
A £ 5l (e A58 dlaa Alaall 224" Statement sentence” ..

) Al Jéa: | have not found any mistakes yet
Cra L) A g L, (((Addial) ddaad) Sl 1)) @bl JUall B 399 Alaad) Jad < i) LY Agdia Alay dland) o2
) g " Statement sentence ..
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Jia ClalS 3 g2 g Badli 7)) Cpiflead) opilandl o ¢S (25 1 ((NOt - any - yet)) ..
dadia dlaa gl &l @4@, ) ‘_,a.).\hﬂ (@ Adaa (2 Lgdaa g 1) lalsl) a8 (( negative sentence)) ..
Aifia dday ) Al sy cilalsl) 032 1) clalSl) s 1A Ly aa g8 Wb Afiluad) Alaal) Li((sentence affirmative
Al aleadl 0 Gle g8 8" Statement sentence " iy <ha((affirmative & negative ))
dand) e S £ 9l 1 ((Question )) sl

JIsmdl Adex 2 La(( Question sentence)) ¢
b o 2385 gl daglia oo Jlud dlan 2.
3 Qy((Interrogative sentence )) (e Asalgdid dlaa

Jha;
Is he studying? << 4agla ¢ Jlw £ 5l 12" asks for information" e si alaadl oda 131 «
((Question sentence)) J'((Interrogative sentence)) ..
daglra (o S gadd(( 97 ek A R)) L.

Al Jla;
?Can | go study << b o 2k £ 53l 1" makes arequest” s s dlaal) oa 13) ¢
((Question sentence)) J'((Interrogative sentence)) ..
Gt oS s o) A pland) cullay e,
$ Jaall e &Y £ il ((Command)) Y

¥ s A LCommand sentence §¢
) a3 gl 7180 gl el Joai Alaa A
Layl =45 By(( Imperative sentence )) 4siall adaad) : Jray,,

~Jia .Go to study
aienal) jaly Gaadial) La(( 5 Jads Ol s sald))
Al JUB: a9 i), e ¢ aleal) 021 13 (((Command sentence )) s)(( Imperative sentence

) -

Al Jia: | Be careful
. M\‘;’JDCJ&&M\UQ((LA;@@U@J))_
Al Jshae: 4l e si alaad) sad 131 ¢((Command sentence )) s)(( Imperative sentence)) ..

B O e gda) 03gh dlaall Algd A el Aadle aa 63 ALY JUally BaYCommand sentence ..
52 Jaadl e a0 £ 5l Exclamation el
& L

4gaail) Al & LEXclamation sentence ¢
Sola o) il ga gad Giaaiall jolia gyl aadind Ay A,

Jia: | What a lovely day << &aaiall jgud ciay ¢ 5l I "express the speaker’s feeling”
e o Alaad) saa 1) ‘__”:d\ ol LR PENE) Lo dua (pa 0 ) g iy Eidaliall Lub(( Exclamation
sentence)) ..

Al Jla: | Excellent << &asiall g ciuay L £ sl a"express the speaker’s attitude™
g 58 Alaad) 02a 130 ¢ 0 gad &l ) gl Cuali® ¢ 00 dal o8 Ladie JUS Alaadl o2 (( Exclamation sentence ))




Exercise
Identify the type of each of the following sentences
a. statement b. question c. command d. exclamation

1. ?How often do you come here )
daglia (8 i 48 Alaal) () gaan (e Lyl g (9) = Aagidia Alaad) Gl Badli>> dalgdind dlay ol gl 13
4 b, question

2. ! How interesting this article is
dalS 352 g Gua e Jm Adaadlay o)f ad g 5z, Alub(How) Jedll o) Badti 1) s 9 385 o8 Oy ¢ i B
Sy algill Bela(is) JeWl sy ) Jadll o) Cua(article ) Adead) & Joldll ay U Jadl) o) g eal) Gag
asalad),
and dadMay da gida dlaad) o L) BaY ¢>> duaad ddaa g2 i saldl 1)
4 d. exclamation

3. ! Hurry up before the train’s departure
= 4a gida dlaal) o) Baadl(1) dalS 2 ga g8 ¢ duuaat Alaa Cawd dlaal) s la uSSJ(Hurry up) linall yals Lia
dle U caady o U8 £ e Of peaiial) yaly diaaial) M., >> al dday 13)

Y ¢. command

4. ? How interesting is this article
A Al AN Alaadl o (381 1 sBaY((2. | How interesting this article is ))
alaall 038 cpug((4. ? How interesting is this article)) :

Aailil) Alealy:
1- Jeldll aay ) Jadl)
2- ddaad) ) B algiia dUia
3- daadall gl il
>> Agalgiin Alay o (of Agaas dlay 13)

Azl ) 4laal):
1- Jeldll Jd A1 Jadl)
2- adaad) JAJ A algdin) Sl
3- Aaslaa (o dad
>> Agalgdind dday & 1)<< o 3 Qg 989
4aY): b. question

5.. This article is very interesting )
daglea e g ja Lihe ) dlaad) o2y Jualic< Asilbn ey A 13)
4 a. statement
Simple, Compound and Complex Sentences
palnall g 48 pal) cAdaseasd) Jaall
d,é Cra l.e_“\é Gapdly (EREQ R JS:\:\g CU Al éj#Y‘ RN L”,.m__

S Aandl Aageuy o33 aSibie s () (1 g Andlal) ) palaall B AS) Jlaka JS W jis £1 651 030
1- Simple sentence 4awll 4layl)

Jia: The man is here )
Jia oded — Jeld 1 Lhalc< ddasy alan s34 13




2- Compound sentence4s i 4leal)
Jia: The man is here, and he wants to see you
¥ deal> The man is here
4,38l 4laali> he wants to see you )
- palihy ) ilaaand + , << 4 e Adaa & 13

3- Complex sentence ouizall alaal)

J: The man that wants to see you is here
Liaithat sdiee ciasald adanll dlasl) (<< odina dlaa (A 13)

. We will discuss compound and complex Sentences in detail in the coming

lectures
Aaldl) &) paalaal) B Jualilly salaal) g 48 sal) Jaad) (E8LS £,
Jud¥iVerbs

The verb is the central unit ( nucleus ) of an English sentence ..
g ulady) dall) 2 Adaall dasi giall oaa gl ga Jadl)

Jadll Jga (e dand) b
Als ranucleus << el sl oulul) dobd) s

Verbs can refer to actions or states
Q983 28 Jadl);
refer to actions
Jie: run, walk and talk<< (wbill S cpa Guaad Eilaal oda

s'refer to states
Jia: want, have and be<< gaddl U o (alilglS oda

Main verbs vs. Helping verbs
b8 Lsal) Jlad¥) ds (dbaM)Apmaliad) Jlad)

. Each English sentence has a main verb
(o) Jad o (g giad Ay ulaiy) Aall) B Alay S

Jia: Mohammed walked home
Walked << (mbatd) J2dll sa

Jia: Khaled is happy

. Some sentences also require one or more helping verbs
AS) g aalg ol J2d o g giad Jaad) (any.,

589 AU awa 4 oLl Jadli((auxiliary verbs)) 4slay) Judd) @ dras,




Ji: He is coming to the meeting
Ua (is) (shldal Jad o) aolusa Jad ).,
s(coming ) (bl Jad A,

Jia: He could come here soon
Ua (could ) 4shad 31y g) aobluwa Jad )
s(come) (ombud) Jadll sa
Helping verbs (auxiliaries ) include:
NS (55 038 Luaal) JladY):

1. (be (is, am, are, was, were
2. have, has, had
3. do, does, did
4. Modal auxiliaries: can, could, shall, will, would, may, might.. etc

adaada:
Y Gy B Al Jlad) 193 B Y g ¥ 9 ) a8,

Jie: He is here
La(is) Alaall 8 o) Jail) s

Exercise
Identify whether the underlined verb is the main verb or the helping verb of each
sentence below
a. main verb b. helping verb

1. Students like fast food
Like<< oulul J2& o
4aY): a. main verb

) 2. He has enough money for the trip
O Wil U <3 Las(has) SUAT Jad dlia Ja Saclua Jud o Ja alaadl oda 8 (Sl dolua Jub
Al Jrd aa g ¥ ¥<< bl J2b s 130,
4l a. main verb

3. Khaled does not want to go to school today
Jadl) Waldoes < ssbwa J2é g2
dadl) gwant < gpubul Jad s
<< el Jad ol gal) 1)
4 b. helping verb

4. He is helping me wash the dishes
Jrilihelping < bl Jadl) g2
Judll 5(is) < eluwall Jadll o8
<< b J2d ga il gl 1)
Y a. main verb

5. He will arrive shortly
Jadl) Ll ]| < solusa J2é g2




Jadl) sarrive < gl Jad sa
<< 2o lwa J2d Gl gall 1)
4aY): b. helping verb

Transitivity
Jalig JalS sine dlaall Cucat b 4y gad 4id Lgd) Alagh () (s AalSllgl il e e

: Verbs are divided into two groups based on transitivity
‘U.JLU\ 448l bl UJ; Ol gada UJ\ P«aﬂ dbé‘ﬁ\;

‘ 1-Jdg¥ g5 Intransitive verbs
alaal) CN‘L)JJ’JAUJ\ Gﬁuﬁ‘f g "Lf'”:“J:‘é" ejﬁ\ Jadd) MJQJJ’J’A‘JJ: g#‘ggﬂ\ BEL N R
4 Jdoadall (92 (nal) AlaiSa

Jie: Birds fly
Birds < Jslé
Fly < Jad
Adaally 4 Jspda 2a g V.

Ji: The man spoke
The man < Jst
Spoke< Jaé
Adaally 4y ddppla 2 g Y.
2- A4 gsil): Transitive verbs
) liag @l ) gariall Jadl) pany Jadl) Ua g ¢ YlaS JiS) Jandl atd 4y Jgrda o (s giad AN JudY) A g
Adaal) sna JaiS (S 4o Jorda,,

) audii gTransitive verbs cmsaud :
1-Js¥) adl): Monotransitive verbs
Mono < gl g aaly A"0one"..
g A Jerda o g giad AN JudY) A,

Jia: Khaled broke the window
Khaled < Jslé
broke < Jé
the window < 4 Jséa
Juill £ 65 cMonotransitive verb st s aalg 4 Jsrda o (o siay 4Y"the window" ..

2- A4l adli: Ditransitive verbs
Di < A 5 ¢ ATwo..
N b o g giad S JudY) by,

Jia: Saleh gave Majid a pen
Saleh < Jslé
Gave < J=
Majid < s 4 Jsaia
apen < (b 4y Jgrda
dadll £ ¢i <Ditransitive verb Ly« (N gada o (s giay 438 "Majid sa pen” ..
:Exercise




:Decide whether the underlined verbs are
a. intransitive b. monotransitive c. ditransitive

1. The student needs a pen
Jrilineeds sas il 4 Jerda o g gisy(apen) .. << s gl lImonotransitive verb
«Y): b. monotransitive

2. Ali told his friend a joke )
Jrilitold Lea g4 (¥ eda Ao s giaa(his friend) s(ajoke) .. << s <isall ldditransitive verb
Y ¢. ditransitive

3. students study ]
Jrilistudy 4 Jerda Ao s sing¥<< A Qlsall Wintransitive verb
<Y a. intransitive

4. students study books ]
Jedlistudy shg aalg 4 Jerda Ao s siau(books) << s& <l lmonotransitive verb
<laY:b. monotransitive

.. Note: Some verbs can be either intransitive or transitive
aBiadle: AaY (980 3B g dgamia () oS 38 JladY) (amic< Alaadl o aday lda g
Direct vs. Indirect Objects
KAl il 4 Jgrdall aa pdiliall 4 J sadall

.. As we saw in the previous section, ditransitive verbs take two objects. One of
these objects is called a direct object and the other one is called an indirect
object
Gl adalal) B Udkd Le Jia) 4 Y grda DAL JladY) (any
Su 4 N adadl Gl sasl((direct object)) e Su AV bl 4 Jeda((indirect object))
s sl Ay Jgrda,

:The indirect object comes first followed by the direct object in this example
Al il 4 Jgadall sale((indirect object )) sl 4 Jeadally o &3 J ¥ A Ab((direct
object)) ..

Jia: He gave me a book
me < ik & 4 Jerde 2"indirect object” ..
abook < sdkw 4 Jsrda sa"direct object”..

: The indirect object is typically personal as in “me” in the previous example, and
“the man” in the following example
d"indirect object" ¢S dale ((add)) ..

Jia: He asked the man a question
the man < _dlw £ 4 Jsda sa"indirect object” sag'personal”..
sa question < kw4 Jsrda sa"direct object”..
"The indirect object is often equivalent to a prepositional phrase with “to” or “for




(b 2B J ¥ Ay Jgnall 2Bl gll B (=19 ¢ AN Ay Jgrdall aiy a8 JgWL Sl Ladllila 4y Jgrdal) of LT U <3 Lia)
A V) Ladd oasl g Al B U 4 J grdall aay;
Fa sy s do¥) 4 Jerdall 058 o) to —for..

Jis: He gave a book to me
Ja¥l & 4daall> He gave me a book
U28 Latie ¢Slg(me) (10 ) A 4 Jsaial) aal(a book) Jadll 3 ¢ gave..
<< 13(to me ) Jds 4 Jsnda sa..

Jia: He bought a gift for his son
¥l & 4daall> He bought his son a gift
UZ8 Laie ¢ig(his son) ~(for) A 4 Jgrdall maal(a gift) Jadll sy ¢ sabought..
<< 13(for his son ) Jg 4 Jsrda s,
~~ AL B palaall~~

? What is a phrase
A phrase is defined as two or more words that function together as a group

QGJLRJ“,ALA
mwsmdmu.d$3ﬁ$3\umwupoJLﬂ\

.e.g. The old man walked down the street
sl The old man Jsl Lg.a\ e ALl alaall ‘_,ﬁ o_laall oda el ‘.

:There are a number of phrase types in English including
1-Noun phrases
2-Verb phrase
3- Adjective phrases
4-Adverbial phrases
5- Prepositional phrases

e 4 ey dall) A il jlad) £1 63 (e 23 AlUia;
1-dam) Adan 4pd) Azacd) o jlall)
2- dglad alan 43 Anladl) o jlal))
3- iy Ay 4d g Aiad ddan 4l ) Agiadl) o jlall)
A= eajeciSa b Al Alaa 4ud ) 4l o L))
5- sgsas U Aaa 4l ) gl sl 3 ke

Each phrase has a head and one or more modifiers*
* i e AS) gl dalg Jita g aaly ol Led o s U8

4l gale: modifiers @il — dudy ai cildua )) CY i) Ll
:(The Noun Phrase (NP
dzand) o jlally 12 21,

:A noun phrase (often abbreviated to NP) is a convenient term for any of the
following
1. ANoun
e.g. Ahmed, students




2. A Nominal Group
e.g. a blue pen, the students

dasy) ast(gsmuiJ;‘sJ" NP") * Juaid¥) aladial ¢ shiady ¢ gadll ¢ 15584 JSNP of o
ﬂ‘@yﬁ‘&ﬁwg&&@h@d\ 19584,
A e Y qalia mlhias b g
1- éu.u‘ ‘fd-h cdaal
2- Aaml 45 gara; DUl ¢ (3,50 A8,

.Each nominal group has a head and one or more modifiers*
* Jda e AS) gl aalg Jira g aalg ol L dpand 4 gaa S,

.Modifiers add to, change or limit the meaning of the head in a phrase. The head
is the word that determines the type of the phrase
AN Gl gaaY e dnal) dilas:
-0kl (A (ol ) ra il
2-5 bl (A Gl ) ra (e aall
okl £ g3 aaad Al A<l A Gl ),

For example, the word “pen” is a noun that can refer to any kind of pens. When
we modify it as in the previous example “a blue pen”, we limit the noun so that it
.can only refer to a specific kind of pens

Sia; Al Al sl ga..

o ) Sl (B LaS Loty 85 Lasis (=L ¢ 0B (on B 58 1 ) s 7 3,00 0"
aSBY) (ha (e £ g ) BBy O (Say Eung caul) Udda g Ua
Jiald(blue ) iyl 313 g(@) ad) Bl o Ulela,

(pen) sa Jirall g o lall o) Alaall i M s2(a blue)..

:Some other examples
Ahmed’s desk
a book store
the student

S AY) ALY )
(Ahmed’s desk) c.uﬂﬁ (laa) g addd) 1 g paddd sadaa o Aglall Ua: saal Qg
(a book store) g « Sl ga g 4s ¢i 2daa ga Jaal) Ua: sl o,
(the student) iyl 3130 sads 3 5 aisa pla qullla Ua" JI" aatd ¢; ulldal |
3. A Pronoun
A pronoun is a type of “pro-forms” which are defined as forms used instead of
other forms. Instead of using the nominal group “the old man” we can use the
"pronoun “he

3- raall
(B85 92 sl Al gall zaladl) of oygall ziladll”
sy sall" Al pall A" LAY Z ALl (e Yy dwsdiioid) ZI A
daan) ds garall aladind (e YA the old man- Jsaadl Jasl" sadal) aladiul UWiCay" he- ",




:Pronouns include
:a. Personal Pronouns
.Subject Pronouns: |, you, he, she, it, we, they
.Object Pronouns: me, you, her, him, it, us, them
.Possessive Pronouns: mine, yours, hers, his, its, ours, theirs

Hhaall Jads:
daadldl) yiladl) -i;
JeWl) jilea> |, you, he, she, it, we, they
4 Jedal) jilaa> me, you, her, him, it, us, them
4l &pa silaz> mine ¢« dyours «dhers «his « 4lits W gl A(iladl &) cours « W
theirs »..

b. Reflexive Pronouns: myself, yourself, himself, itself...etc
dulSa¥) jiladll - myself « il o) oudiyourself « dudly ol dadihimself « Awdiy gl Awd
itself Jllall jal) 4dediy ol Lguidsy) . &

.C. Indefinite Pronouns: everyone, someone, something
saina yall jiledll -z everyone ¢ g JSsomeone ¢« L gaddsomething L.,
4. A Pronominal Group
e.g. we all
everyone in our class

.In a pronominal group, a pronoun is the head. The pronouns “we” and
“everyone” in the previous examples are the heads of the pronominal groups

4- ppadally Glial) (g e A gara,,

Jla: we all s 0l
everyone in our class Ll @ aseall

o adl (ol ) g2 adl) ¢ padally (3laiall (g spads A8 gana (.
Aaall" we - oal' g"everyone-gmall! ABe gd (g sada de gana (B Gugl) b ALl ALY A
sl
we all we ol say spadall- all Jirall 52,
everyone in our class «everyone wlill g2y jalll- in our class Jial s,
:Exercise

Identify the type of the underlined NP
a. noun b. nominal group c. pronoun d. pronominal group

1. The children went to bed late
b.nominal group

Jeld pla daanl 48 gara ¢ (il 98 ¢ (alS ¢ o o< g il gall 13 nominal group 4sesd 4s gaxa,

2. 1 made this cake myself
C. pronoun

) S agr < saal g dalS e ol | ilSad) el A< gb sl 33\pron0un el




3. Ahmed owns an expensive car
b. nominal group

calaS ¥ e o e car” Laa (Niva aagg o oulll sar "an” s'expensive" < s il X
nominal group 4sawl 4 e,

4. Khaled bought a book
a. noun

a9 anl ¢ aalg 4l 0 o le< 8 qlgall Inoun asl..

5. The book is his
C. pronoun

sla ¢ saal g 4alS 0 o e Possessive Pronouns s qlisl) o) Ul JG-M Aslal) dipa paia g
L padid< o2 lgal) \A\pronoun s,

6. Someone in our office forgot to lock the door
d. pronominal group

soke Jgb ¢« liske Wl Ua"" Someone 4l o jlallg ¢ ez o ¢""our office oS!« Lay e o4 g
S ) ¢ i) Jaghiall aea e W JId)"" Someone in our office ..
Someone gl sa 5 spadall..
in our office Jiall sa.. < s Gigall ldpronominal group s Glaie pasa
‘Nouns

:Nouns can be divided to
1. :Proper Nouns
e.g. Ahmed, Al-Ahsa
A proper noun is the name of someone or something that is usually imagined to
be unique

2. :Common Nouns
e.g. friend, desk, bird, air
A common noun is a name given either to an example of a class or to the class as a whole

:Friend” refers to one example of a class in the following sentence”
e.g. 1. Ahmed is a good friend

:Friend” refers to the class as a whole in the following sentence"
e.g. 2. Afriend is somebody we like and know well

Friend” in example 2 is called a generic noun”

U-W-“ﬁui‘ I oelawyl:
1- ?M\ e.u\) Aasaal) f-LAM\J‘)
Pw‘)@&Aﬂ”?ﬂly‘)JAAAJ‘@J-IUAJ—I}U\’SAU‘DJmJMGwJ\UAMeﬁH’JAH
m\<m$usuwum4ﬁuuua)h~m‘w\@wum




plua¥l< slualll LSa jrae Gla 4d) Ll B sl sluall) pawi Latis |
daaall slawl A o:&(eﬁs\l\),,

2- {SJM\ slau!:
JSS Addl) I gl add to Yliala) Jora amil g2 & idiall sl
Jha:

1- A" Friend” sl gadd M ¢l ¢ saal o aga3 do¥) JOa B,
2- dals” Friend” 4l ciyas oo JUall 138 8 (JSS 4Gl o 3 g S Jiall & Friend” ..
* 4l Friend" =38 QA Jial) 2" a generic noun — ale awl” .
Exercise

ldentify whether the underlined noun is
(a. acommon noun (example of a class
b.a common noun (generic) c. a proper noun

1. Mohammed gave me a pen
(a. acommon noun (example of a class )
pen < ali ke daaa o @l (4l e 3385 (5))) 4l o Jha Jara and sa< 98 il gl 131 (a
common noun (example of a class Al (s daaa ol

2. Apenis an instrument used for writing
(b. acommon noun (generic
pen < Jss4idl) ) Jha e sl sa< 94 igall Mi(@ common noun (generic als asil.,

3. Khaled’s car_is new
(a. acommon noun (example of a class )
car < A 3w A g Abma ol LUdaa o (448 (e 3385 () )) 448l o Jlia Jara ad ga< il gl 1)
s$a common noun (example of a class 44l (s daaa ol

4. Khaled has a new car
C. aproper noun
Khaled < (s padd Jo a0 A< o4 Glgall Mg proper noun ale aul) gmaua and)..

5. Fruit is good for you
(b. acommon noun (generic
Fruit < staay 4/ il Ulad J; 4¢SWY ¢ o3 a3a5 al) JSS 4G ) Jla ora ol g8) < 52 ol sl 13)(a
common noun (generic ak awl,,
.Common nouns are usually found in nominal groups to help the speaker say

which particular example of a class he has in mind
Al o cjhad LAl ddsall 448l Aale J 98 8 Gidatiall do bl dpand Cle gana & 33 68 Bale 4S jidal) slau),,

J¥ JEall:
The students were waiting for the teacher

- The students & ida aul)) gl udly g ((dpam 48 5a2)) (R))..
- The Jina ) el gudly g (s 3147)) ).
- Students 31312 cW¥The 4alS ol ¢l (((Students- 3131 LAY ¢ s Lglaas &3 ((o3((The- J)
Glall)) Casald (e aall))..




- oMH.dA.\\u\.‘uuh\&\gﬁﬂ\w@whdh&d&ag\@@ﬂ\@u&u.\ueldl.\.d?\J.Auﬁ
<y 2ilThe AeStudents 4ima ds ganal sdisa gddaa Ciauald

- the teacher & jida gl )) 8 gl) (udiy g ((Apam) 48 ga2a ) (R))..
- The Jira)) cd gl Guily 5 (i 3131)) A))..
- teacher 3\l o cl¥The 4k ol ! «((teacher- 1Y) LAY () g Lgdiaat a5 ((al2a((The- J)
Con el (g 2 ().
- i al) Ba) WA o dmy daas \&JAA‘J@MUJ.\AJ.\ M\@uus c_i.\a.uéddl.\.d\ 1 i AThe
ssteacher »l ‘da.d sl g 4daa Ciauald

e g LN
The teacher’s desk is new

- The teacher’s Jis)) Ll s (< ida pul)) sl pudly 5 ((42amsl 42 5a34)) (A))..
- The il 3141)) A)) Jina ) cd gl (udly g))..
- teacher’s W o cl¥The 4l ! c((teacher s- 1Y) L) ) g Lgdaaas a3 ((@&u((The J
Con el (g 2 ().
- desk 4zl 4s ganall (il 11 8.,
- The teacher’s Jiall 4.,
3&-43\ i g G\mﬁ ?‘h""“ 3 ga5 4l gUal) U‘u“ Juju\uumuk. Uas b JUal) 138

*x iy gail) 3131 Ady gl g an) aal 8 Uselud

Proper nouns will not normally be modified this way. In other words, modification
differs between a common noun and a proper noun

4dy jhal) 03¢y Lelian (S ¥ Bale (alal)) dasauall sland)..
alall) aal) aud) g & jidiall a) G CAlidy Jaadl) ¢ A) B L),

Proper and common nouns((as well as pronouns))can refer to something:
a.animate
b.inanimate
) i B ((ilaiall GlIS g)) AS il slan) gl (alill) 4apaual) plowd):
j- ASM\-CUJY\) > S
G- s s ().,

a. Animate
Animate nouns refer to a person or animal
A jaiall - s(cs 5 3):
Ol g gaddi A judd 4S adall slaud),
dl-u.
Ahmed, friend, bird
Ahmed < paid) aal)..
friend < padd) Gaa)..
bird < Lsbas(0lsa)..

b. Inanimate
Inanimate nouns refer to a place, thing or an idea
- laadl:
oS gl gl gl (lSa ) i sdalad) plant),




JUa;

Al-Ahsa, desk, air, freedom
Al-Ahsa < (%) slaal)).
desk < (s ).
air < sd) sl ).,
freedom < o) &4 a).,

:Count vs. Mass Nouns
0d gdaa id) A 03 ganall ¢ lal:

..(Nouns can either be countable (count nouns) or uncountable (mass nouns
- SS9 0dgara (eSS 28 ;.LAMY\(OJJM‘ QLAM\J‘)__
- SN goagira pf (ST A g(ALSHMoa gara yal) sland)),

Count nouns such as “friend” and “man” can be preceded by “one” and may
have a plural form such as “friends” and “men” which can be preceded by a
number higher than one )
- Jlacoa ganall slaw¥):"friend-Gasa" s"man-da" dalS J@ (e Guid &' one-aalg"
- Jia ¢ pan dipa W 0685 Of oSars " friends-saal”  s"men-daut e Sl s Lghud o ¢Say )

Qaly,,

Gl moaly
(AU AU 82 gazall eland);

1- .};\3 d%)< JJAA)) JA‘J QIS )3\))
2- Jau< gaa)) iy o Sisi))..

I3friends 4als! aaadl safriend s men 4alS gaadl wman ..

Jhia;
“two friends” and “ten men”
-two friends Qlma, .
-ten men Jay duds

Laa g ¥ o2 geall slawdl clallaas aa g 4o Julaty) dall) o

gaall - 3l
e Mwo pax 9 agudl,

AUIS A g 03 garal) slawdl clathiaal) (e £1 53 ¥ 23 g Ay jad) A2l Lal:

.Mass nouns such as “bread” and “milk” cannot be preceded by “one” and do
not have a plural form )
sagirall jill planll) ALisl) Jlac:"bread-3a" " milk-quls" 4alS 38 (e G O OSa ¥ One-aly"
e dipa Al Y Lyl

.Some nouns can be used as both count and mass nouns according to the
speaker’s meaning )
=S Lgaladin (Say slan) Glamy(dgira pS ol 9 3 gdta anl"ALS") Eidatall nal lhg o) g 32 o,




Jéa:
1. (Light travels faster than sound. (mass noun
dalS Ciply UaLight sagiea s,
2. (There are two lights by his desk. (count noun
4als cely Lalights 4alS g ¢ sagmalights 4daadl oda 8 4y Jgrda Cisla
:Collective Nouns
el aul) Aelaad) slan¥l)

A collective noun is a singular word used to refer to a group
4s gada ) 3 LAD aadling 03 jia 4alS g Slaad) aud),

Juia;
family, team, public
family < gl (e 232 02
team < gl (e Ae gara
public < gald&Y) (i 4s gaza Lyl

A collective noun can be followed by a singular verb (e.g. is) or a plural verb (e.qg.
are). It may be associated with a singular possessive form (its), or a plural one
, (their)
LAa Jads & O (S (olaad) pu¥I(JEal) i (fotiis) ) dady g)(JBal) i Sl are)..
3 jdall asslal) diva pa 1) (381 5 B g(jts) panll Aslal) diva pa gi(their)..

Jo¥ JUiall:
1. Our team is the best
Our team are the best

-45f%&M&M$JM\Qw\iS =0 agare < gmasa laadls

g.':lfd\ JSLialy:
2. Ahmed’s family moved to its new home
Ahmed’s family moved to their new home

— 0o Lgilis Likay  daledl) dﬁdt@ﬁaﬂ‘ its = o ¢ their < gmawa Laadls,

) $iSal) Lgdld ali gala;
355 O g caa¥) (il pandl Ay s AY) 9 2 jdal) diay Laalan ()9S5 Gany | Cpfilen S adl La J gy
2an 9 3 sha Lal) digeall).

Note: It is reasonable to be consistent when using collective nouns as either
singular or plural. In American English, they are frequently singular, while they are
.more frequently plural in British English
*4JaaMa:

- gl dipay gf 2 jiall dday La) 4AB8) gia ¢y 5S5 O Aelandl pland) aladind die  giaall (..
~Ral) dipuay (1985 Gl (e S (B 4SS ) 4 ala ) ARl
Aty il ey A3ULE aaad) disay ¢ 9S5 Gla¥) S LSl G (A,

Exercise




:Decide whether the following NPs can be followed by
a. asingular verb b. a plural verb c. both are possible

1. Ahmed’s young brother
a. asingular verb
Jsii O)) ¢Saall sa: Ahmed’s young brother is
Jsii ) Wikey ¥ (<t Ahmed’s young brother are
G¥(Ahmed’s young brother- g aul (add 5 358a sl (2ea) sal< @igadl i@ singular verb)
e ke Jab déLa) (<ay(Ahmed’s young brother) ki,

2. his family
c. both are possible
Js&i o) (Saal) a: his family is
Jsii o) Wikey o: his family are
H(his family- ges aul (ddlile< igall 1li(both are possible) o gax Jad g 38 Jad 4ol (Say
dals(his family) ..

3. juice
a. a singular verb
Jsii O) ¢saall Gt juice s
Jeii ) WiSay ¥ (<1 juice are
A(juice-4Lis"agima & aml (Lpas" gira and ud 9< i) 13i(@ singular verb) Jad ddlal ¢Say
4l e 3 da(juice) ks,

4. the company
c. both are possible
Jsdi ) (Saall (sa: the company is
Jsdi o) Uikays: the company are
SN(the company- e aul (Asali< gl 13(both are possible) aas Jad g3 ke Jad ALl oSay
4l Jle(the company) ..

5. men
b. a plural verb
Jo&i &) ¢Saall G men are
Jsdi o) Uiy ¥ ¢Sh men s
u‘z’(men e daua (Jau< <l \4\(a plural verb) PR e & Jad 43l GSax(men) Yy Jadd

@;‘w\wﬂ\,@;mmyuudumu\msﬂ
~BANED §_ualaal)

:Modifiers
In our previous overview of phrases, We mentioned that each phrase has a head and one or more modifiers

AR B pualaall B WAL S Al c il e Giaatiin B palaal) oda B
Ll el e LBaad Laaie Wl <) claral) g-
W (e JS) gl an) g Jdnag aal g Mol M e (g gia B ke JS o LS

:Modifiers can be divided into two groups
1. Pre-modifiers are modifiers that come before the head
2. Post- modifiers are modifiers that come after the head




1) e gada () andll CYsrall-

w38 A AN A g> 43LEl cNwali1- Pre-modifiers
vl dm G A A > Ajan) e aeall2- Post- modifiers
.. ( Take a look at the following noun phrases ( NPs

HAE) (5 gl A (ring 3958 iy (A dginl) oa gl 05l 038 OV 42l 21 (M)
A (NPs ) daned) i jlal) e 5 ki 3l

J¥ Q) b
a good friend

friends® ol Al
.48 28 friend audl A8 Ji sla 431 6 Pre-modifiers s s a good s Jixall s-
friend .44l 1 i3 good 9 a 13-

", 42" agood- 4 s ALl e "Gsa " friend-ouil Ulea o ¢ LGS S a0 g friend ¢ Lalsie

1 AGN Ul b

my school friends

friendssa ol -

.48 28 friend awdd 18 J3ra sla 4) i Pre-modifiers s 9 my school s& Jixal) -

friends.. Al | slie school s my 13-

e gl Ll 5 Ul Bl agdl ) el &350 school 5 my Gsilarall Uil Laie (81 g cslBaal gf ) it gl i 3 friends 4als-
) i) A ydall

school ...s my Ol cpilanal) 038 JMA G Alll na " friends” ol sl Llaa 13-

LA A | g PN
the headmaster of the school

N Jaxa g u-‘ﬁ Jaza Lal U
headmaster ..4al<! Jae Cola of the school o_tad)-
4d ja 42 headmaster a) o WUL) Lasic the 511 o)) i U 48 2 au¥) Joa o ol headmaster (il Jia s the 13-

s headmaster J: headmasters) ) JS o) 24 headmaster ) sl Cilas headmaster oul i) Cilra iy 25 813 (A- The
Lhuall ¢ e 3 g2 headmaster ) O 195sa 5 aaial) g iaaiall ¢ha SIS 48 2y 1)

.. 8Ll F2a (headmaster) U Jaa Ll of the school sl Juall-

. A Al e sa the headmaster of ST JSy Uasa Ta1-

sl ) Jla)
the headmaster’s desk

desk .. (i M-

WOl culaa lsla 5 headmaster’s 3 the L Galaaall 5

LAl e agad Al 4llaial) 358 gal Uigh: the headmaster’s Jsii Lie ¢ cddglh (gf ) judy B desk wld-

) .. sl 4 gl ((the headmaster’s desk- cauald cheadmaster U &l Ll & 5 0aiah g Alns Al g oo Ua dudai ¢l f3I-
(desk)..awdd Allaia¥) yaa o Uasla Jhal) 138 3 Jasal) 13)-




soaldd) JEal) gé
several students

students .. 4xaul) o lall oda & (il -
o oar da ¢ dalhall e JLBI Y g ¢ dathal) JS (ad 3 guallall ¢ studentsuaad e Usslu several Jixall s-
WO 5ol J)aka o) AfaS Uilke ] JUal) 138 A Janal) 13 13-

sl Sl gé

we all

o spaally ABlaial] (5 pads e gana B CYIna and o Ll (Saall Cha-
: we allJis-

LA SA- we <

gty Jla L ela 5 Jinal) ga- all <

coopaidally Gglaiall (g jand A8 gana dpan 120 -

;el.ud\ JUialy gé

everyone in our class

..ol sa- everyone <

@i Jha Gela 9o Le A-in our class <

oo paally (laial) ¢ e Ao gana Lyl dpanad 138 -

- When the head is a noun, modifiers usually precede it

- Phrase like “of the school” follow it

- When the head is a pronoun, modifiers normally follow it

head .. 0 U o 4bud Sale "c¥arall™ & () "Gl 11" (585 Ladis

Aol b (i) s AN At ddany ¥ ina AU LHL: (of the school - in our class) Jie ¢ (<)) cl¥radl ¢S Lasie oI g*
"head" ..) & Phrases <) o3& (& " iaa" cils 1) e e

head .. axy Al o dags Bale oAl B (ad) "l S Laric g*

A L) ABiay) A U 8D Las

Alagl) el JS A oSl g everyone in our class JUall 3ady (S 54 g someone in our school (AU JUia J& g Al ) gisal) Ua
LJa LS

. 4Gty CN e aa 13 ¢ "head" sla Ld pradall 5 jsadall aay U L e aall™ ¢ Badl we all sl

:Pre-modifiers in the previous examples include the following main classes of words

1. Adjectives

e.g.>> good

2. Nouns which modify other nouns
e.g.>> school

3. Determiners
e.g.>> a, the, my

i) Al Ay 1) LAY s Alaad) ALLY) B 4uldl) i anali*
Al Al e arall Lo guad e 881 S (pa a8 Lal 4] ) gliadie 4y ppaal) e ganall g Azac¥) i jladl Gibaad) Jgand) ) ) g3 130 1)
wdiad) Jgand) A LT WL 8




)iciliaall ) A 4ddlin-
ALl el e ciliad ; gooddia «"sla) JiG clia”

):sland) ) 4l 4.

ALEY el (e cidiad g AT pland Sl plawd”
my school friendsilaa (4 school 4l ;Jia-
ol $8 5 il Laa friends 9 al- school
friends (i) J3= school aw) Ligh-

):cilA3Al) ) ABIE 4sdli3-

B8 3 Jualilly cladaal) (GBI < a, the, my Jia

:Exercise

:In the following phrases, decide which of the underlined words is
a. the head

b. a post- modifiers

c. a pre-modifiers

1. a big store
a. the head

..l sa- store

.31 A-a

..Ada A- big

big ..5aled 5 (slaras (s store ol -
a. the head s& JLiay) 13-

2. the store manager
c. a pre-modifiers

manager .. ol -

manager of the store .. &aaii WY manager s2.9 (sl (& agia saa) g cilalS ¥ Uia Lal
manager .. 48 Jia 4 g manager 4l Jic- store

..ol Lyl 5 aul manager 9 aw)- store

c. a pre-modifiers s& JLEAY) 131 ¢ aud) 38 Sl LA Jaall 5 AT ac) J -

3. the leader of the group
b. a post- modifiers

worl ) aey ) ST Ua BadU g (of the group) Aiu Jaghial)-

LN e daati Uy WY ¢ (ul ) sa- the leader

(the leader) ..oal A1 3 Al s Jana g2 131 ¢( 88N the leader 4alS 3 i ) o3 L g the leader Ji- of the group

) .3 2il) 48 e ddladal (e 235 Uigh the leader of the group Jsii Latie (<1 g 11913k 2ild Ua 23 Y the leader Jsii Ladind.
)..Akna A gara 2ilE (the leader of the group - 451 s& 5 (s 5ol 28 3aas o Uasl Janal) Ua 13-

b. a post- modifiers $8 JLEAY) (g Jua s4- of the group

4. the group leader
c. a pre-modifiers




.Y sa-leader

il Jana g2 131 (Gl 1) U8 sla Liasf 5 Jarall sa- the
Ly J2a sa- group

c. a pre-modifiers st _LIaY)-

5. someone in my office
a. the head

S On o Al gt Jliall 138 (8

) .8 (2 L sl someone ( (& plSii-

g3 JBa A g (in my office ) Lusaas s 5obes &8 By raia ga g Gal Y 2- Someone

Al Y may ) aline (b (B lacl) Gll3 e dping S may o el Bale 431 U S3 LS 5
a. the headsa JLEaY) 13)-

Determiners

:Determiners are word which specify the range of reference of a noun by making it

- (definite (the book
- (indefinite (a book
- (or by indicating quantity (many books

):claaaall Determiners () () Cuaally 3 i GY)

§ Glataall & La
dea Gk 08 andl g sal) (saa 23al ClalS (i 0 e A Cildda)

L o) Jaag 38 131G jaA -
5 40 galey Gaaatal) 5 aaionall O Gun ((QUSN) Jy S () Gad caiaa Cilad JUEa) 138 Jand Ll (lis))) J 6 Ladic Ugd «: the book Jis
LUl 13 3y fila o ) galay

Lipa e an) Jaag B (dsgae ) ciira p£2-
QS i ) (LUS( a book- 4als a4 ( He bought a book) 4l Alead) A Ugd (liS (sl 1) Judy 8 (LLiS) Aals 1) ¢; 2 book Jia

Do laka gl Aas ) T padia an¥) Jaag 2B ke ol AsaS ) T judia3-
: many books Jia

many .. U aiaall-

books ..s% LA au)-

WS e Adaa 4 00 0S8 a3 (B Uaslu 38 many 2aaall-
WS (e Bl (S g SN Gy Sl (sl

Determiners can be either identifiers or quantifiers

1. identifiers
tell us either definitely or indefinitely which noun the speaker means

:They include
:a. Articles

(a/ an (indefinite articles
(the (definite articles




:b. Demonstratives
this, that, these, those

:c. Possessive Forms of Personal pronouns
my, your, his, her, its, our, their

2. Quantifiers
tell us either definitely or indefinitely the quantity of the noun

:They include

:a. Numerals
(one, Two, three... (cardinal numerals
(first, second, third... (ordinal numerals

b. Words
like: much, many, each, every, a few, little, all, several, plenty...etc

1O gana ) g il ) claaaal) aldies Y T3 ¢ cp AT Gpand ) cildiaal) alddi ¢ Liayf LiiSay*
) il il gaf) cldlaal) Lo xi A gY) 4s ganalll-
sAasl) 53354 o Al A ganall2-

LAk ISy ()Rl e cind Ll clid 1) 4l oY) 4 ganuall®

)2 i jail) i gal) cldalin -

).odia 3 ) Adlgd ¥ L ) g ((ilih -adah ) a€5h uaaiall sy M) aud) (S 13) La L i
Laiaa e gl alaa g JA oS3 AN and) £ shy Cadatall daly )3le ADIA (e Ui jade U T30

rdadd cild jaal)

1 53Y- Articles |

AAb A 9 3k Ad) Cung and) 130ay Laghl 4g laiy) A3l Ledee g (Aumd) dadl) B (0 gRS Laa) o iy ol Uil o Lat Bl gl B 3/ an:
e IS A a9 AU 5 Jy (AlgS ISy Labany 1 gl and) (1580 Y age Al ISy iy sl B30 agd) J skl 1) La ity

iy g 3lai*the

) ..cdasaali(Determiners — 3 i Articles als JSy oSd

10 L&Y slawl- Demonstratives <

LA Gaatiall gady La agh B Lae Lo 448 oda

. hasally Al ) o LAY g Ade Gaaly A and) adige aad b Giaatal) aolud 4Gl o8 13)
Al CLEl Ll Cua e and) aad e La liselu ¢: This screen Jia

g sl gl oAl lud) L) o LAY slamd i o)) Léayl ¢Saall Cpa-

WUl ol AU £ AN 138 S oY s s Ll Cluag (B o LAY slawd aladicd U (Say-

Amaddl) jiladall 4xSlal) dipa JISE - Possessive Forms of Personal pronouns =

ALl pilac g sllaal) 038 C (iRl ) Aalay atil

> mine, yours, hers, his, its, ours, theirs 4l jilas 4isa-

> my, your, his, her, its, our, their 4xaidll 4Slll jiles dia-

AllaiaY) e 3AT U auy) o Wik 1Y) Ul cua) e (modifiers Wl gl e Cilial duaddl) jilacall A<l disa
: My book Jsii Larisd




),,w&)&ﬁiﬁjw‘fa&&‘gﬁs di&g.'\u'\!
..J¥2sMy - > modifier
..abook - > noun

tdaasl) 333&22-
LoEal) g Asasl) ddaa pE gl ddaa and) OIS O Le U pdse

rdadd dgagl) gddad

salasdy) .

W el 0 o le g i(Alal)) Al dlac Y
: one. Two, three... ix

LA () caal g

PR SRR W B SN
: first, second, third...J%
_,_’L“dL“a 41‘3.1'& cifji

GlalS -
: much, many, each, every, a few, little, all, several, plenty Jis
Exercise

:Identify the type of the underlined determiner in the following sentences
a. article

b. demonstrative

C. possessive

d. quantifier

1. This exercise is easy
b. demonstrative

b. demonstrative st <l sall 13 ¢ (i exercise () < Ul This 4als Lia

2. Their friend is here
C. possessive

o atiia (119 e (Bila ) Le g oo 5 sB daldl) o3a Lithe| 8 La g ¢ e Their 4alS
C. possessive s i salld ¢ uadd el 4Sle disa a 13

3.The visitor came early
a. article

a. articlest ol sall 13 « Ly 3 3141 AThe

4. Many people watch the show every week
d. quantifier

el JS UL ¢ gaaldy cpdll (ulil) (e Adma 434S oo 0 8 Litke | Many dals
Aaasd) 3adaa ) 13 ¢ La 3».;;45 e oS8 Like| Many;\.ds i)
d. quantifier s < salé




5. These sentences are interesting
b. demonstrative

b. demonstrative s sl 131 ¢ Gira amd I o Uil AThese
Person, Number and Gender

:Person

Nouns can be

.(personal (humans

.(or non-personal (animals and inanimate objects

Note: Personal nouns can only be
.(animate (because they only refer to humans

Non-personal nouns can be either
.(animate (when they refer to animals
.(inanimate (when they refer to inanimate objects

rowial) £ 93 g syl 9 "UadAN" 3l Ge a9 Clida £ gaga ) OY) Jiiia

n =:' :'“ll Aﬂ‘
selan) (19S5 O Saall (e
> Aadi-

-

Lhlaa gl gas Auadd -

14l sala

oo iiel) o Jadd 3 ga% LY ¢ Adad) LIS () o< Jaid Al i) plandl*
0585 Ol La) Amadd il sladl)®

L gl ) s Ladie > 4dal) ciliilsll

Glalaad) ) 8 Ladies> dda ) il

We can also use the term “person” in a different way

:Traditionally, personal pronouns differentiate between
- (the person speaking (first person

- (the person spoken to (second person

- (and the people or things spoken about (third person

1st person pronouns: |, We
2nd person pronouns: you
3rd person pronouns: he, she, it, they

44lida 43 4y (Person) gllaas aladin Lyl Liias
). Apadil) jiladall) b zlaaall 138 ¢ gadiiug G sadl) Bals

:O..H woal . N ;.“ J.‘Il . “ 9
) . ds¥) il ey A g Eaatall adill

R RS 1) WX VPRV PRI JUAECA P WA R
) I il e g2 g (agde GATAN) Lgde dadall pludN) i quldll-




t1, Wedadd Jg¥) cihll jilada*

s you Jedd (AN ) jilaa*

: he, she, it, they Jedd Gl G plal) jilada*
:Number

.Singular (number) or plural (number) affects the form of almost all count nouns, pronouns and demonstratives

:Here are some examples
:Count Nouns

(student (singular
(students (plural

:Mass Nouns are considered to be singular
(e.g.>> water, rice (singular

:Pronouns
(1, you, he, she, it (singular
(We, you, they (plural

:Demonstratives
(this, that (singular
(these, those (plural

):alaed) sa 4gl) JEiia A ALY £ g gall

10Si a8 alacd)

Loda dae

| .s.\a) o

..o LEY) slacle yiladall-od ginal) pladl) ) alinal JSE1) o i Lld pan i 3 jda il £ g S oa
o (0 LEY) sladl- iladall-oa giral) slacl) ) JSal) calasy) o Talais) 13)

ALY JISEY) sda o Al (lany AL

e (03 ganal) slac¥li]-
.astudents > ¢ Ldastudent >

.&amen > ¢« A daman >
Wldsd et alae Y Lle i o ganal) slac) 131 calac U lai ¢y sland) o) B3ad Ua

LB singularbﬁ Oesa ‘(MSSS\)D.U.*&A ol slaly) Laf
.4 de: water, rice > Jia
WS e dae ) A5 g aske Ll SLae W) Gy JAL 03 gara pkd) plac) 1) ¢ AT Al gl 0a gara ) plandl) o Zaadl Ui

i iladali2-

2,44, you, he, she, it >

&aWe, you, they >

Wl Al i La g adal) L) ady Le G Saall) e ) 3S5al) e

Llelss il aae ¥ lgde A5 ilacal 1) ealasSU Tag L jiladall of Jaadls Ua

s Jia o LEY) slawi3-




3 lathis, that >

) &sathese, those >

S il aacY) Ll isd o LAY slacd 130 calac U o a0 o LAY slaad o)f Liay) Badli Ua

Whether the subject is 1st person, 2nd person or 3rd person; and whether it is singular or plural can affect the
form taken by the verb

(e.g.>> He walks home everyday. (3rd person singular subject
(1 walk home everyday. (1st person singular subject
(They walk home everyday. (3rd person singular subject

) AN oaREl g ) ade fi 8 Jadll JS
Wil g8 e i 38 (ke gl pan) Ll (1S L g (Callingiid ) cila Jelil) )68 Lasie

:Jlia

1- He walks home everyday

)..dadl) JS& o figia g) Jeldsiancilli G saHe <
: walks..gona « walk Jadll e (s) cidaio 13)
) .oka deld) oo o le Gl Gl 1aa i g Gl Gl e Jai Al dadlad) ga Jadl) B (s) )

2- | walk home everyday

)..dsh il @b | CY Jadl) JS& e fi ol Un) Joles had sf il <
walk .. 2l e (s) s ¥ 13
(5) . $& 9 kall Joldll Gl Cijhall dadle Ale Wil Cindal Y 3 jdal) Jeldl) J 6 cijhall 3

3- They walk home everyday

) ..JEal 138 aea They oY walk Judl) o (s)cisai ol Gl Gijh e @l They of ¢ a ks ) Jolb-gaa-dill CikThey <
walk ..Jxdl) e (s) Cisai ¥ 1)
(5) . 52 9 2kl Joldl) Gl il dadle Alelil Cidal Y aaadl Jo Al CEN G yhat) 3

W) e ) g I Lan (4N Gail) g asd) o que OIS 138 5 Jadl) i al (YY) Collially Badi
WOl e i W13 ¢ gl i alg 4dS) g (3 ke-dold) Al maa () Jhall

LOrR) e S5 Y T3 ¢ pan abg AS] g (O kel i jh) Al i (Y)) Sl B

:Gender

:The 3rd person singular form of personal pronouns can be affected by gender as follows
1. The masculine pronouns “he” refers to males

2. The feminine pronouns “she” refers to females
3. The neuter pronouns “it” refers to inanimate objects, or to a person or animal not yet regarded as male or
female

("?e.g.>> (“Whoiis it

):osial) £ 5) sa Gl £ guda gall




Aglil) 1 eI (uiall £ o8 Lgale 550 88 Apadidl) jiladall 3 jiall G i) JSi
4 4

Sl ppaali]-
--JJSM‘ uh J425: He < di‘

Euigall yraali-
LGy e 36l She < Jin

dlaall jraali3-
S Al It < Jia

hen
)ocomiad) £ 53 i Al O (B " A SIT Caiall A 3 ga A lad) AR B 1t ) L. AT gl S S 13 A Y Ol o el

rfie lian A ulaall ppadall aadind Eiiga gl jS3a Gl giadl gl paddd) (LS 13 G Y s 13

: “? Who is it” ..J 588 e Q) e aa (3 ks Laias

person .. pagads 1 A ) 83 S 13 La alad Y 0Sd g ) 3ok aal aa g 4d) i et Ui

. deauaia Y b OS5 daa SAal) g Euigal) jilads addid O GSaal) (e g cAra el jadall aadiad $alad animal ) e sads L
The distinction between male and female may affect our choice of lexical items (words or phrases) that could fill a
“slot” in the structure of a clause

Man, headmaster, woman, actress

e.g.>> 1. Heis a good
Man and headmaster can fill the slot in example 1

e.g.>> 2. She is a good
Woman and actress can fill the slot in example 2

Alaad) "gSamely B R e 8 A (ke sl cilals) Ml jial) jualis™ dpaazall 35l U LERI e s 3B AN 5 SH) o (3R
) (words or phrases) .05 o ke &2* |exical items
SEY g iy Ade S5 B 3l @l L o qaag AN o bl o Al (S 5 Sa o g (3 13 AR Ll (S 1) Alead) sy

¢ Agdll) Al Lyl
Jauman <
sheadmaster <
sl salwoman <
4Liasactress <

2 Js¥) Jlal)
He is a good

AR Any ) slan) (e § M B Elld Sad o w5 1) (f M (3 U aa g
Caia lawd) 13) ¢ g2 o sga gsada (He) 5 usSU Ao Glaga glawdl) 138 oY £1,8) (e & headmaster s Man aadiud 8
oS3l sla) o gay jSka (He) 9 LY e 395 WY actress 9 woman addied ¢ askaind ¥ 0!

;Q,SLZ"J\ Jeial)
She is a good




AR Any V) slan) (e § M B Elld Sad o a5 1) (f B (3 U aa g

LOlia Gland) 1) ¢ GLY) o agay ysada (She) oY 5 G Ao lagas Glaad) )38 ¢ £18N (e A actress 9 woman addius
e Ainall pland) Allaia) (o JIES 4 g Adigal) placl) o 362 Ciiga (She) O §1081 (2 headmaster s Man awl) aladiul ¢Sa Y
) il 83 i) Gl

:Note 1

The suffix “-ess” is found in a number of words referring to women, but there are other words referring to women
that do not have this suffix

e.g.>> aunt, niece, nun

:Note 2
Most nouns in English can refer to both male and female
e.g.>> friend, neighbor, cousin, teacher, nurse

s galall cany L Lal*
: ui‘gﬁ\ﬂ ad3 galall.

: actress , empress Jis (4alsl) AT ) Gilad Sl Ja g ( -ess) 4dadd)
woeladl) ) el Al clalSl) (e 230 B aa g8 ABad) 02

i duanadia LY S3all Lgd g8 adiy La o gk s2a) Walina empress << 4alS
e Auaadia LY jS3all Lgd i adiy La Alias Wilisa actress << 4alS 4

: e cABaU) o3 AL Y g pladl) ) L cilalS dllia (81
LAA Cdeeaunt <
i aly « ¢ alniece <

.48 nun <
sAailil) ads galall-

e candl uind) £ o3 aand of Lide quag 4df dun Ay jal) 4dll (uSlaa 138 g claa LYY g 0SAN o 3 gat dg Sl 4all) b plan) aline
LAa ¢ Gsafriend <

..ok ¢ Janeighbor <

) AA —dae) Dyl ¢ (JB — pe) Ayl ¢ (A — 4ee) () ((JA — p2) Crlcousin <

.Aalza ¢ alzateacher <

.48 a4 ¢ U@ yaanurse <

LG g gSA o 3t 4y ey Asll) B elan) ol JS

LURE (g giaally AN A 30l Cilay AN Jgaad) (pa (slaa b gl a Y V) Aa N 21 A

= 1A paad S5 ciphall B ad) g*

= wegaal) e Jg¥) cihll b 2Bl

el = you kel paia AGN Gkl b ad) g

eaall = you paal) pada SGI Gl 8 Bl

= heiall jSiall jreda GG Gl 8 ad)l

= sheddall cuigall pada G Cighal) 3 a8l g

= it ) Slaall jred GG Gl 8 4Bl

= theygea!) (Llaall-Cuigalle S3all) spada GVl Cajhall 3 281
:Exercise

:Choose the appropriate pronoun




1. 1st person plural pronoun
a. he

b. we

c. they

d. you

W) il (B aBlg par e 3

Lol paa il he g (&a2) 32 odsd g

LRI A g Al Ads jall ) JASE 1) cean agran you $ they swe
o < l-gaayou <

bt 13) ¢ &S G jh-raathey <

b. west <lsall 13 ¢ Jgl G h-raawe <

2. 3rd person singular masculine pronoun
a. they

b. it

c.you

d. he

LA Gkl (B adlg 3 e prad 3

Lodfiaiud UGN Gkl B aBlg jaasyou <

Al g Al Ads ) ) SR Y G Gl A agasas he s it sthey

o oot 13) caan 4dSl g Gl Cd hal) ‘_,3 &y pasthey <

"Loudad) s A g AGI Ada pal) ) JEIES T3 i LaadlS Liagl g G Cijlall b 2Bl g Laadls he < it
08t T3] cadace Al g 3 jda g ) Cipal) B aBl g et <

d. hesd o) sall 131 ¢ Sha ga g 3 ha g Y Cishal) b @Bl g jashe <

3. 2nd person singular pronoun
a.you

b. I

c.we

d. she

e k) B adlg 3 jha jpad b 5

oo a2 1) (J oY) il (B 4adl g silaa we <

Lot 131 ¢ G Gl b adl g jadsshe <

a. youss ol gall 131 ¢ ajha ga g (AU ikl b @l g padyou <

dag) ) 5 pcalanall

What is a clause?

A complete sentence needs at least one finite, independent
clause. A simple sentence is composed of only one finite
clause, so that the structure of a finite clause is identical




with that of a simple sentence.

" Jlad) g 0 38l clause ") iyl 9 L

- finite, 4dlaie) e Al godiaas jBd) o BY1 o zUad AldS dley A
independent clause)..

Soadaan b o JBY) o g giad o &Y ALaiSa 4y julay) Adll) 8 Alead) aall-
J&Aﬁ"m\gaﬁuoﬁ&t-\f\ss&& é\gﬁﬁ\g" ¢ sdal g ddlaic) e Alfii,

" Aadladc

¢ It shows time, person and number (s "33ak finite "4alS daar
AL BB ey Jualilly dlld ) 5kl (aard) 5 3 Al 5 a3l el

- That it can occur own its s "gikiel & independent "4als daa*
). Adaas W iay Ciaad o) S (Al (A glown as a sentence (

/ He is a student who likes to study harddJt-

"..ealge e 508" - one clause AHe is a student <<

Gaat o (e A Al ) Alais) € "independent - (A il (il g
o i

" saalg o be g0 8 " - one clause Awho likes to study hard <<

¢ dgilde) "dependent - A il Gudly
s} Aaki aal 25 (e g (Who likes to study hard) Jsii of adiad ¥ 4%

_alaal)
o Jy Al Adaa (1585 O oSy W AT () asgdall 5 Arad) AddiSa & Alaad) (Y-
). Agalais) alaay

Alay — ddapuy Alax ) 10 (s Jaddl @) gl LGB L] (9 S5 LaS " Alpuand] ddanli
)..od0a Al — 4uS 4

.hid al g finite clause Ao s 5iad Aoyl alaad)-

Le i jmis g Adipend) Alaal) ) il 188 ¢ finjte ) e L cijas o 4 5 Ladind-
finite..d) s&

*finite clause = one simple sentence

Here are some examples of one-clause sentences:

1. | have just telephoned Mohammed.

2. He was my best friend.

3. This is his photograph.




4. At nine o’clock, we all gathered in the classroom.
5. He always does his work perfectly.

/ 1 have just telephoned Mohammed Y JU«-

— subject"JeWll] << "

- verbal group "4z 4¢ saas telephoned << " shave
TOm Cadg jUSt AalS g

- helping verb " xluw J28have << "

- main verb "t Jadtelephoned <<

<B ol iy g 0aal g 5 e Ugdit is one clause and it is a sentence) - -
) Adex A

/ He was my best friend Y Jt-

— subject" JsWiHe << "

—verb "ddllwas << "

Adan (A CBgl) udly g oanlgo e A 13-

/ This is his photograph Y Jt-

— subject"1xxThis << "

— verb "Jadllis << "

Aden (A CBgl) udly g oaalgo e A 13-

/ At nine o’clock, we all gathered in the classroom ¢ Jtx-

— aia ™ A g —pronominal group " 4uss 4s saxa " sawe all <<
subject”

— verb "Jdailigathered << "

Adan (A CBgl) (udly g oaalgo e A 13-

/ He always does his work perfectly ®Jta-

— subject"JelWiHe << "

— verb "Jsdlldoes << "

Adan & cBgl) (udly goaalgo e o 1)) ¢ Ll aalg Jad g aalg Jeld Lal
Each of these one-clause sentences has a subject and a
predicate. The predicate is what is said about the subject.
S s58aT Jaadl odd (a0 88 JS*

"|ais g) Jelb- subject”




"4yl) alwall predicate " s-

.Jeldl) e &aady L g4 predicate -
: He always does his work perfectlyseladl Jlal) A Jlas

— subject" JsWiHe << "

predicate" — s o2 La Js- always does his work perfectly<<
Jedy predicate ) of )" Lay Jadll Jadd g He " Jeldll ) sl o) 4] ticua
" Aza Jadll
: At nine o’clock, we all gathered in the classroomg! i Juall 3
— subject"ltwwe all <<
we i) It o) 4d) daa<< predicate” — s JUall e B L JS g
all "
predicatedl ¢ j» s (At nine o’clock) 13-
predicated! ¢» s 3a Lay s (gathered in the classroom) s
predicated) ¢ 53 Ly s (gathered) Jadll

If either of those two parts, subject or predicate, were
missing, the sentence would not be complete.

However, in an imperative, the subject is usually unstated.
e.g. Go study.
When the subject is missing, we assume that it is “you”, the
person or persons spoken to. The previous sentence can be
expanded as follows:

You go study.
AL ol o adaalld 3 g8da predicate) s (subject osijad) asl ¢ls 13-
predicate) ..s(subject 4 353 ¢re LY ALalS Alan Liaf 131 13-
-CSJ.A:AJ,,\S"— K] QMJ.A,Q) Oess sale Jeldlld ey :\-a,yagﬁ s L) Sy o<l g-
(unstated ..
Lyl LiiSay g Aland) 8 13 90 9o da sgda hu ASS) g ALgRI Y o J\B) SH Y cad 13-
LAl Jeldl) Jaad Alaadl — (expand g si)
TJE S Ao

.. Al dua hua alaall sGo study <<
A9 o palaally LU 83 << a Jaadl Bl 8N
1- Statement




2- Question

Imperativela) &% §3- Command <<

4- Exclamation

C ol Bale Al g( Jand) £153 ¢ £ 55 8 Command s Imperative 13-
-which normally we don't states the subject in).. L Jslly
-that it means you )..<l diisy ddl-(assume >> (o2l i) Lisay ol y-
Ll oa 3 gualall o)f alaicd 3 gida JoWAN (S 1Y) ey

S — (expanded Jualilly alSiic adi5l) of WiSay Gibead) JUial) 88

> You go study Jsi

> GO study Jgiiladd ¢ dld Jg&i Y cad saladl 8 (1 g Joldl ga WY QU <<
Set down..s! Stand up 4

oY) Aipa b Sl SN Y A

The subject of a clause is a noun phrase. The predicate is a
verb phrase.

Every finite clause has the following basic structure:

NP (subject)+ VP (predicate)

The man bought a new car

B Q9SE LaS 5" Agan) Ala 4pd™ dsamd o e 9 clause ) (A il ) Jeldl-
el dcand) o jlad) LLEBU L) d8lud) &) puialaal)

s predicate ) J8 13 Maglad aley 45" 4had 5 Le g predicate ) -
Aglad o e

Al Asula) oWl & finite clause JSy-

NP (subject)+ VP (predicate)

Laad) o) Jeldll g 9- NP

Ll ) o) Jeldl L) dial) 8 5- VP

: The man bought a new car it JUall & Las

LAgand o e o) NP ga <l (udly 9 JeWll) 8- The man<<

b gl il 9" The man” JeWl I siws a- bought a new car<<
LAglad s e SIVP

rolaladiu) alx \/P

.JSS — predicate” 4l siwall" oo Eaadll 8 addig 3

—verbal group"..4sdll cile ganall™ ¢ diaadll B asdicy 38 o




.JSS — predicate” 4l deall" Ge daaiyl sliaadiaf Jlal) 1 i

aladll o L2l The Verb Phrase (VP):

The verb phrase (VP) consists sometimes of a finite verb
only.

e.g. We all waited.

More often, the VP consists of a group of words (verbal
group) with a finite verb as its head.

For a clause to be finite, there must be a finite verb in it.

¢ oagledl) dlaad) Audmadedl) o jlall oo cila glaall (lany AAL

- what the verb phrase consists of ? asadll s jlall dia 4S5 ) La(
)..

k88 1) g finite verb = g i VP<<

' sy B VP -

verbal group s one finite verb -tl-

: We all waited A Jlall B Las-

" finite" - g Layl 5 Jadl) sawaited <<

LGBy s finite e sa La oSt Jgling-

— "finite 33aa Jad" o o giad - verbal group” 4dzdll s gaaall” -
verb..

U3 Ladie (g Y5 cdaladl) de ganall — "the head (il sa 3334 Jadl) Ua-
.J# e head J

verbal group : & 13-

finite verb ..d) 4wdi s head -

clause ) ..dl & ¢!) «éfinite verb 2535 (e 4Y 23k clause ) gad 13-
finite clause .42 098 O g 4ali dlay iyl 13-

finite verb .42 058 o @ finite clause @) 13-

The verb can be either:
1. Simple
A simple verb consists of one word.




e.g. is, was, walked, sat, did

2. Complex

A complex verb consists of a verbal group.

e.g. have telephoned, were placed, were waiting, did not like,
could see

BaaD- Jage 1- Liay) 98 a8 Jadl)
byl -

033l 5 AalS (e o e 1 ) Jadll-
/is, was, walked, sat, diddJi-
Adnsl) JladY) Lgamd cilal<l) o8 g-

Ade o112

) ..aalg dad (e ST (g)) Aglad A gana (8 5l 1 Sral) Jadll-

/ have telephoned, were placed, were waiting, did not like, Js-
could see

B ol Jd — Jo 1) — doliia b rlnal Addadl) Cile gaall o B Ligh-

- have telephoned

s lua Jedhave <<

=bul Jadtelephoned <<

(full verb) s 5 Al awas (Main verb) coubad) Jadll and of Liis Uaiuly o-
L Jalsl) Jadl) g

- were placed

e lua Jedyyere <<

bt J2dplaced <<

- were waiting

1 lua Jadyyere <<

il J2éaiting<<

- did not like

el J2édid <<

(o) Jadlike <<

dalad A ganal S 4o J2b aa- did not like <<




- could see

e lua Jedcould <<

bl Jadsee <<

sddak yall i 0adadl) JudYIFinite vs. Non-finite ((Verbs)):

Finite Verbs:

Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a
finite verb.

He is here. They are here. (person and number)

He is here today. He was here yesterday. (tense)
rpadaal) JladY) cay sl
LAl g Rl gl U e o) el

0 3B Cuay Gl Aall (e sadadll Judy) o 55 8

Jilluia- £ jlaa- ale-

1098 B G a3 Al el (e

N L B S L I S P g O

0158 4 Eua (ha 0l Dali e

G- k-

LAl Jadl) o Jla ga 40Ul Jaal) b (4dghsl) Jab “he” (Jadli*

1058 8 (be) dadll ¢I>> dgils daglaa ) gisall J glyr

Is, are, am, was, were
been >> past participlela s

radaal) Jadl) o JUias A5l Jad 5 (S Alaad) o2 (B o i

IS . ASshsl Jad ML 1Y ¢ Gl Gijh 4 53,8 Jelil)- He is here<<

are . 43 ssh Jad 30 13 ¢ &l Gijh g4 5 aa JeW- They are here<<
LOfilaadl LB Jelall axmll g a8l U e WY s (he) 43St Jad of U Badl ) -
finite verb ..s¢d asl) 53,8 o falaic) Jadl) s -

IS ..qaal Adgisll Jad g palal) ) B adeal) s3a- He is here today <<
A gl Jad g palall e 2 Alaadl o3a- He was here yesterday <<
was..gual

LOa Ui ALY cpe Allad) oda -

a9 2l g el o Ade 5% Sfinite verb J-




Finite verbs can have three forms:

1. The base form (simple form) of the verb

e.g. walk, talk, drink, speak

2. 3rd person singular form of the verb

e.g. walks, talks, drinks, speaks

3. The simple past form of the verb

e.g. walked, talked, drank, spoke

181550 ¥ L oadadl) Jlady)-

ol (o) JSAN) (aliad) SNV -

98 LS Jadl) a8 ¢ —ing Yo o) —ed Osy @) clilal ¢ gay Jadl) ga 13-
[ walk, talk, drink, speakdis-

Ol Baadl) i o) SN e Aliaf clalSl) o2 JS-

Gl 3 jdal) GG G phal) diua?-

(S) .58 dall Gl Gl Adle A Ciliaa Jadll ¢ 9o Lia-

walks i/ walk >> Jia

G G plall B aB) g 3 da Jold Lbal 0 6S) Lasie Jadl) o (S)Adad) oda Ciudalg-
). Juaall) palall a3 A

talks zaitalk >>

drinks gaidrink >>

speaks gmaispeak >>

il ) palal) dapa3-

1Sy B Jadl) o) G lagan aadally g-

—ed4 Uial/ walk >> walked << Jis-

—ed4 Udaltalk >> talked <<

ba) LagnlSdi o Whbla g—ed lagd Lidald daliiiall JdY) cpa Lad ¢ Dladl) oylda-
Ll e Al A

drink << drank

speak << spoke

L) G Al b LaglSl yiaid daliiia pall JdY) Che Laa (Dladl) ¢y)da-
Exercise:

What is the form of the finite verb in each sentence?




a. base form b. 3rd person singular form c. past form

1. The manager talked to the employees.
C. & lsall 13 ¢ Jadll B8 (ed) asa s malall () 2 2 g talked s Jadli]-
past form

2. He drinks coffee every morning.
O Badt Lyl g (5) 2dall BN G jhal) dadle 3529 B30 g drinks sa Jadll2-
b. 3rd person singular formsa o sall 13) 3 jia Gyl a8 g Jadl)

3. Ahmed and Khaled usually study together.
il Aadle 4y a3 00 Y Lyl 5 (ed) 42 a5 ¥ 431 Bl g study s Jadl)3-
a. base forms Gisadl 13 ¢ (s)adall caty

4. 1went to the mall yesterday.

¢ §O (i) Jadl) (pa udlal) dipa 2 9 aliila € Jad ga went " g Jadlld-
C. past forms i sadl 13)

5. At eight o’clock every morning, my father goes to work.
LAdal) SN Gplal) JS& 58 9 goes s Jeill5-

b. 3rd person singular s gl 13 ¢ J2ill 4lgi es Ualgo >> goes
form

sadak il) Jud¥INon-finite verbs:

Non-finite verbs do not show tense, person and number. The
verb “come” in the following sentences is an example of a
non-finite verb.

e.g. | expect him to come soon. We expect them to come
soon. (person and number)

He is coming now. He was coming at the same time
yesterday. (tense)

roddaa il Jlady) Addla ) Jiiiia-

SO 5 oAl \gle i3 (2332l J2d¥) (5) finite verbs (A of Lals 13-

_ daald)

Non-finite verbs..,Sa 083 (Gaw Lal (uslaall-

2g) amd) 5 a3l g padAl T Lgde s W AN JladY) A tealaa sad) Syl
, ).t LS (B ccph L S Lo

Tadad yad) Jadl) o (U 40U 4liaY) L8 “come” Jadl-




LAl i el gl padddl U o) fa Rt Y sadaa pal) Jlady) 13-

/ 1 expect him to come soonJti-

We expect them to come soon

el LS i) cyileat) 8 Badi-

(1)..ds¥ cihall 8 a8l g 3 80 Jelilic< oY) Alandl A

(We).. S8 cihll 8 a8l g aas Jelillc< 4ill) alagdl 3-

Non-finite verb 4Y ,aiy s LS Ay osilead) NS & “come” Jadll-
LAl g (el dl) ety i

/ He is coming nowdJY-

He was coming at the same time yesterday

LAl s s ah Y "coming” Jadl-

)..8aall) palall a2 1 (He is coming now ) << Ag¥) dlaall A
Lalall (a2 13 ((He was coming yesterday <<4stll alaadl 8-
Non-finite verb .. "coming" Jail 13-

(be):4dsisl) Jab A plaiil o<l g

(iS)ts¥) adaall 2

(Was)4stl alapl) 2

- finite verb" (is — was).. a4 Jad" ga 43 gl Jad 1)

Non-finite verbs can have three forms:

1. The infinitive

The infinitive has the same form as the base. It is often
preceded by an infinitive marker “to”.

In some cases (e.g. after modal auxiliary verbs) the infinitive
is bare (without “to”).

For example: | am waiting for him to come. (Infinitive with
“t0”)

He can come tomorrow. (Bare Infinitive)

2. Present Participle (also called —ing participle)

e.g. walking, talking, drinking, speaking

3. Past Participle (also called —ed participle)

e.g. walked, talked, drunk, spoken




roadad yad) JladY) dua o o lal AL

 siaal) dipal -

). sl JSA) Adpalad) Arpa (b A jaaal) daua

Judll-The infinitive verb) J& G & 3 jdadl dipa dadle A (t0) dals-
) - g oiaall

S8 Jdadl disa " quxiliary) sasluall JudY) o Jia) c¥lall oy -
(t0). . Aals Alaadl B oSy al 1) (039l g) 42y yali(bare —

(t0)..08% saadl ¢e o ke s bare infinitive I 13-

TS B juaall daa 13)-

toainfinitive-

saall g i pall Jaaadl o Bare Infinitive =% s to << ¢svinfinitive-
BRPEA|

/ 1 am waiting for him to comeJt

to ..&einfinitive $&to come <<

L Jadll Bl JSE 98 1)) ¢ (Base FOrm) 4wl 4iua sscome <<
—ing >> W diaial 5« (came)gall alall (a) B AU al dlaadl oda A
(coming) ..zl

to ..os% infinitive s Ua Jaildé to Wid s come 13-

/ He can come tomorrowdJt

>>" verb "auxiliary.. (25 can L Ll

sla (come) s can g Jadll-

"daulu) 4ia- Base Form" - |

)..2354 finite) — oad s& 131 " jian dima-" Infinitive — <

> | come here every day .. 4aall sda b (come) 4als! 4ildia (udd 92 -
)..4354 finite) — s (I come here every day) << come 4kl o3 -
A " s dia Infinitive” — sacome  cAbilud) adaadl i La)-

>>can .. $39" verb "auxiliary- G-

1Y "3 gl e Jaas " Bare Infinitive- ams-

(t0).. AalSy (Gid Al Jail-

2- Present Participle:

(participle-ing) .= Lay a3y« (—ing ) 4 laa Jadl) g2 o

/ walking, talking, drinking, speakingdJis-




Present Participle...S% (—ing) 4 iliaa Jad i 13-

3- Past Participle:

(participle-ed) ..Léayl oa B9 Allud) i palaall (e oS! i glsa 5 g-
Caliia Jadl) 138 1) A b ed- A diliday alall (e A J2d JS A1
o al g (ed-) Lagd Liald glaliiia ¢dled Laa/ walked, talked << JUe-
Llegled paih Glaliiia 8 (Mad e drunk, spoken << Wl

drink << Base Form (simple form)ii-

drank << Past Form < finite

drunk << Past Participle Form of the verb drink < non-finite
speak << Base Form (simple form)

spoke << Past Form < finite

spoken << Past Participle Form of the verb speak < non-

finite
Laand) ol el o) cra 3l sy o) 8% Y* drunk, spoken <<
Exercise;

Decide whether the underlined verbs are:

a. finite b. non-finite

1. He was able to walk after physical therapy.

Sl i Ladie juiiuw JA1- walk<<

walk.dadll 8 o s da He . Jla They Ll -

. They were able to walkJ siié--

- Oladaa (Db Laa were swas Y« were cauald was Ui Ua lagas-
finite verbs" ..

- non-finite"..33aa ,E™ g 1M ¢ g LS i walk Jadll o Badl -

b. non-finitess qlsall 13 ¢ paddll 5 3l o Ji a1 sgd-

2. He is making a chair out of wood.

09 Gidanw 13l Jeldl) Wi - making<<

: They are making a chair out of wooddsié-

- finite olsiaa (i L are gis oY « are cawald js U ie Lay La-
verbs" ..




13 ¢ - non-finite" siaa & g 13 ¢ ga LS Jin making Jadll of Badt-
b. non-finitess <l sl
3. He made a chair yesterday in his workshop.

09 Gaaa 1ila L 4aia 3l o 38l 5 413- made<<
: He makes a chair everyday in his workshopdsii-
a3l Lt 13 ¢ @, finite o Gsall 13 (adl Gunn Jadl) s 88 Sad AS) Badli-
o Jadlld

4. You should spend more time studying.

09 G 1l Jeldl Wy ¢14- spend<<

: They should spend more time studyingdsii-

He should spend more time studying

| should spend more time studying

& 9 "auxiliary model" s sl 43 dui B4 ¥ spend Judl) of Badie.
(should)..

13 ¢ - non-finite" sas »&" s (should) = sk 3 spend Jaills-
b. non-finitess <l sl

5. They spend time together every Thursday morning.

09 ik JA 99 diaagw e Jell Wl 415- spend <<

He spend time together every Thursday morning

L) iR | aa-

LAdad) ol B jdal) Gl gl JSG Lleadiia) L) Jaadli-

a. finitesd sl 1M ¢ - finite verb" siaa Jad" ggd s Jadl) oY -

sadaa yall A oadaal) o jlal) i o AANFinite vs. Non-finite ((Clauses)):
A finite clause is a clause which has a finite verb.

e.g. He is waiting for the headmaster to come.

The previous above example has a finite verbal group, “is
waiting”.

LN A Use g o paalaal) gy 8 Tl &lld U S0

A:\uda&u.\s Lﬁgﬂu"oﬂg& roadaall 5 &Y i o jluall-




: He is waiting for the headmaster to comedtall Jum Jo-

29— finite verbal group"” s3ias 4dsd 4e gana” o Jla g o3 S
- finite clause"..oadaa o j8 i o ™ A gl (il o(is waiting)

¢ saa) g 0adaa o j8d f 5 lie g oaa) g odlaa Ayled de gana Lia Ligal )3)-

(One finite verbal group & One finite clause) ..

4S gana o (o giad g sadaa Axlad o 8 gl o Jle A He is waiting << 13-
(is waiting)..c2 s 033aa Azhad

(O £l " finite verb" o sfisy o s finite clause ¢ a3

finite verbal group)si( One finite verb

A non-finite clause is a clause which does not have a finite
verb.

In the previous example “for the headmaster to come” has a
non-finite verb “to come”, but does not have a finite verb.
At least one clause in an English sentence must be finite.
LA Jeb o o giad Y AN o 8RN A reddaa sl o A4 g o jlull-
(non-finite clause)..s¢d 3iaa & Jad Lual g adaa Jab Lial 0 a1 13) 13-

/ for the headmaster to comegted! Jiall 2

sla La 4isly (to come) Jedll Walg « (the headmaster) sy Jeldll LWal
(Infinitive &8s s « - non-finite clause " sadaa y o i 4i o e
"t0"..aa e dia o sla Al glwith "to")

(to & saa € Jad e 50y for the headmaster to come)) -

- oddaa b o8 gl o L™ ga ol 13gd 5 adaa Jad o 558y Y 081 scome)
non-finite clause "..

- - a finite clause a finite verb Al 5 e 13

-a non-finite clause a finite verb

- a non-finite verb

Loddaa JBY) Ao saal g0 8h < O s> Ay jaladyl 4all)

0 (06SH Of g 9 JBY) Ao saalgo yid o L;Jﬂaﬂoi Qa>> 4lals alaa Ua ) 13
finite..oadaa" o il

Simple sentences consist of one finite clause.

e.g. He is a student.

— One finite clause sl g o33 o 88" e —(cONSsist <illh) dasend) Jaall-




/ He is a studentdJis-

- finite verb"..3daxs Jud" sa-js <<

Ay alea 038 13 < — One finite clause " saaly sadsa o 2" Ll
Ay 4laa U 34 One finite verb & One finite clause 13-
Compound and complex sentences consist of two or more
clauses with at least one finite clause.

e.g. He is waiting for the headmaster to come.

- two or more JSi gf i 8" e —(consist cilliy) sainall g 48 sall Jandl-
clauses"..

OS5 O a0 8h (e S o o giad cullS 1Y) g o 88N il (ha paal g JBY) oo
se-(clause s Adll( ol (5 giad ol gl ¢ — finite" oadaa™ i 88N o3a (e oaal g
— finite verb" .. aa Jad"

/ He is waiting for the headmaster to comedJtx-

— "finite clause..eadaa s 8" a- He is waiting<<

- non-finite s33aa & o " .- for the headmaster to come<<
clause"..

9 b finite verb g« finite clause s ssiad LY AlaiCe dlaad) o2 o-
""finite clause..Wlw cuudl 13¢d5(is) <

Verbal Groups

Auladl) Cile ganall

Verbal Groups :

Verbal groups can be of five types:

Type 1 Modal +Infinitive: could see, will come

Type 2 Have +Past Participle: have telephoned, has begun
Type 3 BE +Present Participle: are coming, were waiting




Type 4 BE +Past Participle: is grown, was broken

Type 5 DO +Infinitive: did not like, Did you know?

o Ws Enaall W G Al - Verbal groups) 4ddedl) cile ganall) oo Whaa JaSiv o palaal) da A-
A2 ) o palaall

B 0 (St B Adadl) e ganall-

: Modal +Infinitive Js¥ g sili*

(RS ¢ Wl AL S A Modal Auxiliary 31 ¢sss-

- Infinitive)..sadll) agdl Bliaacan, could, shall, should, will, would, may, might

s palaall (e el (58X a3 13- Bare Infinitive) 2534l siaal o gusall juadll) o0 alal) oa 3
(The infinitive with « (an infinitive without "to" )s (an infinitive with "to" ) UGS &L
""Bare Infinitive...sx"to")

: Modal +Infinitiveds¥ g sl le Ja-

1- could see

Modal stcould <<

- Bare Infinitive)aiaall juadl o gsall juadll) sasee <<

Modal +Infinitive ..U Ua f3-

2- will come

Modalsawill <<

- Bare Infinitive)aiaall jaaal g g sall jaadll) sscome <<

Modal +Infinitive ..t Ua i3-

Al e ganall J oY) £ gill dgaudilly 18-

: Have +Past Participle (3Gl g sili*

: Had, Has, HavesS: -

- have telephoned /Jte-

""telephone..Jxl Past Participle <) satelephoned <<

kil Jab 4 (—ed )l Jadl) o Udal-

2- has begun

Jadl) Jed a0 1A Wil g Ja8 g4 ""hegin Judl) « ""begind=ll Past Participle J) sbegun <<
Past Participle..d) dw &

Past Participle + (Had, Has, Have) ..13-

)..pkiila s al aliiia 58 J8) Jadll 53 e dainy i

: BE +Present Participle &Gl g gili*

—4d) Ulaaa Jadl) g4 g-non-finite verbs " ((33aa il Jadli" J Jlas Gl Present Participle Usi-
(—ing)..Jd e duaiPresent Participle 1 Aw 8 o ¢ling )

- (finite verb ..23aa J2d) 9 ""is, are, am, was, were, been s s (BE) 4isisl Jud Ll 13-
- (finite verb ..33sa & Jad) s Present Participle Js-

- are coming\ /J%a-

(BE) 4isis Jadare <<

(—ing)M dilae Jadlicoming <<

2- were waiting

(BE)4isis dréwere <<

(—ing)d wilaa Jadllwaiting <<




Agladl) cle ganall G £ o3l ga 13a-

: BE +Past Participle gl g si*

- is grown V/J%a-

(BE)AisisS Jadis <<

growdJsdll Past Participle <) ssgrown <<
2- was broken

(BE)4isisS Jadwas<<

""broked=ill Past Participle 4! sbroken <<

Al cle ganall aal 1) £ ol g8 13a-

: DO +Infinitive gwlal) g sili*x

o) padAl" 65 - (finite verbs saiaa Jladl) & 43 JdY) sdac (Do, Does, Did) ¢s<i & DO -
- Infinitive)..odadl (agll Bliaa "asml) i 4ia 3l o jadl)

- did not like\ /Jt-

DO sadid <<

- Bare Infinitive)aiaall juadl o mall juad) salike <<

Bare Infinitive: J) ;4% gale*

" "Modals.. s b %

DO"".. 33 Ay & 5

2- Did you know?

DO alal) daa @aDid <<

" know" —"Bare Infinitive of "know)..daill 2)aall juaal) ) g psall jaadll) aknow <<
Aladl) cle ganall ualdd) £ 53l g2 13-

The first four types can be combined with one another to form more complex
verbal groups like:

Ahmed will have finished that book by Friday. (Type 1 & 2)

He has been learning English for four years. (Type 2 & 3)

He will have been learning English for five years by next October. (Type 1, 2 & 3)
The president could be seen by everyone. (Types 1 & 4)

He is being called now. (Type 3 & 4)

SSaall (s 13- "combined (u.uS A" 1 459S0 o *SAJ (A () ¢ ALY (S £ sill) AV A Y gum-
JAS\PG_‘:L\‘J\USSAJUSSJOMJAA@AMY\)\ ﬂ\M\u&M\@M@M(W*Syu\
)..0Bt agS 5 YA (e Tagias

Modal +Infinitivests Js¥ g ¢l Ul =) [JGal) Jow o~
Have +Past Participless Gl ¢ il aa

- Ahmed will have finished that book by Friday

) LGl g 5ill b g e J oY) £ sWill have finished <

asl) gl paddl) of a3l LS Lsle i Y- Infinitive) usas) (& 4l oda LAwill + have << "have"
) .Y gl sa 13r)
) = Have +Past Participle i) g sl s2 \ahave + finished << (

o Laghy ie AGN 5 oY) £ i) G — (combination quSill) W g gy JUall 13a 13-

Have +Past Participle st s G g sill Uy ;2-
BE +Present Participles s &l g sill aa




- He has been learning English for four years

LGl g il b gy e AEN £ sillhas been learning <

(has, have, had)+ ¢S @ 5 — finite" siaa has >" sk (S £ 50 2 Mahas + been << (
"Be".. sha¥l J2il 0w 3salPast Participle(been)

been..s "Be" d Past Participle 13-

) &I g 53l 58 apeen + learning << (

"Be"Jxill Past Participle J) 25 (Be) 458l Jadbeen <<

(-ing ) ..A dilas J2&) ) Present Participle &' salearning <<

LG g Y £ il S ) L g gy JUal) 138 13)-

A Jliall B LaS ¢ g gl ¥ oy ) Lia LiSay3-

- He will have been learning English for five years by next October
LGl g AEN g J Y £ gl Cm S AN DA

Modal +Infinitivess s Js¥ g sl Llay -

Have +Past Participlesty G ¢ il aa

BE +Present Participless g &l g gil) aa

)Y g5l sa 13- will have << (

will << Modal Auxiliary

- Infinitive)saaahave << (

)ALl £ il sa 13- have been << (

sacldll & "Have" J) shave <<

"Be" 4isisl J2é (e Past Participle 3 ssbeen <<

Y&IE £ 5 sa 13- been learning << (

" have" - iy Y (been) < x4 "Be" A sbeen <<

e ganall (o Gl g o) U E guall 4d gl J2d 2y cela < Present Participle stlearning <<
. Agladl)

—into one complex verbal group sdisa saal g dxled 4 gana ) Gl 5 G 5 Jo¥) g il Uik ;-
)..

Modal +Infinitivest s Js¥ g sill Uk ) JUall 138 24-

BE +Past Participless &4 g5l za

- The president could be seen by everyone

- could be

could << Modal Auxiliary

AalS Lghauy ol 9 S5 a1 " he" of Badliy ¢ "Be"4dsisl Jadl Infinitive svaal disa Ua Walbe <<
- Bare Infinitive)gsall juadl) o4 13 'to"

- be seen

aigisll Jadhe <<

Past Participle of verb "see" stseen <<

&N J ¥ £ sl G S A LY i g JUial) 20

BE +Present Participlessy &l g il Ly ;5-

BE +Past Participlestys &Il g o3l aa

- He is being called now




) &l g 4l a1 js being << (

(Be)aisisll Jadis <<

(Be) + (—ing )= beingg!' « + (-ing ) Jx&ll 2y « Present Participle ' sabeing <<
)& sl e 1aa- being called << (

iS"" = G 43¥ (—ing ) 41 Ul sla Ua 0815 (Be) 435kl dadbeing <<

Past Participle of verb "call" stcalled <<

All such groups are formed in the order 1, 2, 3, 4, as follows:

1234

Modal + (Have +Past Participle) +(Be +Present Participle) +(4Be +Past Participle)
T LaS £ P Y ) Gl e § il ARl cile ganall JS-

1234

Modal + (Have +Past Participle) +(Be +Present Participle) +(4Be +Past Participle)
B L AN 38 N sl gl ¢ AN S G g il g ¢ Ja¥) S8 A g gl Jaad of LSy ¥ 1A

Gl + G + Y e sl AEN + JaY) £ sl e i AN o ) g8 0 o g I -

B G+ A £ 5 @+ s s

— combination Rule of). oyl Al i s ) MQIA) 0985 13 Ll u}hﬁu 43y yhall 0dge

A 4 L3 L PR P RO VRN U

Js¥! g s11- Modal +Infinitive <<

A4l £ sil12- Have +Past Participle <<

&l g 4il13- BE +Present Participle <<

&N g s814- BE +Past Participle <<

) E Y ) Al 13 A o (e Y Al ATLAY) B Uiled LaS Gany agaS S day s o Lal 130 13-
Note 1: The meaning of the verbal group is contained in the last word.

e.g. He has been learning English for four years.

L0 4alsl) A contained ) 4 ) Asedl) 4 ganall dral) 1 g¥) 4k salal)

( Lexical meaning ) .= s B g dladl) Ac ganal) Al 685 o) & 3 Lal Arall éllad o pal) dalsl) 13-

/ He has been learning English for four yearsdJta

alaal) oda A Laddilig (995 o) "Function” Jadd agdl laad oda B aa gl 158 Y- has been <<
)-. A gad adul o)

- Lexical meaning )gaasall dnall dllai ) i « u-'w-d\ dlai- learning <<

L) (b adl T ?Sa.ul.a Ul oo duladl sl Ua-

0 AY) AlSl) (e A5 A ladl) 4s garall B Jxal) 13I-

Note 2: Only the first word of a verbal group is affected by person, number and
tense. The first word is what makes the group finite.

e.g. He has been learning English for four years.

| have been learning English for four years.

They have been learning English for four years.

¢ Aill) ads galall

Lol i sl i addl lede f3 Addadl) Ac ganall (e N gY) Al Jash.

— finite) ..o33a8) G gSin Y AalSl dulad As gana Lpal (S 13-

— finite).. sadai>( 4e garall aran Jaad Al A 4dadl) 4o ganall B (Jo¥) Jadll 1) A oY) AalSl TA1-

- He has been learning English for four years\ /J4a




— finite)..oadah> (4e sanall aaan Jray ¢ g2 9 — finite verb) s3as Jad) sahas <<

" has"..ss (Js¥ Jaill () AW anlsll o agay Juaill 5 oadak Agled 4o gana Lid Lyl fAI-

2- | have been learning English for four years

LGl 13 B Aledl) A ganall B LB5 s wasl 8 "have” o Badiz) -

85 Y ga L " hgs" of WaaY " " A" He" Jeldl U Ladie >> He has"" Jg¥) Jiadl A

" have"..pald

— Non-finite)..sadas 5> (Lagia 38 ¥ L LS Uy [earning) s- been)

- sadaa yall JwdY)) iia saa) & " Past Participle” J of Sy « Past Participle s- been <<
Non-finite verbs)..

Juill) fua saa) A" Present Participle” ) of JSiig < Present Participle s- learning <<
- Non-finite verbs )..calaa il

— finite)..sda%) 58 A wagh o Jg¥1 Jadl) of A e giiiens 13-

3- They have been learning English for four years

085 s 4 "have" s

They havecawa)- He has>>

.)u34 o been learning

— finite)..0adak) 4dadll dc ganall grax Jua 11 ga La Jg¥1 Jadl) 13-

" kel Jadll o agay Juall) g oadah Ailad 4s gaaa & (has been learning) ob Jsill aelaiad 13

L Agladl) 4 ganall B cipla (AN oY) 4alSl) A shas”

Exercise:

Choose the correct order for each verbal group:

1. a. have seen could b. could seen have

c. could have seen d. seen could have

LGN A ¥ siall ) LAY L (b, ©) O Uassh o JLady) oda A Modal ) ¢e i -
Past Participle))sa "seen" Wb. could seen have- <<

" have"la- c. could have seen<<

c.could s Al sda i maall ol sadl 131 « Past Participle))d# sk " have" ok W siilas-
have seen

> Modal +Infinitive Js¥ g sl Uk -

> Have +Past Participle &l g sl za

2. a. have should been doing b. doing should have been

c. have been should doing d. should have been doing

LAY eda & Modal ) ¢ eapiw?-

(d. should have been doing)s 4uls 2 "Modal" o s ¢ 2a sl Gl sal) of Badl-
- should have been doing

Jds¥ gsi- should have <<

"Modal" sashould <<

— (Infinitivessas) sahave <<

4l g sil- have been <<




" Have" sshave <<

(Past Participle)stbeen <<

&IEN g silbeen doing <<

"BE" 458l Jad sabeen <<

+-ing )J~il) ¢! (Present Participle) s&doing <<

3. a. has been studying b. studying has been

c. been studying has d. studying been has

(Have +Past st 4l b ady G £ 6l e Gl 1) ¢ 2299 ¥ Y s Modal Lt Ja3-
Participle) ..

(a. has been studying) J5aY) & Llaasé ¢ (has) s " Have" Juall 1 A

- has been studying

4 g 5il- has been <<

" Have" sshas <<

(Past Participle of verb "be")sbeen <<

- been studying

"BE" 4ishsl Jad sabeen <<

+-ing )dadll) ! (Present Participle) sastudying <<

LAkl i (b, c, d) Al oda B 13-

Verbal Group Types

dledl) 4 ganall §) gl

LomalAd) cal ) G (A gV e s tan g Tl aali 83 cAnlail) A ganall £1 51 (e £ 58 S 5kt Y-
Sl (e Jalhy agia a) g JS 3aliu GV -

Type 1 Modal +Infinitive :

* The main verb which follows a modal auxiliary will always be in the bare
infinitive (without “to”).

e.g. can see, could see

* Modals are not affected by person and number.

e.g. He must know how to speak English.

They must know how to speak English.

* All verbal groups beginning with a modal are finite.

(Modal +Infinitive): 5 /ds¥) £ sl 2 faia-

1 gaw O 093 0 ) (Bare Infinitive) Ll ¢ s Modal Auxiliary ) g ¢ 2) bl Jadli] -
“t0”..dalS Jail)

“t0”..~ G O Qe (Bare Infinitive) s Jadll 138 ¢ g8 Modal ) s A Jab

could to see y>>can to see JsAl igay ¥ [JUa

could see s>> can see Jsll iy (St 4

5 5l e suas ) ) (Bare Infinitive) s " see” qabud) Jadll La-

.o \JAJ< anl) g eddll> Wl 5% Y Modal 2-

A5 Y Modals s ccall g amll g Gadally agle s — finite verbs) padaall Jladyl) ¢ Uil L
L Aald Al oA@A-ﬂmte) aam) 3OS g Al g adlddl gale

) g paddlhlgle S5 Y Ll Awld Al cela Ua " Modals" 3 ¢




— finite)..sadak) ciela Lgisly

/ He must know how to speak Englishdis

They must know how to speak English

LAl g paddl) Uy Lais s ouallal) UK b e by al

- He must know

Ll Gl 8 By 3 ke Jold aHE <<

LGS gl aml) gl el G BT Al A LaS Gy g 43had 4 gara AMUSE KNOW <<

- They must know

LGN caphal) 8 aBg aaa Jelb aThey <<

LGN gl dall g Gaddl) oy BT Al A LaS ciy g Aulad A gaaa AMUSE kNOW <<

- finite)..cgddak) aa Modal = 145 (3 4xdadl) e ganal) JS3-

- finite)..csadak) | shy agdll 5 a5 220l g addl) gple 53] al dgladl) e ganall 028 () s
Type 2 Have +Past Participle :

This type is an expression of the perfect aspect. “Have” is used as a helping verb
(auxiliary verb). The helping verb “have” is finite and changes according to
person, number and tense. For example:

He has read the book already. (present perfect tense)

We have read the book already. (present perfect tense)

The students had already gathered in class when the teacher entered. (past
perfect tense)

(Have +Past Participle): $29 /S8 g sil)

"- perfect aspect)..alll Jadl) dipa" el ila) U expression) ) s gsill 1a-

The progressive s (The perfect aspect ¢& 4hilud) Az jxill o) 9all A 5 gie )3 La (583 A1 13)-
:agiliel (saspect)

The Past perfect)sThe Present perfect)

. A8 g gl 8 Ua Wl L Jis (Have +Past Participle) = §ba- "The perfect aspect”
) .2 g5 ( The perfect aspect = of -

- Auxiliary verb)..slua J2d) S addius- " Have"
LCrl b sl ol el ity S adl Wa A3 U S3 — finite) < 33a4) g8 "have" elwall Jadll-
(Present perfect tense) &4 s29- He has read the book already << V /Ju-
(Present perfect tense) =% s252- We have read the book already<<
Lol g dddl Gy -

$33- The students had already gathered in class when the teacher entered <<
(Past perfect tense) ...Sx
" Have ".d bl dpa 2 " had" ¢ " had"Uesiiul 1)) pale sla a3l 1< Gajl) G -
Type 3 BE +Present Participle :

This type is an expression of the progressive aspect. “Be” is used as a helping
verb (auxiliary verb). The helping verb “be” is finite and changes according to
person, number and tense. For example:
He is coming. (present progressive)




They are coming. (present progressive)

He was waiting. (past progressive)

They were waiting. (past progressive)

(BE +Present Participle): s4 g /&I g sl

- progressive aspect )l qila) U i o £ o) 18-

" perfect alll Juil) dia™ Jiall quila) U i " "Have +Past Participle > Js¥! g sl 13-

aspect)
« - progressive aspect )l qila) U i 2" "BE +Present Participle> 34l g sl
-4ilial Crag

Past progressive) sPresent progressive)

o aml) o paddl) yaty 85 sgd- finite) 33ak) sy - Auxiliary verb)sstus Jad) S a3ddui-" BE"
Lo
- He is coming /J%a

2 - They are coming

Ll g gaddl) iy 8 AE B BE" Adsisl Jad o Ua Badi-

Lol g asl) s AL g - finite)oaiak) Laa 13gd ¢ (addll g sl o 1 S- (is - are)

3- He was waiting

4- They were waiting

Loaddll 5 and) a1 a5 (Was - were) O Ll La Jaadu

TN g A oY) Adaad) G RS i

He is coming

He was waiting

*He is coming

They are coming

* He was waiting

They were waiting

Type 4 BE +Past Participle :

This type produces the passive voice (in contrast with the active voice).
The verb is active in this example:

Ahmed broke the window. (active voice)

The verb is passive in this example:

The window was broken. (passive voice)

(BE +Present Participle): st /& A & 5

L LAAT Uia) Mad ) €9 Aljluad) aSibuad j3 JIA (e aSsal 48 5ila Passive 4als Ja ¢« Passived) Ubsy g sill 13a-
131 o palaally Ul Cida ol il Al 2 [ giSall Jia g0 pdie AAIAY o pulalaally cullS g (o gtdl) quS i) Balay
1)) g8

LA lai) aall) b "yvoice" ) glsil sas) 4 Passive -

)Jseaall A ) silus ciga ] Passive voice [ << ¢! « Active)sl : (Passive oS £ "voice" JI-
) astrall e ) Jal 23l gie Cisua] Active voice [ << g

SJUall 1 A Active” sty Jadll-
astall A sIAhmed broke the window << (active voice)




‘Juall 1aa 2" Passive " sla Jadll-

Jsgxall s ¢IThe window was broken << (Passive voice)

. Joal lSa olinia g g 4y J gndiall LAA) LiS] ga Lin olilad o2

(the window) ..s& 4 Jsddl 5 (Ahmed) s Jeldl @ oY) alaal) A

(was = Wlias &3 (the window) = Ula 13 (g Jeldl) sla : "the window" 4t dlaal) i
broken)..

(Be +Past Participle).. s s 4adll cle gaaall (e gl 1) £1 53 aladinly Passive - Lkl 13-
>> (The window was broken) 4laall ciauali-

"Be" 4igsl Jadwas <<

broken << Past Participle of verb "break" >] break, broke, broken [

Jegaall Al ) (Passive voice) JI 4awa Laa- was broken <<

Exercise:

Decide whether the type of the verbal group in each sentence is:
a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)
c. Type 3 (be +present participle) d. Type 4 (be +past participle)
1. The machine was fixed.

- Verbal group)4siad 4 saaal- was fixed << (

" be"4isisll Jadwas <<

fixed << Past Participle of the verb "fix"

Jdsgaall Al ) (Passive voice) ) o Jha 13 13-

d. Type 4 (be +past participle)ss <l sl

2. He can fix any machine.

2- can fix

can << Modal Auxiliary
"Bare Infinitive" <@gl (udly & 5- Infinitive) saasfix << (

LS £ sl e Jlia 138 131 ¢ (Adapedl) dipaall) (oabiad) Jadl) Aisay U sla-" fix"
a. Type 1 (modal +infinitive) s gaall <l sali-

3. He is fixing the machine.

3-is fixing

" be" 4issl dadis <<

+-ing ) = (ing fix +)Jxdll) ¢fixing << Present Participle
LGl e 53l e g ((progressive aspect 1 e Jla 13 13-
c. Type 3 (be +present participle) s gussall Gl sali-

4. He has fixed the machine.

4- has fixed

" have" (s 28l daxa s shas <<

fixed << Past Participle of the verb "fix"




.8 £ 5l s g (perfect aspect) A Ao Jha 138 13-

LAshe Lyl (A g el () b cpla LY 1308 @G- has <

"fiX" .oubad) Jadll e (Past Participle) 1 dasa (& sfixed <

b. Type 2 (have +past participle)» guaall i sall-

Type 5 DO +Infinitive :

In this type, the helping verb “do” is called an operator. We call it an operator
because it helps in a number of operations performed on the verb phrase (VP).
Some of these operations are:

Operation 1: Negative

To form the negative, we put “not” immediately after the operator.

e.g. He does not want it. They did not come here.

/""" DO +Infinitive : st s 4haill de ganall £1 51 (pa (ualdd) g oil) (8L o Y)-

e gl diah ) (an operator) = =4 " DO" eluall Jadll> £ gil 13-

- cllas () e e A as oy ATV Al g Apacdl) 03¢ cuw dlid g - @n operator)aab) — o gl Cad 1)
(VP).. 4xdadll o jlad) e — performed) a;iai) «Joperations)

LAl - operations) wiles) i oda Jas & Ul (an operator) 13-

2 g3 Jualy (Sl g ¢ Ag il o jgall 028 A ki - gperations) chiles) &M Uslaely A0 45 1 gisal) J gi*
LY o S

operations ;I o3 ¢ 13-

- Negative): All) Jg¥) ddaati] -

(operator) .. s 1,58 (Not) Aals guai ¢ ¢y Y Al A& Lua Ua ) 13-

(operator). ) A " DO" 4als Alal) o3a A-

) He does not want it V/JYs-

LGBl il A adlg ga 9" DO" Jadll (e g bl 3 aall disa g8 gdoes <<

.J.s (does) s gdsnot <<

(operator)..d) i " not" wiskai (L dlaa (ALl (g1) Al ¢ giai SI-

" does" ..sty (Operator) J) sy " not" Ul aleal) oda 3

2) They did not come here

" DO"..dadll (1 (ualal) dipa 98 5did <<

s (did) s ggnot <<

43ile operation ) sda Jaadl o [ (Al fuail " not" sa gy« "did" ss(an operator) Ll La-
[ ..

Operation 2: Interrogative (question)

The interrogative is formed by placing the operator before the subject and
leaving the rest of the sentence unchanged.

e.g. They come here.

Do they come here? (interrogative)

e 5 o (Jadd) g1 sl e Wl ol 3 Le 09 83" ¢ -Jlisedl- INterrogative) " dpeliiudl) 4dtil) Adaali] -
- Interrogative)..4xdiay)) sy G v Lay Wliea (question) I gls ALY

Interrogate u 5 Laie 1) Gl sl (Interrogation- ¢ dsake "algdicli* "~ Interrogative
)..Slaglzal) e (Fallinformation )-

- 4l aalantl) B U o) ddaad) ALl (Operator) J s "not" g&ai - Operation 1) (As¥) 4xladl) A-




- Agalgding alaall Jaal "de W™ J8 (operator) ) gaiOperation 2)

LB Y A LS Adand) 438 o "Je il U8 (operator) Al gl 13-

/ They come here Ji-

(an operator) ... gliad 4ulgiin dlaal) 4elua Jaal-

" D0"..s (Operator) ) s "s" Y g clilal ek (Come) sy Adlal) sda (i

: Do they come here?dJsiié-

Dpa (B Jadl) Jaad OF Y o (gf Lty (e le Ul ¢ 0 ol dlaal) A8y g dglaid) (A" DO AalS Linua g Lakth-
LS 098 oA LaS Alaad) Jaad lad (el £ jliaal) disa A Y 5 )

(operator) > " Do".. A fe g3 Jadll g 4salgiinl & (Do they come here?) << 13-
Operation 3: Tag question

He did his homework, didn’t he?

They don’t come here, do they?

(an operator)...Y glsi 385l Jisw & sall - Tag question) : - il J)sew) AN dlal)] -
S 55 ) e gl ) Cindad ¢)) Ba ) 9>> (He did his homework) 4laadl sda Ll cals 13 Y [ -
>> (He did his homework, didn’t he?).. 4l zaaicd (operator) >"did" ) gliad
2S48 Jlsw s2- didn’t he <<

- N0) .¥)sl -Yes ) axi)z sa 186l Jipead O g8 il galld-

>> Yes, he did .. i lgall ¢ aS5all (e GgSam Jiaad) 130 A oS-

- operator) ..Jae) ) s " "didalal) ol A-

2- They don’t come here, do they?

868 Jlsw s2- do they <<

LS g g W E gaay (S UR sladdiul g - operator) Jae) ) - do <<

>> No, they don't .. Ale OGS 3S5all e il gadl-

Operators

Sl gad) s janall

Operators:

In addition to “do, does and did”, operators also include:

1. The modal auxiliaries (can, could, may, might.. etc)

e.g. Operation 1: He could not come.

Operation 2: Could he come?

Operation 3. He couldn’t come, could he?

- operators)..Jalse) I Jsa Jisi Galds ) Jitia oY)-

:Jadii s Al - operators) dalss) dlia (uwaldl) £ 50 4 (do, does, did) () 4dlal-
(modal auxiliaries):-'1-

/ (can, could, may, might.. etc)dis-

V 4laadl- He could not come << Y [JGa-

Al &wall - operator) >" "coulddale) J) s "not" Una-

Y 4lali2- Could he come? <<

. Agalgding dina Wghaat dlaal) 403 & - operator) >" "coulddale) ) Uniag-




¥ 4lal13- He couldn’t come, could he? <<

486l g duall - operator) >" "coulddale) ) Laadi-

2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in British
English).

The following are examples of “have” as a helping verb operator:

Operation 1: They have not come yet.

Operation 2: Have they come already?

Operation 3: They haven’t come yet, have they?

- operators)..dl ) S sy 82- “have”, “has”, “had” : <

- operators)..dalse) S agatdicd Ladie dpulud JudlS i o lua JudlS agalidiv (Saall Cha-

Aty ) 4all) die Aald Al 2gd dpaibiad Jladl agdl eg_i.mi $-operators) Jal ) S agadiiug Ladic-
(oS3 2ol Juis lilas — an operator) Suls) o8 Laxis “have” J) e ¢ sSiu 4lil) ALaY)-
helping verb operator ):

\ 4laall]1- They have not come yet <<

- helping verb )lus J28) 85— an operator) S«le- have << (

- main verb)sbal Ja8) sa- come <<

i Adaall delua Jaaill - operator) >" " havedale) J) s "not" AalS Gely-

Y 4lali2- Have they come already? <<

Agalgiin) ddsa Ll Alaal) 40 A - operator) > " " Havedals) Ji sla-

- main verb)...«ll J28) 8 "come" s- helping verb ) slwa J28) sla Ua " " Haves-

¥ 4lali3- They haven’t come yet, have they? <<

- helping verb )..:lus Jad) 85 - operator) Ja) sla- have <<

- main verb)..c«ll Jadcome << (

4S9l 3w duad - operator) > " " Havedsls) J) sla-

.elua J2d S - gperator) dale) ) BA o S 8858 Qg A ¥ Addaad) Ao Lua 13-

This is an example of “have” as a main verb operator in British English:
Operation 2: Have you any money? (British English)

Compare: Do you have any money? (American English)

038 g [ usbuad JriS Ciliah - operator) Jale) S aidiad 8" " Have of dua dald il dllia o U si*
( main verb operator )..,s 48 ] 4xitay pull 4all) A& Wasd 4aldd) Al

/Y dslanl) o Jlia

. (Have you any money? )Jsii 4xita; ) 4all) b Jlall Gl Lasie ] -

- main verb)..«lw J23) 589 - operator) dale) sla>>" " Have 4pila sl 4all) 8-

A JUal aa Bleall JUa) g RS

: (Do you have any money? )Jsi 48 ¥ 4alll 8 Jlall qullsl Laie D-

" have" s« helping verb )slus Jid) a5 - operator) Jale) sla>>" " Do 4 pa¥) 4dlll A
- The main verb)...~tu) Jadll) oa

3 Al - operator) Jals( adiiui ¢ (DO you have any money?)d sk 4 ya¥) 4l 8 sas 13-
- The main verb) >" have" sbad) Jadll) addicd ¥y «Jlpw A lual Adlal) 03 A solua J2iS> " " Do
..Jlsw A2lual Ua - operator) Jals) <




Aliy) uall - operator) Jale( S 4eladiul diay - main verb)gstal 22" " Have > (G Lais-
Ay ) Aall) 8 add (<l

3l b ardind LIl g La Jis ALual obuwe JaiS> " " DO A9 - OpeErator) Jals) asiiu dals-
Ay ) ARL (B Lgaladiiad) (iSaall (e g ey alad)

3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs.

The following are examples of “is” as a main verb operator:

Operation 1: He is not here.

Operation 2: Is he here.

Operation 3: He is here, isn’t he?

Jladls ¢ gilia) g - operators) ) S sl 83- “am”, “is”, “are”, “was”, “were”: <

ol dgillay ) Aallly & J8) (GlullS 4ald c¥la Ud 2a 9 Y 5> (auxiliary verbs) essbua Judls 5f dslud
POl IS e L) (i L) () ($4AuSy paY)

(Main verb S bl Jais cilias - operator) dale) gsss Lais “is” (8 (& S 4] Atiay)-
operator):

\ 4lall]- He is not here <<

. Agdia dlaall Jaad saey "not" bl WY - operator) Jule) s clgll Gudly g oulul J2d sajs <<

Y 4lali2- |s he here? <<

Jud ol 2 g ¥ cdalgiing Aland) dia Jaadl dlanl) Agly B olinagg - operator) > " Is" Jule) JI Ll
- The main verb)...«bu¥) Jadll) sa " [s" 13 AT

¥ 4lali3- He is here, isn’t he? <<

- main verb)..cubal J2d) s cégll (udly - operator) dals) Jl gis <<

The following are examples of “is” as a helping verb operator:

Operation 1: He is not coming.

Operation 2: Is he coming?

Operation 3: He is not coming, is he?

(helping verb &4 lus Jais Cilias - operator) dale) (s Latis “is” o8 ¢ s A1) ALia¥)-
operator):

} 4leali1- He is not coming <<

- The main verb)..c«t¥) J2ill) ssacoming <<

L Alaal) A8 Lua Jaal saay sl "not" Y - Operator) Jals) s g el J2b s <<

Y 4lali2- |S he coming? <<

- The main verb)..c«ta¥) J2ill) ssacoming <<

Agalgiin) Lelaay g Lganant alaal) 4300 B osliaddinl g - operator) Jule) s 5 olua Jad sajs <<

¥ 4leali3- He is not coming, is he? <<

- The main verb)..c«ta¥) J2ill) ssacoming <<

LS il Jige W fuad 8 olasdiul g - operator) Jale) sa g sslua Jad gajs <<

Exercise:

Decide whether the underlined verb is:

a. a main verb operator b. a helping verb operator c. not an operator

1. They do not come here often.

" Sy g (A Adaall A8lua Jeald "nOt" sd pla g selua Jab g4 - Operator) Jale) s1-do <
b. a s <lsall I3 - The main verb)~L¥) J=ill) sahelping verb operator").. come <
helping verb operator




2. | have not seen this movie yet.

" S 98 (A Adaall d8lua Jaad "not" sd sla g elua b 4 - Operator) Jule) - have <
b. a s sl 13 - The main verb)«ta¥) J2ill) sahelping verb operator").. seen<
helping verb operator

3. Do you have a copy of the movie.

Waadiea) s ¢Jadi al ¥ 90 geud) A8 Lual oliardinil Ja ¢85 - The main verb) s Jadll) sa- have <
43k B sleadind 5- The helping verb) ssluall Jaill) sa " Do" < 131, -dld Jail " DO" 25 Luwall Jail
- Jale) S Ua aadiny Al " have" ¢Sl « (helping verb operator) Sy 59 sl W fuay 4laal)
b. a helping verb operator s i sall 13 ¢ ubul Jais sla kb () gl &Lualoperator)

4. He is not here.

- dale) s5- The main verb)bad) Jadll) s is < 131 "is" . - AT Jad dlaad) 02 (8 2253 ¥4-
- operator) Jals) J) s "not" Jaas Al lakal 5 « (main verb operator) s s i3operator)
a. a main verb operator $ gasall Glgadl > "is"
5. He isn’t going, is he?

/ - The main verb)...«t¥) J2dll) sa5- going <<

Ji3w Uakal o( helping verb operator) =& s 13 « - operator)dale) s 5 lus Jad gajs <<
b. a helping verb operator s «isall 13 "is" seluall Jadl) aladioly 1 gl

Form and Function
Adlagll g Adpall

4y ol) g 4allForm and Function:

Form is what the word/phrase/clause look like.

e.g. noun, verb, noun phrase, verb phrase, relative clause

Function is the “job” of the word/phrase/clause in a sentence.

e.g. Subject, Verb (Predicator), Direct Object, Complement
gl (b AR gl g dkpall G 3AN o8 Dlh Cidaics o palanal) o3 (B
(word/phrase/clause).. ) 4 sy ¢l sghal 5 J8& g 14inall-
"ookd) da™ oy o liad) jgdia g MAalS) dipa™ o dalsl) jgdia o g)-
" Adsedl) Alaadl™ gua gall ac) dlay cdnlad o jle cdrand o lie (Jad canl [ Sia-
o) Ahaa Jadl) &) o) () 1) Jadl) 138 1k Lasic Db
2 s Al o)) (o) (Jad ciply) AalSl) oda 1 ki ol

ARl &l palaall (B 0 S Alial agd U S3 (VP) 5-(NP)

Aapa o o e ga 9 — clauses) i adl g Jaall) Ji g1 gl saa) eda- "relative clause" <
LA el ) 4edlil) @l paalaal) b — clauses) @Al i Jeall) dI e dudadin

4daall A (word/phrase/clause) 3 Jaxdl e o s s 9148303 gl

.4l & (word/phrase/clause) J 4dady La g)-

dgan) @l jlal) o Ll U S3 LeS (NP) 4sand) &l jlall Jue g2 5- (Subject < ixiwall o) Jeldll) - /e

- (Subjects..clsim gl Jo) 58) 0985 B(NP)

A& 5 (Subject) < delll cizall (NP) < 4sam) o jball 13-

s S B g Al g )9 38 Layl) < sl (Predicator — Jadli2-

| ASS Cilla) Ladie Ada (4 6S-

(Predicator)..csbal L3 4alsl) Ciliad Lasic 4dlig ¢ 98-

«- Predicate )4d) 8iik) 5 Jeld: o g giad ddapad) Jaad) o Ul Las-
)iwal) (Predicator — =3 4l diaall b Jadl)




“it can be filled only with k8 Jaily (@ sle) glaa s of oS (Sewall(Predicator- 4 ¢l
verb"

AR oS g dduas (Verh) pllas addiug 38

P9 Wi AL 51 aall (i 41" Verb" oamae (Y 4858 (Predicator) sl (Verb) geliuas addiu s
(Predicator)..

4B sl (e JSI (Verb) (rame axiius J; « (Predicator)sams sis axiiad ¥ ¢ ) sa¥) Jagud! ¢85

. Aaal)
b Jadl Lghady ) 4dda gl — to indicate) G g sl (Predicator) (emal aladiul Loy Li<ay o<1
alaall

AR @ palaad) L8 sLE8U3- Direct Object <

) £l () o pdlaal) 03 B gSBULug- Complement <

Exercise:

Choose (a) if the given term refers to a form and (b) if it refers to a function.
a. form b. function

1. pronominal group

I Aaall 4 gana) 4y pasal) 48 ganally La g i (Al Clalll (o 4 gadal gl o liall aduli g gl ddma 020 J21-
: We all .. Wle Jla U S g 4y paal) 4o ganal) e Bibas L yo-

>all .. g2 dina g > We rad Wl iy pada 48 3eaa A-( We all)

s - phrase” 4lex dad g o lall" 4y ,glii i) jelaall (& () ddmall pui) (& 4y padall A ganall 13-
a. form s <l « — group of the words )<talsll ¢ 4s gana"

2. indirect object

(NP)..4saul o e 058 La Lle ¢ adidag a2- indirect object <<
— Functions of the "NP")..4seu¥) o jlal) ciillig ) Jalb sy 3alioi*

- indirect object)..sélw & 4 Jgrda) A 4Bl g« (NP) dsamd ol A& dimal) 0 si-

b. functionss il sall 13-

3. complement

saa) Cud 038 (819 <0 a9 0538 2y — complement) 4a&l) i ¢ GEBLEL3- complement <<
b. & Gisall 13 « — complement)Ada&all) o oo o 8 gf o e of AalSl Al A& (s cilalsll Zual)
function

4. subject

(NP).. 4zl 0 (158 La LIS 5 caddig s Jolil) of Uis oLIZELS LaS cfutizall f Jolil4-

b. functions sl 13 (Jeld- subject) Jelill) & 4ddash g (NP) 4saul o lbs (A 4imall o) -
5. noun phrase

e (il gl ¢a 33a] Aia dzan) o jlad) (0S5 Le LIS 5 cdimea (A (43aa) o Lall5- nouN phrase) -
(subject)..dsld ¢ e85 28] -

(object)..4 Jyrda (s 82-

(direct object).. sl 43 Jgrda (o83 83-

(indirect object).. sk s 43 Jonda (S 284

a. form sa i gall 13-

Functions of the Noun Phrase (NP):

1. Subject of a Clause

As we mentioned in Lecture 4, a sentence needs a subject in order to be
complete (except for imperative sentences where the subject is unstated).




e.g. The old man is here.

(NP).. ) il ) Jaiiin (Y

Agan) o jadl ¢ "Noun Phrase" 4 Juaidl (& (NP) of alai Las-

Aan) olall AGBAQ) Cail ol aaLdd-

e (Alan 5f 5ARY) (Ioipa gf JoE) =) [ b dpanad) o jlall 1591 Adula -

zlay "One Clause sentence” 13( «lai€s puail Jolb gliad alagd) ¢ dayl 11 § palaal) 8 L] U )
- unstated” [ ..z s&" b s Joll o dua jaY) Jad sLEILL] ¢ )JuiSa mmad i i Jeld )
Laséha 4 Jeld aa o ¥ ddaal) oda A/ GO study << Jie-

Lo ) gliad s AV Jadd) asen & (Sl

: The old man is here J&-

alaa dima O )] - Nominal group)4sas 4lea) s2 5>> The old man st 4laal) oda & Jeldl
[..Jold addlig g dsam

- The head) >> manuili-(

olds>> The ¥ -

- Nominal 4wl 45 gaaall) ad 21 g sdal g 48 garas Jaxi (The 0ld man) 4B clalsl) sda Js-
" AL G pdlaal) A G g ST LS (NP) "dan) & jladl (e £ 58 A sgroup)

- Simple Clause Sentence) ..kl 4laall) s3¢3 Jeld s " The old man" 13-

2. Direct Object of a Verb

Transitive verbs require an object. Monotransitive verbs take only one direct
object.

e.g. Ahmed finished his work.

tla ol pdilall 4y Jgrdall - [ A dran) o jlaall 450N A oY)-

s g cdy Jgrda e (g ging a U Jadll (g «gania Jad i a ¥ Jad (198 2B 4l Jadl) (e oL La (983 AT A)-
. Saaily lla Laali S3 )4 Ditransitive) s) (Monotransitive ¢sss 1 Wi LS 4l Judy)

/ Ahmed finished his work Ji-

" Jdedall galal a¥ Jad " Monotransitive- s Je@ safinished <<

Sk J gada) sla Lyl 5« (NP)s2 131 «- Nominal Phrase )4sw! o ) sahis work <<

" his s W bl Jexdali( "finished"- The Direct Object of verb "finished" )Js&ll
work"- The Direct Object is "his work" )..

- Sl Jgadall( 188 b sl Juaial) sb (S Allad) 02a (b g Adaad) 02b (b anl g 4y Jgrda Ll 13-
..58(The Direct Object

3. Indirect Object of a Verb

Some transitive verbs require two objects. These are called ditransitive verbs.
They take a direct object and an indirect object.

e.g. He gave Khaled a book. (... gave a book to Khaled)

The shopkeeper sold him some snacks. (... sold some snacks to him)

tla Jadl pdilaa pad) 4y Jgrdall oF [ A dpan) o jlall 45N AddS gl)-

4a3¥ Jud)" Ditransitive Verbs- - aaligea Wil ¢85 Lasy) cplgada Ao (g gind da D) JladY) (lany-
" dsrdall 4l

3¢ "One indirect object” s skl 4 Jsrdall (e 3aly ) "One direct object” 3G Judy) sia-
Lo pad) 4y J grdall (a2l g

LA Al ga e g pdlal) Jgrdall o (e R O Y Allad) oda B-

Jous A el @/ - He gave Khaled a book (Je-




Yl o) 2 A el adlll- The shopkeeper sold him some snacks (

Llaga JS (A (¥ grda 2 g ailaad) (e (A-

AU EAPEN -8

.Jadll gave <<

2- abook > 1-Khaled ¢¥sda s o

(indirect object)..s ,AY! s (direct object) s Legia aal g 13-

>> (He gave a book 13 muail 4laall oda re-phrase gl clalSl) re-state gakaiad ¢Jgul Y1 Jaal-
).l st Je) sato Khaled) (

o otpall J gaiall oS5 glan Jail) a3 piloa Azacd) o jLall ciply dleal) oda -

Lol pud) Jgadal) & "0 pa sl I (NP) 4sasd) o jlad) -

ol il Jedadl 4 Khaled << 13-

L) Jpdadl saa book <<

Lguary 9 Lgw Il Jad liSay Jaal) Gamy co3a JS (B 2l ¥ LSt g Jgmal o) Jrail (& dlaad) g 5 Bale ) ARy o
Ll licay ¥

D Al Alaad) (b

.Jadll sasol <<

2- some snacks <> 1-him ¥ pda Al -

(indirect object)..s AY! s (direct object) s Legia sal g 13-

>> (The shopkeeper 13 guail dlaall o3 re-phrase sl clalsll re-state gakia Jgal pa¥) Jaal-
). A sl ket sasold some snacks to him) (

L pid) Jgadall 2" "him < pdilall Jsadall 21 sSOme snacks"" Al s -

odlka il Jgrdall g4 him << 13-

. dlall J p2iall asome snacks <<

4. The Complement of the Subject +BE (is, am, are, was, were)

A complement is a word/phrase/clause that completes the meaning of another
word/phrase/clause. It is necessary for the meaning to be complete.

e.g. Ahmed is my best friend.

(is, am, are, was, were, been) (4ishsl Jad +Jo il AlaSal) -f [ A dpanl) o jlall syl 1) Ayl ol)-

A e 2" "beendsd ¢ : [is, am, are, was, were, been]¢ssi @ (BE) 4isisll Jad () alad Las-
(Past Participle)..

). AS sl Jadl A (e (1) JladY) o2 JNA (e Alaall dipua U uiati-

LY Lt sale aaLiia <o pualaal) o2 (B <l o Bds WL K3 Al 5- (complement << 4dagal)-(

i o e g AnlS] I ral) MaRE JASE A [MAleats i g MAlen 4pd o jle o AalS] ;o ALRA) iy i
L AN 4daas jid gf "alan

i) (aladl) Jlast ;1 A Adagil) dd o

O irall O o)) AlaiSa y& raaion 5 AY) ["Alaa"o A i "Alan 4pd™ o L) of AISI] (ALAAL) (590 (ra 13-
)..JaiSe ruay

/ (It is necessary for the meaning to complete ------------ ) Vg

/ complement st <l sl

)..JaiSa rall ruad (51) nall alaly Aaga A ALeSA) 131

o S ARl Adda g Al ol o () Cua ALY o pualaal) & ) AT 33 another distinction)- i
9 "Alan 4™ o le gl AalS] I nal) AlaY daga (& ALaSA) (o Jalh S35 b pudalaall 038 B (ST g Aaga
Agan) @ el oo Ulas sie g AT ["alaa™s B8




/ Ahmed is my best friendJée-

o3 A A ([Asanl 4s sa2a: Nominal group- 4¢ 58 (NP) [zl o ke 4- my best friend >>
Ol WiSay 3 <) inall JLaSy Lgabiad W (1) Anall alady daga LY $ALaSh L Lale (S (AlaSh cply 4llal)
Sl sl A glad " "Ahmed is)- Adaadl slgd) LiSay (g)) alaadl slgai) Ak gial o3 (Ahmed is) Jsii
"is" L AdghS Jad g Jolill aal) JaS
LAgad et Lol maaiu Alaad) g ¢ nal) ALaiSG y s alaad) (my best friend) ags ¢ 13-
LY sl £4y a0 s Ja Alead) oda B (NP) ) Uik 131

(is) ..455us) Jadl 9 (Ahmed) Jeldll 4a&h a-" my best friend"

Note: When the complement is a noun, it must agree with the subject in number
and gender.

Ahmed is their uncle. (not “uncles” or “aunt”)

Sarah and Huda are their aunts. (not “aunt” or “uncles”)

The full verb “BE” in this example only serves to join the subject and the
complement together.

In this case, the full verb BE is called a Copula (=something that joins things
together). There are other copulas in English, for example, the verbs “become”
and “seem”.

Lomiadl g aad) B Jelil) aa BED () A " a™ ALASAl) (4SS Ladic
Jab 5 Jelll ALRCal)) Alla [ Cudal) g el b i U ghay o) e Lab SIS (ALRCAY) eyl 5 Joldl) elat T3
- Complement of the Subject +BE)..4issll
] Wb sLLEEU ] (udad) g daad) ¢y g 83
Ll g adal) [Jie> aa)
Ll — S5 — A [ Jie> (udal)
- Ahmed is their uncle Y/Jta
A3 5,k Ahmed < of Bad

3 g 3 4atheir uncle <
f3ll : * " Ahmed is their uncles". Js UiSay ¥
.2 (their uncles) s 24 (Ahmed) oi¥-
ke UgSy o i) o quag 1A

913" Ahmed is their aunt".
.l e ag3 (their uncles) s SY aul (Ahmed) o¥-
LOSAUSS Of oY) e e 1AL

2- Sarah and Huda are their aunts
4l 9 aaa : Sarah and Huda < of B3

il 5 aaatheir aunts <
fl3ld : * " Sarah and Huda are their aunt”. Js&l Wisay ¥
.4 (their aunt) s g Lagdl ¢l (maddd ¢ o e (Sarah and Huda) o¥-
L LSy of oY) e caa 1AL
"aunts")..qry pas S Alekh ) 4alas "Sarah and Huda" of ¢i-(

$ld*" Sarah and Huda are their uncles".
L2884 e 3 (uncles) o &) e g (Sarah and Huda) o¥-
LG e tag of Y e e 1AL
).y o asi LY " qunts” ALl ) dslay Wi i (




" [ Subject + Be + Complement 4zaw) ol ()95 ALaSall™ [ AlaSe g 4ol Jud g Jold ] Lpal ols 13
Ll ) g asd) B Je i) aa (GRS O quag” ALASAL) A 9" Agan) o jladld]

Claa AL g Jelil) e oy B e andy JU) 138 B ) 40 g3 Jad*

o M Ja g o) g Alaad ¢ AT Jad 33 gy ¥ ATY Solisa Jad Gl g ouibal Jad Jaal) o3a (B )9Sy A4S gl Jad
). ol S Jary A7 (51) Tae ALaZA) g Je )

- copula”.. Jul sl Jadli" ou (oubud) 435S Jad) Allad) oda A A

Lo s by i la o1 A - copulathl Jadl" AalS aa-

Jeldl 4l&al) s i [copula] =5 "Be" (is, am, are, was, were, been) ka4 sisl Jad jii-
B Be" 4d gl Jab +

[ Jud) Jia Adsisll (b @ 4y lai) 4all B s AL copulas) 4l Jladl) dlia*

become-

seem-

A V) ARl 8 dagl S (Blary Lad (Dladl) (la-

by g Ala of 1 gd a3 o) aSia qugllaal) (S8 g o pualaal) 038 B Madll hda o 4liaf ) g3Al o [ giSal) J gho-
LAl Jab e g A

5. The Complement of the Object

e.g. He found Faisal a good student.
In the previous example, the noun phrase “a good student” is the complement of
the direct object “Faisal”’. Compare the examples in (a) and (b) below:

a. The teacher found Faisal a book.

The teacher found a book for Faisal.

b. The teacher found Faisal a good student.

The teacher found Faisal to be a good student.

In example (a), “Faisal” an indirect object and “a book” is a direct object. The
sentence means that the teacher looked for a book to give to Faisal.

In example (b), “Faisal” is a direct object and “a good student” is a complement.
The sentence means that the teacher thinks that Faisal is a good student.

Ty Jgrdall ALaSAl) -0 [ A dnant) o liall dualdld) Ak gl)-

L oall Al aga b A ALKl o ¢ g S Las-

/ He found Faisal a good student Jt-

Jeldll s He << Wl

Jdlifound <<

sl 44 JdaliFaisal <<

adf gl 1389 138 " "Fajsalol diing 45 Ua Jdealld: (He found Faisal) Jsii Latis (Jaish 8 aall oS15-
LA b Alladl oda b aalld (384 1 " " Faisalol g

(He U inall g8 Gl 138 0 Y codng &5 (a9 gibda OIS Juaah 0 Gy " Faaisal” g 430 Ua augihi -
Lt il g "Faisal" o adgh o gaddd) saliey L i (found Faisal a good student)

Q9S8 O Aralld ALaal) 03a (193 (e oY "Faisal" 4 Jyriall 4l 4 (2 good student) Al oda A
(a good student)..4xew) o el ()53 " Faisal” 4x Jsriall Jai ()58 o aal 13-
dgan) o jlal) Gud) JUall 8 ¢ - So to State we said here again) sl 5 Lia oLl La gua gil- (
"Faisal".. dkall 4 J piall Aa&h a(a good student)




1Jl D) 9 (@ b ALiaY) (8 JALRY) (dary G M il oLlE e dna g gil-

a- The teacher found Faisal a book

b- The teacher found Faisal a good student

AT Lan 8Bl gl) (b (8] g (liguliiia Lagsl L gy clilead) lita-

ralaad) a5 dmi (@) (B A9V Al B

The teacher found a book for Faisal

Gl S (8 Gl Gl alaall 13-

radeal) quli 5 dmia (D) (B Al adlad) A

TS O LiiSay M ¢ (g)dlen (o Adlida dlaal) oda-

The teacher found a good student for Faisal

LA L 1R Gad Y ¢ el ) ) ey gt il 8 Canll cady ol g

coadll 13 o 4us i fale ) LiSay-

The teacher found Faisal to be a good student

e Gl 9 Juad (ol Moaly" Ainy g

el g

LA e 4y Jeda g (@) > "Faisal” Jds¥ Jhall A

b 4y Jda 2" "a book

") L GUS Juad he) A" Juandl LUS he ) sa-(

sl slaef g QS (e duay aleal) 0 Aad alaadl-

sla 9 () JUall A aal g 4y Jgnda Lnal (b (8 ¢ il 43 Jg2de 52 (D) > "Faisal” A JUiall A-
il

"Faisal"..4 Jsdall i 2" "a good student

L Agiaae Cillh g8 Juad () Ainy aleal) G (aS Adaad) 0 U S0 Las-

6. Object of a Preposition

Prepositions are words like “in”, “on”, “of” and “off” which are normally followed
by a noun phrase. The noun phrase that follows a preposition is called the object
of the preposition.

e.g. We are in the same class.

He walked on a high platform.

In the two examples above, the noun phrases “the same class” and “a high
platform” function as the objects of the prepositions “in” and “on” respectively.
ro il Jarda T [ dgand) o jladl daluad) Adula ol)-

NP . Asansl 8 by & Bale A (in, on, Of, OFf) Jie «cilalS & sall Cig ja-

09 andl Lgandd A al) 31> ) Cijal J ke o8 Al Gia G A dand) o Ll

Lol cial Jgrda gl "adll J gria" dleall Jgria (68 S8 451 Wl UlB-

- Object of a Preposition)..,all dial Jsia) 4 4iligll g (NP) A_ddsall 13-

LAl dial Jgade o Wil gh ja s sy (NP) o 13) 130

- We are in the same class /Jt-

— The proposition)..,al diain << (

- (Object of a Preposition..,a il Jsada) & 9 (NP) 4eanl o e Athe same class <<
"osoaally el dlea 4ud (PP) " sl 9 sl 3Le agzendin the same class <<




2- He walked on a high platform

— The proposition)...all dijaon << (

- (Object of a Preposition.. ) cial Jsds) (& 5 (NP) 4l ol Aa high platform <<
"L osoaally sl Aas 40 (PP) " usuaall g ) 3 ke agrawion a high platform <<

- So to state we said here again): il 5 Lia oLl La guu gil¥(

Jsrdas (Pl (3 high platform) s (the same class) 4sead) ci ladl ( Ae¥) A ol Gallial) 3
).V 53l Ao on) respectively)- s (in s cigal

7. Appositive to another Noun Phrase

An appositive is a noun phrase (NP) that describes the same person or thing as
another noun phrase (NP) that came before it.

e.g. Your friend Ahmed Al-Ali is here.

In the previous example, “Ahmed Al-Ali”’ is an appositive. It is in apposition to
the noun phrase “your friend”. Both NPs “your friend” and “Ahmed Al-Ali”
describe the same person.

We will talk more about apposition, including apposition types, in the next
lecture.

L A Mg Alay 4™ dgan) ol 3 2V [ dzan) o jlall drsleal) A 6l)-

@I Wk sl (AN o all s AT Azandd o S £l (uli gl padl) (udi Ly dpand 0 ke 58 1 2l Ly -
). ) Asanl o bl B [ sShall o Ll gl (aduil) (el Gl 40l Asen) o bl o

Lol (i e ¢la gt Laalils (it Uisla Glivand (ke Lal 131-

oksli Laa Jy o 6l i (and, but, ... etc.) dha Gad ¢Ciand) (o el G aly ook LA ud 13-

’ Ll Gl e gl gadlll Gl o Glagad 5 (lingliia
o_lall Yoy 4y ("gam u&d; (9 Asan) o lad)) J ¥ ansl) 22y ‘;Sh" Lfﬂ\ (4.).1135\ Asay) DJQNJ\)‘;J&\ iy -
LAY Asand)

/ Your friend Ahmed Al-Ali is heredt-

(The NP)...As¥) 4xal) o jladl- Your friend <<

.Ja A« (The another NP)4stl 4zl o jlall- Ahmed Al-Ali <<

oAl udi o lagad Lagl 5 o AN dngliia Uply Laalils-

Your friend .4 ¥% Ahmed Al-Alj

" (A das gdi(Apposition) $(0) Al disas il (Opposition) o 15848 1 o gisal Lglld alh galex
55 A g Cilida Wlinad " "Opposition< - Ll s L83 Al g 435ad 4ddiy A" Apposition<
LA g g la g Cp CEDIERY)

(A) > (Apposition)..ciaq fas ) & Ua 4y gail) 4bla ol o ) glaadli ¢ g 13)-
- to state we said here again Just): sl 5 Ua slilk Ls graca gil Jabe(

.d% sa- (Ahmed Al-Ali) ¢l Jha A

(Your friend).. Azaw¥) s jlall Yoy sgb-

Al (addl) il (Ahmed Al-Ali) s (Your friend) e o jtad) Gls-
LAl o pualaall A [ sl cigua gl sil ] S e e g sl dig s o ST Gaaaiia

Exercise:

Choose the correct function for the underlined NPs:

a. Subject b. Object c. Complement d. Appositive

1. His father gave him some important advice.




¢ (some important advice) 4y & Ll-

JsWiHis father <<

Judligave <<

(gave) ..Jxdll 4 Jsadahim <<

.Lai (gave) Jxill 44 Jsminsome important advice <<

Lla i AN 5 sdie Laalaal (Y gada Ugal U 13-

bkl Jgadall g2 13« (some important advice) st Ghel gil s L&l Tl
(gave)..Jxdll ik £ 43 Jsde- some important advice <<

LA R A paddl) s (gave) Jadll pdla e 4y Jsrda him << 13-

e Sl g bl Jgadal) g ¢ha ijadl Laagl 5 Alla) Gisthaal) nal) W el alaad) qu i Bale) LiSad-
1 Jshid

His father gave some important advice to him

Lol Ay Jgrda g4 gl il 9 4y Jsrie 4 (SOMeE important advice) << 13-

ol il 4dl 83 ()93 43 g 4 J gLy A 1Y Gald JS (il g ale JSn AT 1) g8 JIgud) B o gthaall*
b. Objects <lsall 13 il e

2. Ahmed’s uncle lives in Riyadh.

.ol a5 (NP) 4l o e 22- Ahmed’s uncle <<

Jxdlives <<

- Subject)..dsl) s- predicate) 4l tiwa) ) gliad ddasdl ¢ alas Las-

Ji cela B g(Ahmed’s uncle) & La 4dseud) i jlall 5 dvand @l e 3ale ()98 Jeldll Allal) oda -
LJell 1Y (Jelis Jaad g (lives) dadll

" Ahmed’s uncle"..JsW I saia 1) ¢)- predicate) 4l diww) Alives in Riyadh <<

a. Subjectss isall 13-

3. Ahmed’s uncle is a successful businessman.

¢¢Jeld (a successful businessman) Ja3-

> Ahmed’s uncle st Ua Jeld Lal 43y Y-

0000 o AlaSh i is" Adsisll Jadl J i (@ Successful businessman) Ja-

) i 1) (QaduBl) il e ol gl GlilEe lband (UGS a5 Y AT J ol 8 golall-

By () ) oday AdaSa ) Uiah 4 giKl) Jadg Jold Lipal (S 13) UlE LS g cAlaSAl) g Jgndall slaa o)) L Lpal s
).. gl Jad

" Azau) o jlad) A ALKAY Allad) odr (B ¢ "jS" 2y alala ) zliai- (Ahmed’s uncle is) <<
successful businessman”..

gl 5 rall Jakil Anga ALK 238 13 cAlanl) gl Aaki auai o (Ahmed’s uncle is) Jsii of adind Y-
c. Complements «isall i3 « (The Complement of the Subject +B E)4ladal) Lgsaud

4. Khaled has a lot of books in his room.

o ke Ll ¢S 13) Gl UlB LaS g ¢ o cigay Ba(NP) o Bad5 (NP) .. -4xad) o Jball4- his room <<
b. Objectss sl 13 all Gijal J pias Jaxt Wb Ja Gy Eilila dvand

5. The teacher gave the students exercises.

Jel5- The teacher <<




Jadgave <<

(gave)..Jxdll 43 J pda (& 9 4l o Lethe students <<

(gave)..Jsdll 4 Js2da 92 5 awlexercises <<

(gave)..Jxill (¥ gia lela Glacd Lyal-

: The teacher gave exercises to the students gesail dlaall G 5 Bl ) LiCay-

(gave) Jxill 43 Jgrda,, - students << ydlm 43 Jsrda 25 (gave) Jxill 4 Jprde- exercises <<
b. Objects sl 13yl e 4 Jgrda sa g

6. My brother Saleh studies at King Faisal University.

- Nominal group)..4xul 4s gana) e o cAzaul o )Le6- My brother <<

— Proper Noun )..als awl)_ge 58 cdpamil o = Saleh <<

LAl addl) e gl g LaadS g cpllita lela dzac) o ladl £1 63 (e e gi-

(Saleh)...sx ddaial) 6§13 « "My brother"4us s il padll) udi e ags- ""Saleh
ae) e d gy M) Qaddl) (il o a9y a9 AT Al g sy s N () Su Adiu Jaghiall o) -
d. Appositivess qlsall 13 "I aud) udd 51" AY)

7. The manager found him a hard working employee.

el ce dand cad paddl of Alaadl 38 daa Ja- 9% [ @ hard working employee J4dig & L7-
S Siny aal) 0 A Adaadl sdgd puaiall rall, - Alaad) 03gd aual) drall g8 134 Guad Y S04 dglard Agliaa
g Jale Ay (g

ol s (a hard working employee) 131.. - jdlw gla 8 o>> " him" a3l g 43 Jgrda Jadd Lyl
LA Jardall JaSa ga o 4y J gada

: The manager found him to be a hard working Jsiid alasdl sy i 5 Sale ) LiiSay-

c. Complement s <isall 13 cemployee

Lodaally Jall Bl oo 5 il (o 4wl b pdalaall A Gaadiu

aleall i 3 3alely 1ol sall ¢ (Complement of Object) s (Indirect Object) ¢ QA s 1) 3uat
i) Lgea pgda Bl

Al 3 puialaall 7 4
Adjectives
Lha ol Gl jladl 5 claall 23l 41
Adjectives:
Adjectives are words which we use to describe people, things, events... etc.
cldal)

. alaa¥) 5 ceLusl) (il Chua o Lgadiius S e 5 5le 2
eAdjectives can be divided into two groups:
1. Attributive Adjectives
Attributive adjectives appear before the noun.
e.g. This is an important lesson.
2. Predicative Adjectives
Predicative adjectives appear after the noun, in the predicate.
e.g. This lesson is important.

Oie gada () cldual) puadli UiSay :

1- Attributive Adjectives 4fixill cilaall 4

2- Predicative Adjectives 4l ) sl cilical)
1- 4diadl) clball 1 J5¥) g 5




‘ pu) J8 yekai a5

8 Jaee S a1 i L4l g ¢ 5l 138 aas W (pre-modifier )

JEl 13 & :(This is an important lesson)

Important < 44a A

Lesson < a~IN

an important lesson < 4xeul 3 jbe (& (NP) 5S35 LS dranl de gana b5 .

- 4 o LaSimportant el Jd Celalesson 13 cimportant #Attributive Adjective

2- 4agaS gl gf Baiuall ciliual) 1 ALY £ gl
Al 5 Jeldl (e Guaats LS Lavie |5 S35 13) (Predicate- I s siad o o danadll Jeal) U S35 (aindiclause sentences e
s aaly JelPredicate 2.
- ol Jsis Gllaidl 138 (e 13Predicative Adjective 1 58 0S5 ddall oda o) ) au¥) 22y selaPredicate)
JE&dl & : (This lesson is important)
LauY) 3 jlall () a3l (NP) > This lesson
slesson axY) 58 (NP)
daall (K15 (important) sy ax < jels (lesson) 4 sisll Jad 22y (is), %S 13) (important)d) o8 <k (Predicate)
& Alaall o3 & Jelall 13> This lesson
) sPredicate s> is important
Al A & jeda dsall sPredicate , = W e IPredicative Adjective
eMany adjectives can be used bothattributively and predicatively, e.g. the adjective “important” in the two
previous examples. g
*) 90dA ) (S laall e )
Sattributively- < s 4sxipredicatively — b 408 55 i oxisa,
ddall L3l Ji“important” S35 jeda 38 ¢ Gl allial Sattributively S a0 8,6 spredicatively
eSome adjectives can only be used attributively.
e.g. main, principal, chief

-the main reason is v/
-The reason main %

* < Lt 034050 of oS4 claall (s sattributively:
- oY) Jd Lekai Jedl I(N) I Spredicate
Jis: (main, principal, chief) ki au¥l Jé jelai ciliall o3a
e Some other adjectives can only be used predicatively.
e.g. afraid, asleep

* S Ladh podind ) (e 5 AY) cliall (aspredicatively :
A i an) axy ek il sipredicate as¥) U8 ekai of LS Y
Jés : ( afraid, asleep )
-GS Ladd Al aay edai ciliall sdapredicate
-J 88 : The man is afraid
My brother is asleep
Jsdl biCay ¥ ¢ 5 : Asleep my brother here
Afraid the man is here
kx ) e sl LB 4 salspredicatively :
A 8 claall o 1shaY : Jsispredicatively = Ll 48 sue (585 (@ slan ) < cliall A cpe sl c Sl aSaclui 21
e Adjectives used only predicatively tend to refer to a temporary condition rather than a permanent
characteristic. Look at the following adjectives referring to health in the examples below:
e.g. 1. The old man is well today.
In example 1, “well” is a predicative adjective that shows a temporary condition.
* ) L axiius clialipredicatively ) )W saletemporary condition) - (e Y (48 5« ala(permanent
characteristic- 4«2 4pald ),
*Om @A (8 aS (temporary) s (permanent):




Temporary > 5 jual o2al &
Permanent > 54lshoad 4 5)dails — |asting)
Jbs: (The old man is well today) < & o ¥ daua
dllwell > predicative adjective e 2523 4 stemporary condition) - 485 4lla )
Jsaadl da 013 (The old man) b oS 8 s Al Olnl (B 5 m e 5% 38 ) amy i ¢ el aay Jmdl dsmy ey 8
5 lies daa,
-J st Ladie 1 The old man is well today 43 iz 1368 « (temporary- 3 5 Cuall 3 S 4 (g je lae 585 8 5 (e
Sl gl A G e,

Compare example 1 to the next example, where the adjective “healthy” refers to a permanent

characteristic.

LS o Gam ¢ Y JEal ) QU o)l GY1“healthy” G s (permanent characteristic- il dpala ),

e.g. 2. He is a very healthy old man.
The old man is healthy.
He is a very healthy old man- <. (permanent characteristic- 4xils dpals ),
Aaall o3l (e 13 (g yar La 1500 55 3hae Aaaay jsaall da )l 138 " healthy" oS Olpredicative adjective) - 44a
s saiwsAttributive Adjective - 4dixi i) e 2523 s(permanent characteristic- il 4pald ),
¢ In a few cases the meaning of the adjectives changes according to its position in the clause.
e.g. Ahmed was late. (Ahmed did not come on time)
The late Ahmed Al-Ali lived here. (Ahmed Al-Ali, who is now dead)
iy < Lz g u.u\.u\ Sle i dsall Jxall alld YL @claus/e .
- o) 2my W sels e it ina Led () oS an¥) Ui dball < pela 1) T
Jis: Ahmed was late
WS Liae (late) Hasall gl 3 ol ol daal of 8 dlaall e
-(late) predicative adjective 4leall o322 & a
-i.K (late ) Ui i U S8 "Attributive Adjective" 4l Jiall & LS: The late Ahmed Al-Ali lived here.
Ahmed > N
The late Ahmed Al-Ali > & 5 4xaul 4o a3aNP
late > Attributive Adjective =Y J& & ek 5 (N)
here > of s lissAhmed Al-Ali sl i el
The late Ahmed Al-Ali < Jall gl 8 Cus padd 58
Al ity Saall 13 (late ) S Leeadiui g Lelan Laxie Attributively
ALK ahaaiu) LiCe okl (late ) Attributively olsY) daall Jiae (uds a3 (Ahmed was late) s
The late man fined be arrived
4SO laad deall 038 L (late ) Wil sl anl) J8 el " Attributively” 13) (S1s-, Juas 28 jaliall da )l of ied & (ST
Al aadind e 38 Lo fasf ol Jsill Bayf (late ) S hiAttributively awd) Jd | - Jsil) <ol 138 ) sy iy ieall
LS andiin o)) @liSay aaadl) gl 8 oy &l paddll o (late) SAttributively sipredicatively ol sl & i laxie (Sl
Gle B Gadd> 4 aladiul Sy (late) SAttributively ks,
Exercise:
Decide whether the underlined adjective can be used only attributively, only predicatively or both.
a. only attributively b. only predicatively c. both
1. He is a smart student.
Js8 LS Ja> The student is smart WiSay aai €
A T3smart < lewladinl (Sadl ceAttributively sipredicatively
s <lsalle, both
2. The child is asleep.
AS o 05 S3 LSasleep ) o8 and) an V) ) sedall LSy ¥ ) daaddl clicall (e apredicate Jsdll LiSe D «;
The asleep child is awake now
LK 1Y) (asleep) I 3 V) aasiu Ypredicate saYU sipredicatively
s sl B3lb. only predicatively
3. One of the main causes of lung cancer is smoking.




48 (main) ¥ J8 <l (causes)
main> ¥l Jid Gela 5 ddal)
causes > s
4 (main) wels "Attributively” 56 o) oS da oS35 ¢ "predicatively” AU 2 LS ¢ €
The cause main of lung cancer is smoking
AT ¢ W€a Y Y (main) hé GAttributively
9 zesaall Gl allg, only attributively
4. Are you afraid of the dark?
o g 65l 020 a3l 1A 5
&) s ) caagy L (statement- Jsié (g pal;
You are afraid of the dark
AWK of aafraid J 2 <elapredicate 2x: (are) < 13lpredicate ol lebiss3 Wiy Ja cAttributively WiSe Y.Y €
Oaladl) o3 (e Al 5 jaall 4l gb (afraid) s < sall 13 <b. only predicatively
5. This runner is fast.
Jall i€ :He is a faster runner
The fast runner is here
L alasia) Sadl (4 13) (fast) Spredicatively sAttributively
s sl i3le, both
Adjective Phrases
Adjective Phrases :
Adjectivephrases are composed of an adjective (which functions as the head of the phrase), a modifier
(mostly an adverb), and a complement.

dhua gl) il sl
o lls dda 5l 5 jLall:
1-adjective - 4da< 3 kall Gl S desd A 52- modifier - Aase< Cish o S5 leakiza3- complement - 4lSa
S g5l Alia gl @l jlall:
1- 5 keall (ul 5l & ddiall o2 dik g g Jaih daall o (g gind 3,
2- Jla fale () 5SE Alseal) o3 5 Adaall g diiall Lo (g gind S,
3- AL el Jle (s gint 3,
4- L&A 5 Ued) 5 daall Jlo 5 gint 38

Modifier

Head

Complement
good

good

at Mathematics
very
good
very
good

at Mathematics

Jedal) sl

1- good < La s lual ul ) (& gl s 5 4dua Lia,

Laid saal 5 AalS e V) (o 5ind Y Ll (e af Il diia sl 5 Ll W sens o (S (e 4 sane Ao 3 a3 5 el () U8 Bale WY
S aadins of Wiy oS 5 (Phrase) Wl oS 13 Lyl danad) £LY) e (Tow classifications) <l jbe L (i L

‘ Lg)iimj@adaﬁﬂ‘\#é}(muﬂ)m e sl A gﬁi aba s &l le i),

- A sex o) LSy 1] (good) W alic 5 4 saill ) il & 5 Levie Jaw) ) saY) Jrad ddia ol 5 el




2- good at math

at math < Jsa 5 Ja 5,le) A — Proposition phrase) ol U 4leSa idida s 5 (good) .

good< 3Ll s3] (ul )l & saia

3- very good < (# Jaxa) astia g5 jle a)

very < sl 4l i Ja 5 Js 2 (good)

good < 5 all sded Ll 1) 4 5 4ia

A- AN paliall Ll Ua

very good at math < 4day3 e A

very < ol L8 Jaes 5 s (good)

good < wi}\@jm

at math < s 5 Jla3)e) & — Proposition phrase) il 4les itk 5 5 (good)

e Gradable adjectives are adjectives that express a condition or quality of which there are degrees.

Olaall sl ub)ﬂmy}\w}uc )Asuu\smsh AAJ.\.\.AS\ cldall |

Lstadn d Vov cysiadn o Ve dysiadn 0 00 dysieda;n ) dagiednn v ) Gla L claal) il daua)
~cla 5o W 0588 of clanall K4y 131 (gradable) &5 sliie sy e Talaic
For example, “good” is a gradable adjective. There are degrees of “goodness”:

S ol bl 13) 1 QB dass e “good” (& Sl Sl iy 5 4ia 48 (gradable).

*ald Gl o @llia (goodness):
1. High Degree
e.g. very good

1- Axd jall) ddlad) da jall):

J&/ very good

4lS Limlvery om o)l o« 8l e Libaxilgood svery good < 3 kevery good (= ¢ siigood

2. Excessive Degree
e.g. too good
2- dadgia il da )
excessive< 4izd i L €I < L“gi caad g3 S5 6l o G laling,
JB/ too good ¢(It is too good to be true)
ﬁJJ‘°J€J‘mU)&U“‘@JH&U‘é US"?J‘&‘JML}“J"S‘J@ LAA_).\S\M\@:.IG%}
* J 8¢ Wi laiel¥) & s da jd Caeal of Ba i 13);
-The test is difficult < 4xa 2
-The test is very difficult < cal 2
-The test is too difficult < dall ghiul ol 5l da )al dea &
3. Sufficient/ Insufficient Degree
e.g. good enough, not good enough
3- 4g8ls jal) 5 [ agdlsl) A Al
Lo s il (S e JS 5f S JS) (mar s,
J%/ good enough
Laa,ll Lo oo paiil lS IS5 s Wil imay a5
Al JB/ not good enough
Lol Lo oo il LS S5 oam o,
4. Comparative Degree
e.g. better (comparative form of “good”), smarter (comparative form of “smart”), more beautiful
4-&)@\ %Jﬁ\ :
O O ) a5 Le AT A5 Jaall A ol s,
JGs/ better < 4alSl 45 jaall 4a ol & " good”
smarter < 4l 45 jaall 4a )3l & "smart"
more beautiful < 4alS1 4 jaall 4a ol & " beautiful”
5. Superlative Degree
e.g. best (superlative form of “good”), smartest (superlative form of “smart”), most beautiful




5- dxlukaill) da jall;
Odd 0e SIS e et Juadil a5 Le Al dluaill da ol
JUe/ best < 4l dduadill 4 Al & " good"
smartest < 4l 4luadil) 4 jall & "smart”
most beautiful < 4l Lluadill 4,0l 4 " beautiful”
* Some adjective like “complete” are not gradable. They are not normally compared, nor modified by

7

“very”, “too” or “enough”.
* Jie clicall (axy (complete) 4alS ()Y 4 5lite s Lo ud (complete) el 5 a8 8 o 2811 O Waling,
A Layl 5 (perfect ) leie da o el o aa g Y 5 A3 glite il o e G,
Led by 5 ¢l Y Ll oauall (e ciliall o3 (very- too- enough )
e Adjectives referring to shape (e.g. round, tall) or size (big, narrow) can only modify countnouns. They
cannot modify mass nouns.
e.g. This is a big building. (INCORRECT: This is big water.)
*JSAl ) 1 e agad 8 Glaall —shape ) aaall) 5 ¢ —size)
- ( J&) —shape ): JY«/ round, tall
- (>l —size ) : J&4/ big, small, narrow
* A1) 33 50ma yll slend) Jand o LSy Y 5 52 sanall slen) J3a3 L ¢ anall 5 ()
JE/ This is a big building
big < s>~ s (refer to size)
building < 2s32e aul
Ll ;@A@mal\ < (big) axall e 2 gmy 43y ¥ Jd
-J & Laie (St This is big water
Al el (Y celall aad () LSy W A8y Aalals Alaal) s,
*¢ V) Ll Gy Al 6 ,aY) claall Jiashapes) bl aaallS Gl sac ) i ],
Function of Adjective Phrases
Function of Adjective Phrases:
1. Complement of Subject +BE
e.g. Ahmed is very intelligent.
ha gl @l jlad) Caills o
Ol luall AU Cailla 6l o3 () gagdine Taua W gaiagd 13 ¢ 5 yaadl 5 Sladl ol jlie 5 dnan) col bl Cailla g e Tala U K3 o8
dda .
1- A3 ghsh Jad 4 Jeldll Alagal):
AlaSall o) Liay W g Alaadl e JaSil 4y 5 pn (4 ALS,
— el Jad) ()5S Adds ol o2a 8 & i)l Jad- main verb)
J%/ Ahmed is very intelligent
is< walaldl 8 o jdall ClEl Cahall dxpa g s dlead) a2 8 ) 5 Y] Jadl
Ahmed < Jeld
very intelligent < Jsill LiSay 2 ¢ dlaal) ima JaSil Ahgn LY dlaaldl (e 3 jliall 028 Cada Sy ¥ 5 ¢ 43hia 55 ,ke © Ahmed
is Jsti o o ¢ dlaal) ¢5 50 Ahmed is very intelligent
2. Complement of Direct Object
e.g. He found Ahmedvery intelligent. (He found Ahmed to bevery intelligent.)
2- silall J griall Alagal):
) JE/ He found Ahmedvery intelligent
s ke deal o Gl 4l s Aleadl e L
-ds8 of liSay Y7 (He found Ahmed) (L aafsas g5 ailn S 2aa) G ) ni g dlaad) Sine (o pins 45Y ¢ dleal) g g Laid
aall (o adlay) 3y 5 Al Gl (xall 128 5
very intelligent < s& 5 ilull J s2iall aleSs 4 (Ahmed)
3. Pre-Modifier in a Noun Phrase
e.g. My very good friend is coming to visit me.

3- dpaml ke (B 8 Jara

JB/ My very good friend is coming to visit me
friend < G0 585 Al

very good < 4sass e A




) My very good friend < 4wy e Lo 5 dzand 3 e o8,
- dghia gl 55l 13) (very good) as¥! cilie (friend) aw¥) U8 Gl ddia ol 5 5Lall O (friend) Lad 3Ll s2a sla 3
Faaud) 5 jall i,
* AT anls lgdasing 5 Y3l Alla 8 ddall Lgiaca (e dans¥) 5 lal) an ) i LSl 5 ¥ amall oy 3l Ga i 13,
-5l 2235 (My very good friend) = Wdaiwi 5 (he) Js88; He is coming to visit me
diﬁgzw\s)gﬂ\oi@ﬁm&w_
4. Post-Modifier in a Noun Phrase
e.g. We must find the person responsible for the robbery.

4- dga) B e (A g2 Jira

J%/ We must find the person responsible for the robbery

the person < sl 58 5 aul

/ responsible < (sl Ul (sam) Jana 58 5 4da
- SLlS 5 Ll o3 Jadiss o (Sadll (1 13) (the person responsible for the robbery) aais (him) gas:
We must find him

-dacall of Laadl (responsible) s Jase) ol I Jaxd g8 san¥) 3 Ll pe s 5)

5. Head of a Nominal Group
An adjective can be the head of a nominalgroup in the following special cases:
5- 4l 4.::}4;.;:} u.ui)j\< Lald alls o2
* V) 05 Apan¥) e genall i ale (ul I T Ul 5 dpan) O jlad) 5 Gl de seadl (e Gl Uiy (N)
* b LS dan¥) de sanall 8 Gl N 8 ddall 0 65 S8 Aala cVs b oS
a. with a number of adjectives that refer to a class of people.
These adjectives include: blind, homeless, poor, wealthy, young, elderly, living, dead... etc.
The following are examples of nominal groups with an adjective taking the place of the head:

o) (e A8 ) i ) cldall e 2 pa -
Jis/ blind, homeless, poor, wealthy, young, elderly, living, dead... etc
- S5 Lavieblind csenll Cobeaddl G 8 I LI (o ki (a8 La dlen 3,
- SY Laichomeless daall sda (8 (S jilall Ul 438 ) LA el (a8 Lo dles (8,
- Sy Laiepoor Al Ada (g (S jidall Gulll 438 ) LDA e el add e ddea A
—deal) 8 dgan) 4o senad Gl S Lealasiinl LiSey ciliall o3 ¢ &),
* adia )5S e Gl )ll) dgand Gile sana o 3001 ABLYT):
We gave money to the poor. (the class of people who are poor)
The wealthy must help poor people in our society. (the class of people who are wealthy)
The young are our hope for the future. (the class of people who are young)
1- the poor < (NP) & e (sl )l 5 (43aul 4 5aas) 2 5 (poOT).
AaS 13 (poor) il ddaa b (S jidall Gl (pe 2l diia o,
2- The wealthy < xix) 4iida - subject) s 5 0 55236 LS (NP) s 33ladl Jeldll of U S3 LS 5 ¢ (NP) 4S5 (wealthy)
anl) Lial Ui cdaau) 3 lall Gl ) a5 4da oa-N) 313Y) Lual Lié (The) 4aall 5 (wealthy) «(The wealthy) s
(NP).
S 13 (wealthy) ) dda b S jisiall Guldl) (e 2l 4da 2,
3- The young < (NP) s s daall Gl 5 4aanl 40 sane & 5 (young).
A8 1) (young) wladd) dia A S jidall (Wil (e 4 dia A,
b. A few adjectives referring to abstract ideas.
e.g. The unexpected happened. The unknown is frightening.

ot Aulil) Aall A

A | e c,-.—“‘” Oldall (pany (abstract ideas - ilac ‘;J OsSS Jasd L@-ly Lol W g Ly ) LSy Y c«l:hi\ Laliaa (bd‘).;A _)15.5\
J%/ The unexpected happened

The unknown is frightening

LIS ((unexpected sunknown) aié U lla 8 Jsad SIS e 3 )l Lagh lagusal YV 5 Laginy ) LiSay

—dgand B le B dzanl 4c seaal (ul S () jelat B Glisall i,

- The unexpected< i) & — subject)itall ¢ (Uunexpected) s asew¥! de sanall (ul ) & 5 4sanl 3 le 8 Cela
3laYL il (The) .

- K1) (unexpected) &) s & 5 Asend) de senall (ul ) 5 4da oo (abstract ideas - o2 ae J\SE) |




-The unknown< xix) & — subject)iiall ¢ (Unknown) sk 5 dsend) de ganall ul I o8 5 dsen) 3 le & Cela
s (The) .
- K1Y (unknown) Y s & 5 Ay de seaall (i) 5 4dia & (abstract ideas - e ae J\SE) |
c. Adjective that refer to the people of a country.
e.g. The English are very polite. (the people of England)
The French are very interested in fashion. (the people of France)

AL pall ki (o (s ) s s s
J&/ The English are very polite
The English < (12 — subject)iiall 5 caanl 42 sane & 5 ¢ (English) Lsawd) de sanall Gl I o,
A< 13 (English) |ladl &153 (e b cpdll Gl ) o dda 8,
J%/ The French are very interested in fashion
The French < (1xix — subject)iiall 5 caeul 42 gana & 5 ¢ (French) dses¥) de senall Gl ) oo,
LK T3 (French) i 2150 (e ot Gdll (ulill ) i ds s,
Exercise:
Identify the function of each of the underlined adjective phrases below.
a. complement b. modifier in NP c. head of NP
1. The driver responsible for the accident paid the fine.
responsible < (sl U (s3xs Jase (& 5 44a & (driver).
’ The driver < o/l s
2l sl 13lb, modifier in NP- dxau¥) 5 jlead) Jlagivl WiSay 45Y $Aaull 5 lall Jaze 431 LB 13 ¢ (he).
2. The driver was careless.
The driver< S
was<uh‘;uuid,jﬁji\j,.gﬁ\daj
careless < 4leSa Ciela Lia j4dia a
-Js8l WSy ¥: The driver was 4«1Sé ¢ ddaall ¢ s(careless) dasll ae JaSil age 2 ga g,
4 sl B3la, complement
3. He is a careless driver.
careless < Axau¥) 3 )Lall (30 ¢ 3> 58 (a careless driver) oI 18 Jase 58 5 (driver).
4 sl 13b. modifier in NP
4. The police found the driver guilty.
guilty < 4 Jondall aleSa g8 dlaall Jina JaSil Lealiss (driver) .
The police < (J=l& — subject)
Found < Jxé
the driver < 4 Js&
*J 55 of gakiwi ¥ 1 The police found the driverdd) aa g o yill": muad Allay o ) Siaall jaies Sl BB ) a5y ("
ide g (Giladl o cafl o il o gz Alaadl sl b alliay) o) all ixall oaa g 28 ol g adlia oIS L) of o |
A 13) (guilty) dead) ine JLSY daga o |
& lsall B3a. complement
5. The elderly must be respected.
The elderly < (12 — subject)
elderly < 4pau¥l de ganall ul Hll & 055 ddall () Caay Wl 83 ) dalall SV (e A 5 b,
-AS(elderly) I dia 8 S jidall il o 4l 4ia o (elderly)is duen) de sanall Gl 1 o2 ¢,
A 13 (elderly) dpas¥) 5 5bal) & ol )
& sl Be. head of NP

dalil) 5_palaal)
Adverbials
(Adv)




gl
Adverbials (Adv):
* An adverbial (abbreviated as Adv) can be a single-word adverb or an adverbial phrase.
e An adverb is a word like “here”, “tomorrow” and “quickly” which we can use to say where, when and
how something happens. It can also express other meanings like frequency, degree... etc.

e An adverbialphrase is a group of words that does the same job as an adverb.

- o paidg 38 CaLli(Ady).
-0sSy 38 hall;
*oaal 5 4alS> e 5" adverb- I,
* 3 ke> e 5" adverbial phrase — 4 )k 5 e,
-Jlall: Jie 448 s (here- tomorrow- quickly) hx sed s la e o5 (S 5 e s 0l ) g sil deaiiad O (San (g3
S Al glae e i of Load LS 5 (sladl s dpmagll 5 i gll) e cilashes (frequency - 22l 5l il 5il) s(degree -
sl 5l A all),
-Agh Bl 3 el Jall Jee Gl Jat ) Gl (4 Ao sana 8,
Adverbials include:
1. Prepositional Phrases
e.g. We were waiting in the lobby. (adverbial of place)
Jadid gl
1-osoaall 5 )l s jle
Ji/ We were waiting in the lobby
in the lobby < (lSall o yka Uia el S8 5 H5 30 5 a3 ke o,
* g el s le Ugd cluall &igon lSa e el 486 408 Hla el Aleadl ol (3 5 cdd Hla (S5 08 g adll 5 sl &l jle
e @sial )yl
In< a<a
the lobby < NP

2. Noun Phrases
e.g. | will visit my uncle this afternoon. (adverbial of time)
2-4pau¥) &l jlall
JE 1 will visit my uncle this afternoon
this afternoon < (ANP Gl o laS < gl uds 8 JaaS S8
Kaaay B o o 3 o 8l Cgan g e e e 30 Ca S A 5 jlall gl Ui
this < 5L aul
afternoon < N
3. Clauses including:
a. Clauses with a Finite Verb (finite clauses)
e.g. We need to leave before it is too late. (time)
LIS (55 38 5 el Hlaall 5 Jaall:
sadaall il jlall) g sl 138 seni 5 caama Jad ae e )
anlleandlicge ) G e i sasaall < jlall o il U L)
J%/ We need to leave before it is too late
is < 33sa Jad) sa- finite verb) sallgaddlliejll) cua e k)
-B)Qs)‘;dmdaj\jd;_g 13) Laanea U <3 U~y — clause) Lay m.\.;.ac_.\mSB‘)LyJ\ 0dgd |
-5,ke 13} (before it is too late) che il oyl & 5 jladl sda Ads 5 13) ¢(pe ) Litkae,
b. Infinitive Clauses (non-finite clauses)
e.g. | am playing to win. (adverbial of purpose)
sddna pall «La\j.yﬂ).; &}.ﬂ\ e seai 5 cdy jdae Gl e -Q)
* ) ol ales LSNoN-finite o5 S;
* )laspresent participle ( b + v + ing)
past participle
JY/ | am playing to win
to win < Juae s (to + base form of the verb)u=al) s dagiil) 48 jae 8 Laclud Cayla aela L ¢




c. Present Participle Clauses (non-finite clauses)
e.g. He ran down the road, breathing heavily. (manner)
s23na Lyl ol Jlall) g il 13 ge iy ualall S iy sl il jle 2)
J%/ He ran down the road, breathing heavily
breathing heavily < (58 Laclui o jla lia Ciela 3 5" jliaall Jeldll ad 3 jle: AT e palall 6 pali s e o
Lot laai ol b ol sl 3 jaa
Exercise:
Identify the form of the underlined adverbials. 4xall s Ua i glhaali>>>>
a. NP b. PP c. finite claused. non-finite clause $ JR&>>>>
1. He visited me in my house.

P.P

In< » <
my house < NP
A sl 13 b, PP
2. He is studying to pass the exam.

g oxadl Jeldll Ll (to pass)
-J=dll (pass) = oLl O 2y jaas sla (to)
- 058 Wl aladl) )i e Wl 5> non-finite saase ye !
4 2l 132 d. non-finite clause
3. Ali has an exam this morning.
(NP) 301 % o b e les (when)

this < BJLSJ e.ua‘
morning < a=l (N)
& sl 130: ¢, finite clause
4. | will give you my homework after it is done.
after itis done < s_le) & 5 (el 4 e & Laclus — clause)
is < ddsna a8 54
I ol U sclause eaxae) 3 bl muaind saae Jad Led Laa 5 13- finite clause) << s < sall 13 : ¢, finite clause
5. They walked together, smiling widely.
smiling widely < s33xs 2 3 )ie ) & — Non-finite clause) L ¢ 25 & slu 4d jaa & Laelug,
smiling < J2i + ing s 5( non-finite — 21ae e )
s sl 13 1 d. non-finite clause
Many adverbials are adjuncts; they provide additional information, are part of the structure of the clause,
but are optional. Adjuncts include adverbials of:
. Place (position) telling us where (e.g. in the hall, there)
. Place (destination) telling us where to (e.g. to the door)
. Time (when) telling us when (e.g. at nine o’clock, today)
. Time(duration) telling us how long (e.g. for 10 days)
. Relativetime telling us how long ago (e.g. just, still)
. Frequency telling us how often (e.g. always, rarely)
. Degree telling us to what extent (e.g. almost, barely)
. Manner telling us in what way (e.g. carefully, with care)
*ay Jial) dgal ) e Ll LS aal il 5 cpal 55 () 5S5 08 g Hlall) << dnabiad) B pualaally 138 L83
Aln) e slao 1 Lo g Aleall il JS) 3 Rogn 2 51,
e smally el ol e 8 Walatils LS ¢l 558 Lgisla 5 5S35 38 (o gl (po apaall 13,
-4kl 4 - optional
—)kia) o8 55 kel e 86 3a (& - part of the structure of the clause, but are optional
~iila) e slea 38 4 - provide additional information
*d G gob Jadd ol sil):
1-dgrda g) hSall i) o cl) e U )

cONO U A WN B




JBe/ in the hall, there
; 2-443 ) Olsall ciB) 1 ol ) e L)
JUs/ to the door Jhe Ll ) caald L ad s (e U iy Mohammed is going to the door < <l ) cald saasto
the door < destination” — 4¢>"
3-a) Gl diph) 1l e S Gaa i) " e U i)
) J/ at nine o’clock, today
A-03a) Cla 3l ) 1 (3 atul B (e o) e U y)
JY/ for 10 days
B B gl i pB" g B gl) dpaadl LB 1 e S 1) (e o) 0 Uiy
JE/ just < 1 just finished it
still < Istill here
6-L180 Gl oS Bale S ) G Ly)
JB/ always < ¢« Wilargrely < 1l
7-edad Gl sl ) e Ldy)
Jbe/ almost — <l s le< | am almost done my HW. < ) elei¥) iy e il dy a5 (e Gl il Jimay ol Ui
; ; i)
barely — JS< | barely finished it while my teacher woke in < ¥ (1 5l sl o e oeilo € ) oling Lia
Jia,
8-La haail of &l gl ol cglua Cipli; 4y yla ol ) e Ujay)
JE/ carefully < do it carefully
with care < do it with care <you should handle it with care
Exercise :
Choose the type of the underlined adverbials.
a. adverbial of frequency c. adverbial of degree
b. adverbial of manner d. adverbial of relative time
1. He always drinks tea in the morning.
always < adverbial of frequency - _)_Sill s lac< ga il gall 13: a. adverbial of frequency

2. The climbers barely made it to the top of the mountain.
barely < adverbial of degree - L da_al Cajlic< s Gl sall 13 ¢, adverbial of degree
3. He finished the exam gquickly.
quickly < adverbial of manner - L Jaail 5 &l of Gl Gajlac< g8 il all 131 @, adverbial of manner
4. My friends just arrived from their trip.
just<adverbial of relativetime - L Jaail 5 &lslul §f aslul Caylac< s il sall 130: a. adverbial of relative time
5. They bravely climbed the mountain.

bravely < adverbial of manner - L Jaail ol 15l §f gl Cajlac< 5o lsall 13 a. adverbial of manner
Note: Similar to gradable adjectives ( Lecture 8), some adverbs of manner can be gradable. We can give
different degrees of the meaning conveyed by a gradable adverb. The adverb of manner “carefully”, for
example, is a gradable adverb.
e.g. very carefully, more carefully, most carefully
Some other adverbs of manner, e.g. “perfectly,” are not gradable.
¥4 galar- e 4l 5 palaall i Wasi " gradable adjectives "
-l o L s a8 Ll o G slSU 1 aY) o,
- ALl A ) (U8 (pe) DDA (g il 5 el g (35l il ) Adlide a3 pas of LSy,
¥ & gl ol Gaslul Jlad) "carefully” da L @ilite Jla) s JUsS - gradable adverb ):
very carefully < High Degree - 4xii ll) 4ullall 4 all)
more carefully< Comparative Degree - 4i,4ll 4 )
most carefully< Superlative Degree - Lluadill 4s )
*Jia ¢ Al @l o Gslu U1l (s completely — perfectly 15358 of 0Sa: Y ¢ (gradable-da Al ki)
Position of Adverbials

Position of Adverbials:
Adverbials can be found in three main positions: at the end, at the beginning or in the middle of a clause.




; g Bl pl ga
*aguld gl e ¥ 3 ladad 38 gl
- A i A e Caatidl) Jaw gl d)
1. Final Position
It is very common for adverbials to appear at the end of a clause.
e.g. Thank you very much.
1- Al i gall:
sokall) dled B Leda of bl sliadll e-clause) .
J%/ Thank you very much
very much <3 Lall) 4lgd A jeb B 5 i)k sa-clause) .
2. Initial Position
Some adjuncts, e.g. adverbials of place (position), time, and frequency can appear at the beginning of a
clause. The purpose of this position is to focus attention on the location, time or frequency of events and
activities. For example:
Two daysago, | saw my dear friend Ahmed. (focus on time)
In Riyadh, there is a big celebration. (focus on place)

2-4023)) quda ga:
oyl ¢l gl yanyannia ) WA)- “place (position) 5”7 Okl- time" LS - frequency” Al A1 jeday 38
3_ball)-clause) OlSall ik e Gaatiladie) adsall o 58 S 5ol all sl s 4l G aa ) sedal (e a8 el
cigll o sl (5bad) 8 Las(@aiy) 5 a5 S el (el e Gl Laie,
“laall b e sbeall (mad aaiosall oLt 2 3 5 Caaaialls
-Jial) dass e Two daysago, | saw my dear friend Ahmed
Two days ago< (=) e < 5l)
- 52 13 aga i e 3l O by Gaanialld (g 3 e aaosall ol A8 ga ) g Aol sl 55 Al (e e 3 kil Lidal
Al e,
-J 58 83lall (4«; | saw my dear friend Ahmed two days ago
Jsill Laad Sedll (30 50 Two days ago, | saw my dear friend Ahmed < Wasa s age dlalill Gf JaadU Lia
Al Jla: |n Riyadh, there is a big celebration
In Riyadh < (US4l e 3.8 5ill)
- Js8 8aladl (2 There is a big celebration in Riyadh
-J s Sl e aivsall oLl <l Lo i 13) Wiyl el (3a 5 2 In Riyadh, there is a big celebration
3. Middle Position
Single-word adverbs of frequency, adverbs of relative time and adverbs of degree normally appear in the
middle of a clause. Their position is immediately after the operator in complex verbal groups (Lecture 5),
immediately after the full verbBE, and before any other simple verb:
e.g. We haveoften talked together. (after the operator “have”)
We arestill waiting. (after the operator “are”)
We arevery tired. (after the full verb “are”
We stillhave some money. (before the full verb “have”)
We sometimesgo to Jeddah. (before the full verb “go”)
3-ciuaiiall) b gl puda 3a) ;
b Jlsadl s o)) il S (frequency- <) Sillrelative time- ¢l 8 ldegree- daws 8 jeki sale (Loda o
5 jLall)-clause).
”55.\3\ Jsi ) 938 >>> (585 agaudl ga
1- 2y(Jelall- the operator) saiaall ddadll Cle send) i1, (A U S3 Asaldd) 3 ualaall B)
2- 158 (b)) JalS 45 5l Jud daa,
3- al Ly Jai ol J&,
Ji/ We haveoften talked together
-(often) dalall 22y ¢\ (have) .
~3aiae dolad de gana Ll (have talked) <(have) & s Jlsw & sias o) (Sadll (o 5 cJalall s,
-(often) < dalall azy ol 385 (CaLk) Jla 8 (have) b)) dedll J8 5 (talked).
JB/ We arestill waiting
-33820 Alad e sana Wl (are still )4 suSll J=é Wual ¢ (are) daladl s s,




~(still) < Jaladl amy el 385 (k) Jis s (are) (W) =il U8 5 (waiting).
J&/ We arevery tired
) 545l : AalS> (tired) A5suSl Jad 5 (Jla el Oy (el Jod ol Alaall 038 b (@re) sl Jad coela L,
We < geall jiaa sa 5 Y1 Gkl L adls s 5/ Jeld, very < J=dl) axy h s 5/ Jls (are)
are < led s 0 Jadll g5 Aleal) 8 ol Jad / D36 b, tired < Ll Jls
J%/ We stillhave some money
*dal 2l ) ae La 5 AN Ji) JS — operators) JIsa Y1 Jé
have < ulal dadstill < Ji ¢la " have" Ja 585,
Ji/ We sometimesgo to Jeddah
Als i Layl (sometimes go)
g0 < (subul Urisometimes < (osla) Jaill U8 cla 5 Js " go"
Function of Adverbials
Function of Adverbials:
Some of the functions of adverbials include:
gl il g;
*Jads g Hlall (il gl sy
1. Adjunct
e.g. | knew her verywell.
1-a0 aie eLainl) (Sadll (o) dlaad) ixe JWSY (5 )5 0 2).
Jbe/ | knew her verywell< L Lical Lavic 5 4laiSa alaa o "very well" Gas Jaai 5l slal 5l o glos Ul b,
13 (very well) < Lie lixinl) WiSa)) s o <l iy 5ok )
2. Complement of Subject +BE
e.g. That’s allright.
2-43 53l Jad g Jolill dlaSa; Alaall ine JUSY 4 5 pua,
JY/ That’s allright = That is allright
That < Ixisllis < ulal J2é 58 5 J=dl), all right < 4l 58 Cgll Ly 5 Cash
3. Direct Object
e.g. They didn’t tell mewhy.
3- ilall J gadali:
J/ They didn’t tell mewhy< Js8l WS Y : They didn’t tell me this
oV: this < Direct Object sme < Indirect Object
Js8ll b€y <51 They didn’t tell to me
They didn’t tell mewhy
me < " Indirect Object — J=all " il ye J s2ds (tell)
why < " Direct Object — J=ill " )il J s2is (tell)
4. Modifier
Adverbs can modify nouns, adjectives, prepositions and adverbs.
4-J3a; s 3l dsal 5 ¢ Hgsmally lalle clialle slanl) Jaad o) Leia I Y,
1/ nearby hotel < NP
hotel < N U Ll 1) s sNP
nearby < (U Ll Jaad) g8 5l o Ja,
2/ way ahead < NP
way < N A Gl )l sa NP
ahead < U sl Joxall 58 5ok of Jis,
3/ completely new < 4iuay s e
new< diall 5 jle ) Abea gl 5 jlall Gul Il 8 5 4bia)
completely < (sl U Ll Jasddl 58 5yl o Jla,
4/ quick enough < 43iuay 3 e
quick < 3aall 3 jle ) a5l 5 jLall 58 5 i)
enough < ol saxdl Jaxdll 8 5 sk i s,
5/ very often < 45 5 e
often < Ll a5 iyl o Jis




very < Ll Jadl s 5ok o Ja
6/ quickly enough < 44 5 e
quickly < o) s 5ok o Jla
enough< sl Jaxall 2 5 il o Jls
7/ directly through < Js,aa 3 Ja 3 ks
through < o+l 85 H55me 5 )
directly < L&l Jaed) 58 5 sk of Ja,
Exercise:
Identify the function of each of the underlined adverbials.
a. adjunct b. complement c. object d. modifier
1. Are you absolutely sure?
sure < Gl g 5 4ia
absolutely < (sl ) 18 Jaze 25 ok sl J" sure”.
Jsill e 1 Are you sure? 4l « " absolutely” st il sall 13 daall Jaxe 4 @ d. modifier
2. The child followed his father very closely.
very closely < 4ie ¢Lain¥) (Say 5 & 58
1 Al g ek Al sl 1Y : a, adjunct
3. He told him when to come.
He < Jelitold < J=8
him < il 5 4 Js2iewhen < s ol sall 13 il 4 J 52l ¢, object
4. The show ended very quickly.
very quickly < 4@ ks e &
quickly < ol sa 5 sl o Javery < Gl U 18 Jaxe s 5 Gk 5l Jis
s ) 13 2 d. modifier
5. It was all right.
It < laiall
was < mbol) Jadl) 58 5 45538 Jad
all right < AleSa) (& La 2yl dada 5 1) ¢ Alaall ine JeSy 585 k) s el 13 b, complement
o dan) & jlal) — il @) e ddda gl &l jlall — g aal) g ladl Gl jle ) o8 daal ja 0 98 B pdilal) B ualaall
4 Bl @ jlal) )

5pilal) 5 _ualaal)
Basic Types of Clause Structure
Basic Types of Clause Structure:
* In making up a one-clause sentence in English, we have a choice of five basic clausestructuretypes in
which all the elements are necessary.
* These basic types can be expanded with other optional elements like adjuncts and modifiers.
» Each of these five types follows the basic pattern: Subject (NP) + Predicate (VP).
e In each type, the subject will normally come first and is the followed by a verb phrase.
* Only the composition of the VP changes in each type.

) aall i 3 ladl U dpulal) g1 639):

~jlad) o] ) Ll dalii 5 ¢ sanl 535k A lal Al 5 Aag Jea 8 Adag ) jle 28l

—oaal 55 5ke ) elid dpulud (3 )k © Lual 13- one clause sentence) « ael aabiall () Canal o aelaid 5 iy Jalaiyl 421 &
s paliall ol

~alea 5l 55ke ) el Al g5l (e il s 0 LAl 13 — clause) &5 mabic Claclll oda (e JS 8 5,

-l 038 w53 Ul (Saall e — clauses)_pabisl) o3 (mas o LS LS 5 iy i) pualic 5455 i yualic Lial 13 «

A )iy a5 Jelall) iie &y 55 puall jualiall (oamy 5 V3l 5 o) i) —subject ) Lol S 131 13) caliSall 5 Jedll




Aa sia Lelaad C¥3aall 5 ) 5ilS Led ualinll (iany ddlia) (Saal) (e 5 lall dpuilid] 320,
-G ) Jaadll 2 Aadd) £ 631 028 e NS
Subject (NP) + Predicate (VP)
Al " Predicate” JieliacaleSall /i Lol g Al jualic o i aglad de sane o s siny o (Sadll (4a,
- g ymins Auals VS llia (S0 5 digled 5 )l o8 23 (e 5 Aol Ay by o radal) (e (Taiaad) o Jeldll) ¢ ) 5 o380 JS A
5 pualad) g b
S sh o e aa gl CS) 5 e Y s WS iy Jelills ¢ Auedll g1 5V 02 (e p si S o Aabaill 5 jlall (S 5 ga Ly 3
w\ 'é)\..:.:d\ .
e The VP_may contain the following elements:
1. Intransitive Verb (abbreviated as Vi)
2. Transitive Verb (abbreviated as Vt)
3. BE or another Copula

4. Complement (abbreviated as C), which includes:
a. Noun Phrase (abbreviated as NP)
b. Adjective Phrase (abbreviated as Adj)
c. Adverbial (abbreviated as Adv)
5. Direct Object (abbreviated as dO)
6. Indirect Object (abbreviated as iO) )
A pualind) o g giad 38 Aladl) B jlall: < dladl) 5 5lall jasil (an Leday y LiSay Gl jualiall o 038 13,
1-a0% J=d (Vi) 2-2ia Jad (Vi) < (e 5il) S Jai Ua : Ditransitive) - Js»iall JE) <Monotransitive) — salal
Jseadll), 3- 43 gl Jladi(is, are, was, were) "been 2ase e 43S 5 45 53€ J=i-Non-finite verb” ) s(Copula- Jaé
ala gl ) < Jle/He is here
He < Jelijs < Jsihere < 4ia sl Jla
Sl s Jeldl Loy " He" ddall 5l Jadl " here < =i o2 (Copula- 4l 5 il ) Jad),
2 A A Jad (3308 Laie (K1 (have) padiuiu L 5 520m0 e 4530 Jad musid (been) 2 (have). 4-41a8a) (C) s
Jadii & 5 caladll de ganall 3 Lgidlin) LiSay poaic a7 - NP daeu¥) 3 lall< o COUSA (e a5~ Ad] 4dia sl 3Ll
daall s e )) o Adv 48kl 5 Lall5- dlall Jsadall (dO) 6- pilae i) Js2dall (iO)
e The following table shows the five basic types of clause structure in English:
5ball) elid dusedll 151 W jedd U Jsaali-clause) dpdady) 4l i
Type
Structure of VP
Examples

Via.

b. C (Adv)

a. We waited.
b. We sat down.

BE + Ca. NP

b. Adj

c. Adv

a. He was my friend.

b. He was intelligent.
c. He was in my class.

Vt+dO+a.

b. C (Adv)

a. | made a mistake.

b. | put the key in the lock.




Vt +i0 +dO a. (to)

b. (for)

a. | gave him an answer.
b. He made me a suit.

Vt +dO +C a. NP

b. Adj

a. | found him a bore.
b. | found him boring.

1-ds¥ £ sih: [Vi]

/'S + Vi< cliba) oo

We waited > We : S Jeld

waited : Vi aJ¥ Jab

</ S+ Vi+C (Adv) < <Ll

We sat down > We : § Jelé

waited : Vi aJ¥ Jeb

down : Adv Jeldll 5 Jaill dlasa oo L sy il

2- A £ i) [BE + €] <<< cldlaly Laililla

i/'S+Be+C(NP)

He was my friend > He : § Jelé

was : Be 4igisS Jad

my friend : NP Jeldll 5 Jadll dlaSa & Ui Wik o 5 dsanid 3l

</ S + Be + C (Adj)

He was intelligent > He : S Jelé

was : Be 4igisS Jad

intelligent : Adj Jelll 5 Jadll dlaSa & U Wil 5 5 ddua

-/ S+ Be+C(Adv)

He was in my class > He : S Jelé

was ; Be 4igisS Jad

in my class : (PP)Adv Jelill 5 Jaill dlasa o Ui Lgtidada 55 il ) 65 Ll LSO LS 5 jg0ma g Jla Buke
3-&l £ 5l [V +d0] <<< (saie J s2iaVt + il J 528edO

/'S + Vt +dO < i) o5

| made a mistake > 1:S Jelé

made : Vt (siia Jad(J saiall salal 525 U3 — Monotransitive verb)
a mistake : dO i Jg2da

<- S+ Vt+dO + C (Adv) <<< Clilal

| put the key in the lock > 1:§ Jelé

put : Vt e Jad(J siall galal s2xia J28 — Monotransitive verb)
the key : dO dilua Jg2da

inthe lock : (PP)Adv 4laSa & L Lgiih 55 il 0 o5 Lol U S LS 5 j9 024 9 Jads
4-2) ) £ 6 [Vt +i0 +d0] <<< clilal Laililla
i/'S+Vt+i0+dO + (to)

| gave him an answer > | : § Jelé

gave: Vt (s Jad(J siall U gaxia J2é — Ditrnsitive verb)

him : 0 sk & J sada

a mistake : dO i Jg2da

* aladiuly AT JSdy ddeal) A8Lua (Say(to )

| gave an answer to him < = &} & Y5l bl Jseaall i of (Saall (e 43 Lol aleall delua sale) (0 (t0) &5 e

e il Jpeiall




<-S+Vt+iO +dO + (for)
He made me a suit > He : S Jelé
made : Vt aia Jad(Jsaiall Sl (gaxia Jad — Ditrnsitive verb)
me : i0 sdlu & Jgrda
a suit : dO il Jsada
N * aladiuly JAT JSdy ddaal) 48 Lua oSay(for)
He made a suit for me < — & & Yl bl Jgmiall S of Saall (e 43 BaaB dlaall delpa sale) (e (fOr) A (e
ilae aal) J saddl),
5-gualdd) £ 531l [VE +d0 +C] < (4leSe + ilie Jgmie +gania Jad) < 4liSa o (5 ging oo oy L
i/'S+Vt+dO+C(NP)
| found him a bore >1:§ Jelé
found: Vt e Jad(J sxidl galal saxie J=i — Monotransitive verb)
him : dO il J s2da
abore : NP 4aSa o U Wik
*J 58l LiSay ¥ (1 found him) 0sSem (Sinalld callay) ol jall Jimall (o s 43Y Al g o3 Jai( (4323 5 25 (e g @iln S
i Gl b o e 5 ol 4l ) sa adlay) ol el Y s 1 ),
<- S+ Vt +dO + C (Adj)
| found him boring > 1:§ Jelé
found: Vt g#ia Jad(Js2iall galal saxia J2é — Monotransitive verb)
him: dO st Jg2da
boring : Adj Alasa . La Lgidda s
* As we mentioned at the beginning of the lecture, each of these types can be expandedwith optional
elements like adjunct and modifiers.
For example, we can expand the first sentence in Type 1 as follows:
We waited. (Type 1)
We waited in the car. (Type 1 + Adjunct)
* el o Saall o o) Y1 038 (e g 53 S ¢ b pumlaall T U S0 LS 5> cilandll 5 al sll) S 4 JLadl jualie JMA (),
- SIS S sl b (V) Aead) a5 (Saal) (e /e
We waited < ( Js¥! ¢ 5i))
We waited in the car < (&5 + Js¥) g 5ill ) < ALl 028 dsa g agall (3o Gl G815 dlaall s 53 25 Ui,
* Simple sentences have only one clause. They can be expanded even more by combining them with other
clauses as we will see when we discuss compound and complex sentences.
*haih 32l 53 e ) (e g sind Aanall Jeall — one clause) AT Sl b pany aghas ) DDA (e Jeall 228 g8 (Sl (a5 ¢
mtgjsum:uu)s;g\ U_a\)l_.ud\) ‘[M\MQ\)L}A\@JL}M&&SJ& 9 8a3zall Jaall delua W Sadll QAD‘\]
L Anged) Jonl ) Aeadl e 5 e o ST i 0 e Ailn) Liagd 5 Aapead) Janl e c¥anall 5 sl 5l Sils) (Sl (00 ¢
Saiaal) 5 A 5l Janll Uil () Sy (S iap) |
e Be careful not to confuse these five types of basic clause structure with the five types of complex verbal
groups that we discussed in Lecture 5.
*painall) dsadll #1539 G 55 pualaall o2a (8 o bl oLl pulil) dsadl) ) Y1 () shadlE Y — complex) Aaledll de sanall
< duwaldl) 3 jpualaall:
*Basl 55 e e (g giat) Ao e /JUs) > | made a mistake — We sat down - We waited
33320 dlaa - complex (32a)53 ke Je (55i85) > | can make a mistake — We can set down - We can Waite
* Producing “good grammar” is often a question of fitting a verb into the basic type or types appropriate to
it.

* Y (Jadll Al S ) g1 Jals sl ) g il Jaly Jadll s Alle Jlae ) oo 389 oy Llle (saa 43 5a3 5208,
For example, the verb “tell” can fit into basic type 3, as seen in the first example below; and it can also fit
into basic type 4, as seen in the second example below.

e.g. 1. He toldthe truth. (Type 3)
e.g. 2. He toldmethe truth. (Type 4)
* Jaill /e " tell” e oy O Ll (Saall (g 5 Jansils 01 Q) 3 3230 5 LS ¢ i) A g gl go sy 4l
JauL S QU 8 Bad s LS ¢ )l )l o il
1- He toldthe truth< Jdll L ) GGl & 63l " told" J sedall golal gania Jad sla )
He <S Jelb




told < Vit saia Jad(Jsaiall salal saxie Jai — Monotransitive verb)
the truth < dO <&l Jg2da
2- He toldmethe truth< Jadl ba ) al )il g ol " told" Jsadall A (sa2e J2d cls — Ditrnsitive verb )
He <S Jeld
told < Vt (saia Jad(UJsaiall S saxia Jad — Ditrnsitive verb)
me < i0 ilm & Jsrda
the truth < dO &l J g2da
On the other hand, the verb “explain” can only fit into basic type 3, but not basic type 4. For example:
e.g. 1. He explainedthe answer. (Type 3)
e.g. 2. INCORRECT: He explainedmethe answer. (Type 4 is not possible with the verb “explain”)
Jaill s 3l Aals (e "explain” Jiall Jus o ¢ bl @l 1) g il e iy Y (815 ¢l Gl ¢ i) e andliy 8
He explainedthe answer< ki Gl ¢ gl
He <S Jel
explained < Vt (sia Jad(J saiall (salal (s3xie (=3 — Monotransitive verb)
the answer < dO il J sda
*J 8 Bl (e He explained me the answer < J=ill (Y "explained" ¢l seie 33l of (Sar V.
Exercise :
Which of the underlined elements is NOT a necessary element of the following clauses? If all elements are
necessary, then choose “d”.
a. (1) b. (2) c. (3) d. all elements are necessary
1. He was in my home yesterday.

(1)(2) (3)

sl iy e (3)

was < Jad) daall A 5 )5 pa)
in my home < 4l&s) dlaall & (5 55 pa)
yesterday< L) s 5oyl
2. Maha is a good student.
(1) (2) (3)

s lsall 13 : d. all elements are necessary

Maha < Iais) iaall & (555 a-subject )
is < d=d) Aaall 8 (55 02)
a good student < 4lse A 5aay3 ke ) daall & (5 )5 p0)
3. The angry man waited impatiently.

(1) (2) (3)

sl i :a, (1)

angry < 4l aliae o4 5 -4dia) L) "man”
man < Jdeld) daall & 5 )5 »a- subject)
waited < J=8) dlaall 3 (5 55 )
Exercise:
Identify the basic clause structure type for each of the following simple sentences.
a.BE+ Chb. Vt+ dO c. Vt +i0 +dO d. Vit +dO +C

1. Faisal wrote a book. )
s lsall 13) s b, Vi+ dO

Faisal <S Jel
wrote < Vt (sada Jad(Jsmiall (salal 52210 J=i—Monotransitive verb)
a book < dO eilua J g2ia




2. He is a good writer. )
s lall1y) g, BE+C

He <S Jelé
is < V (BE) 4igis Jad
a good writer < C (Adj) 4dasa A g4da
3. He gave me the book. )
s @l sl 132 ¢, VE +i0 +dO

He <S Jeld
gave < Vit (siaia Jad(Jsaiall U gaxia Jad — Ditrnsitive verb)
me < i0 sdbm p Jgrda
the book < dO i Jg2da
4. | found the book interesting.
I<S Jeld
s el 1) 2 d. VE +d0 +C

found < Vt g3ia Jad(Js2iall salal saxia Jx8—Monotransitive verb)
the book < dO J&ilx Jsada
interesting < C (Adj) e A §4da
5.The book is in my library.
s sl 131 a BE+C

The book < S Jelé

is <V (BE) 4isis Jab

in my library < C (Adv) 4taSa A g i ol Jia
Adv (P.P)

Variations of Basic Clause Structure Types
Variations of Basic Clause Structure Types: Common Variations of Basic Clause Structure Types..
Aaal) gl 5 leall ALt s L) £ 5 il piil): Aland) of 5 bl Al o Uill £ 65 AmiLd) oyl
1. In type 1, “there” can be used as an introductory subject.
e.g. Three exceptionsexist. (Type 1)
There arethree exceptions. (Variation of type 1 using introductory “there”)
*The pattern in this example is: There +BE + Subject
1-4aK U5V & sill i "there" adie ¥ a33iud 28U/ Three exceptionsexist
Js¥ & sl (S + Vi)

Three exceptions < S- Jelé

exist < Vi

Therearethree exceptions

asas ds¥l g sl xdlintroductory subject) — 4l alasinly (adiie l5ise " There"

There < introductory subject) — a3 [ )
_are <V (BE) 4isiS Jad
three exceptions < alis fxixe (S) late subject
* 98 " lud)" JUad) 13¢d Jaall) i There +BE + Subject
2. “There” can also be used as an introductory subject in a variation of type 2.
e.g. Some booksare on the shelf. (Type 2)
There aresome books on the shelf. (Variation of type 2 using introductory “there”)




2-1K"There" L3l ¢ sill il b adite 15 223505 87 JUe/ Some booksare on the shelf
Some books< S- Jelé
Sl & gl (S+BE +C)

are <V (BE) LS Jxé

on the shelf < C (Adv) 4lSa & 5k o Ja

Adv (P.P)

Therearesome books on the shelf

dsas Sl g sll yallintroductory subject) — 4l aladiuly (aaiie s " There"

There < introductory subject) — aaic xiw )
_are <V (BE) 4isiS Jad
some books < alis lxi (S) late subject
on the shelf < C (Adv) 4l&a & 5k ol Ja
Adv (P.P)
3. Type 2c, can be reversed when the adverb is “here’ or “there”.
e.g. Mohammedishere. (Type 2c)
HereisMohammed. (Variation of type 2c)
® There are other variations that we will not discuss here.
CalalSh as) 4 k) ji Jal 13 56 Ladie Jad) GlSa Jelall 5 Jelall Gl Ja) Jlasiu) (Seddl (e "here" _gi "there" .
JYs/ Mohammedishere
Gl g sl (S +BE +C) 0% of oSl 0o 5C s2AdV

Mohammed < S- Ixiw

is <V (BE) 45K Jad

here < C (Adv) 4l & 5yl o Ja
HereisMohammed

2y SUl g 6ll padllintroductory subject) — 4lS aladiuly (andia jxis "Here "

Here < introductory subject) — aaic jxix )
i<V (BE) disS Jab
Mohammed < Lalis Ixiu (S) late subject

e daal) §_palaall

Coordination
Coordination:
In the previous lecture, we discussed the five basic types of clause structure.
Each part of the structure of a clause can be duplicated (doubled) or added to by Coordination. For
example, the subject is duplicated in the following sentence:
Mohammedand| are good friends.
The two parts of the subject in the previous sentence are joined by the conjunction “and”.
Conjunctions are words like “and,” “or,” and “but” which we use to connect grammatical units/elements
in a sentence.
e If we combine more than two parts, we usually separate the parts by commas, using the conjunction to




join the last two parts only.
e.g. Mohammed,Ahmed andl are good friends.
*aleall 5l el dnaddl 4l £ ) e Uhand A8l 3 jualaall 8,
*aiusie Aleal) aail a8liak oS5 Gl 5l (caeliad) 4deliah o) &5 o Saall o Alaadl 5l 5Ll 6Ly (e £ 3a S,
Cliliall) Gl 13): duie Alaal) moail dilay) o ddeliad) o Lgiids b ¥V arall 5 ol il Jla ledls .,
- SIS (Jelal) ddelias adaind 38 /SUia;
Mohammedand! are good friends
Calae (o ya A 5 Unyy 4iild) dlaall & Sl SS(and).
Jie Calaall Cas jar and, but, or dleall 8 W jualic i 4y sl culas gl oy 5 Lganaiios A
- ol e Ll Gildl JEd) & (Mohammed- 1)
~pan e ¢l ) deadl (Alaldll) andind ol o e ST day 3 o Lol 1Y) (<D
sl e HAT day  Calaall Ca s
JE%/ Mohammed,Ahmed andl are good friends
alali) s Laaliliad oy 3o Jsf)
~Cile Coya) o Laalilay ol a A1)
) alanll u_'q‘); (and)_

Types of conjunctions:
1. Coordinating Conjunctions (coordinators)
These are single-word conjunction, including: “and,” “but” and “or.”
e.g. | want AhmedandSaleh to come see me.
e.g. | want AhmedorSaleh to come see me.
e.g. | want Ahmedbut not Saleh to come see me.
cibal) g a gl gl
1-Afpnil)) dbeaial) cilanl) Uiy a): << () shuiall) o o i 36)
A el 532 jtie el 13 (33d) Ban) 5 WIS () 6<3 38 Cadaall Cag g
and, but, or
J&/ | want AhmedandSaleh to come see me
and < ) il L= LinSaleh  sAhmed Lre LS,
| want AhmedorSaleh to come see me
or < )l il laliee LnSaleh sIAhmed Lagie 2l 5) Lad),
| want Ahmedbut not Saleh to come see me
but < Cassiul il laliae LnAhmed L & i sSaleh.,
2. Correlative Coordinating Conjunctions
These are pairs of words, including: “both... and...,
e.g. | want bothAhmedandSaleh to come see me.
e.g. | want eitherAhmedorSaleh to come see me.
e.g. want neitherAhmednorSaleh to come see me.
e.g. | want not onlyAhmedbut alsoSaleh to come see me.
2- dday) jiall) 4 Dliall (Abeaiill) Abeaial) Cilanll Ci g ja):
S e (LS (e 5 51) Aan g3 Gl e B be (A
both... and...,
either... or...,
neither... nor...,
not only... but also...
pein Jaldll axe g LI & 3 idas e sy GG
| want bothAhmedandSaleh to come see me
both geand < ¢« wilaeither gsand < (&
| want eitherAhmedorSaleh to come see me
either gaor < « <ilaboth meor < LA
| want neitherAhmednorSaleh to come see me
neither ganor < il

n u ”n u

either... or...,” neither... nor...,” “not only... but also...”




| want not onlyAhmedbut alsoSaleh to come see me
only abut also < <ila
3. Subordinating Conjunctions (subordinators)
4. Correlative Subordinating Conjunctions
We will talk more about the last two types when we discuss Subordination in Lectures 12 and 13.

VY 5 Y s palaall b s S3 sl

3-daadll) daalall Calwl) iy ).
4-4da) iall) A Plial) (Aaiadal) d8alal) Cibaal) g ).
Exercise:
Choose the type of conjunction in the sentences below:
a. Coordinating Conjunction
& Jalla, Coordinating Conjunction
s Jallb, Correlative Coordinating Conjunction
s Jalib, Correlative Coordinating Conjunction
& Jalla, Coordinating Conjunction

b. Correlative Coordinating Conjunction

1. My brother and sister went to Dammam.

2. They are both polite and friendly.

3. I not only like swimming but also diving.

4. | like swimming but not diving.

We can compound/coordinate any level of constituents (grammatical units) - words, phrases and clauses.
*daa 50l le ¢ Ll o4 sad Shan gy (5l) Sl S (e (5 sinse (51 Gl 5l S i iy

Al Sall) (camsay (Jand) 5 @l jlall 5 cilalSll) e 33 38 — constituents).

* Coordination of Words

Coordination can link two or more words of the same word class as in the following examples:
Nouns:

e.g. Footballandbasketball are my favorite sports.

Adjectives:
e.g. My friend Khaled is funnyandintelligent.
Adverbs:
e.g. We must finish our work bothquicklyandefficiently.
~ClalSl) Gt
LIS SN Dl e ST gl ialS Ty ) sl Ciliiall:
1-aml:

JY/ Footballandbasketball are my favorite sports

football < aul

basketball < sl

2-dda:

JBy/ My friend Khaled is funnyandintelligent
Guiiall Calanll o g (lidal) Ll (and).

funny < 44a

intelligent < 44a

3-dia ol il

JEY We mustgfinish our work bothquicklyandefficiently
o 32s Galh Calae i jay J)paY) LS (both - and).




quickly< Jda
efficiently < Ja
e Coordination of Phrases
Two or more phrases of the same type can also be linked together through coordination as in the following
examples:
Noun Phrases
e.g. The old manandthe young boy crossed the street.
Verb Phrases:
e.g. Many of the grammatical terms must be studiedandwill come in the exam.
Adjective phrases:
e.g. The topics are very interestingandreallyuseful.
Adverbials:
e.g. You can wash your clothes by handorin the washing machine

-Gl jlad) Gt

SIS cCalanll Cag yn IR (o lae g sill A i e ST 1 (4 e Jay ) aodaiod Liagl cliuiall;
1-dgam) 3 s

J&/ The old manandthe young boy crossed the street

Aanl 3 ke

The < sl U 18 Jaes (0ld)

old < 3_Lall Gl ) (The old man)
man < oIl saxs Jaxs (old)

and < calac (o ya) Loy 3130)

Aanl 3l

the < ol 18 Jas (young )

young < 3_ k=l i )l (the young boy)

boy < Ll a2 Jae (young)

2-4lad 3 e

J&/ Many of the grammatical terms must be studiedandwill come in the exam

* Baina dylad dlea Ua Wal> (must be studied)

must be < Modal +Infinitive < Type 1

must < Modal

be < Infinitive

be studied < BE +Past Participle < Type 4

be < BE

studied < Past Participle

and < calac (o ya) Loy 330)

* (5 Al Baina dglad Alaa Ua Lyl Lal> (will come)

will come < Modal +Infinitive < Type 1" passive voice"
will < Modal

come < Infinitive

* gy calae Ciyag Laalilay ) (pidine (e (ytic gana Ll U 13) (and).
3-dhuay 5 e

JYs/ The topics are very interestingandreallyuseful

* A A bl 3 Lall : (very interesting)

dda 55 le

very < ddall Jld Jaea a5 <kl Js Minteresting”




interesting < iia

and < Cale G a) Ly 3h)

* o Agilll) Ldaa gll 3 Lall : (really useful)
dda g3 ke

really < aaall 18 Jaes a5 <k o Ja "useful”

useful < 44a

* oy cibe Gy Laalilay ) (yfisine (s s (ke Wl Un 13 (and),
3-43,5 5 e

J%/ You can wash your clothes by handorin the washing machine
o Ag¥ 41N 3 Ll 1 (by hand)

Dsoaa 5 s e

by < )> <~

hand < 4l 3 le

or < il s )a) Ly 31a0)

*ob Al 48 1Y 3 Ll ¢ (in the washing machine)
osoaa s Jlas e

in< o>
the washing machine < 4wl 3 e
* Qlidiaa (i sl (5 le Las 13 i jla s ke 038 Haoaall 5 Jlall ke O LA LSIWS 5 )5 5ma 5 s Wle LadiS
a5 il (o jag Lalihy ) (or).
Compound Sentences
e Coordination of Clauses
A compound sentence has two or more clauseswhich are linked by a coordinator.

48 pall Jaali;

‘ Jaadl (Gadd:

*EJE:.A—E\..\S_)A—R.L:\M.] UJS.\JEM\ O\@Jﬂ\'&_}}ﬂ\ XYY L\m‘_gb_)SJLAS

Calaall Ciy s Aol 53 aghay )y iy ST 51 58 8 Al dlead),

e All of the clauses in compound sentences are coordinate. In other words, they are of equal rank. None of
them are dependent on (part of) another clause. They are all independent clauses.

*Jaall- il 3" JS-clauses " O siiie agrpand A0 5l (8 gl OIS ol dilih a 4S5l deall i,

* A al) Jaall &l maes s A1 8 )i sluiia o435 e-(equial rank.

AT Ge e e o) AT BB e dplaie) S5 ) o3 (g0 88 Y ),

* Al b e alde V) g (e 4G Jas (S5 Ll (g)) Al Dl 38 5 6S5 ) jadl) 28 aren)

The following are examples of compound sentences:
LS pal) Jaad) o ALl ¢ B ke Ul
e.g. 1. Everyone was in the room and the doors had been closed.
Everyone was in the room < 1Y 5_all
the doors had been closed < 4l 3 il
* by "ilae Caa" day ) slaly i el Lay ) &5 (and)
e.g. 2. Everyone was in the room, the doors had been closed and latecomers had to wait outside.
Everyone was in the room < ¥ 5_all
the doors had been closed < 4l 3 il
latecomers had to wait outside < 43Ul 5 jadl)
* a5 "Calae Cayat Jayy haly AN 5 Al 5 sl Jay ;o5 (and) Aleald) gl 6 jEN e Y b E Juad 3 )




e.g. 3. Some students didn’t do the homework and the teacher knew, but he didn’t say anything.
Some students didn’t do the homework < 1sY) 5l
the teacher knew < 4xUll 5_adl)
he didn’t say anything < 43Ul 5 jll
* oh g "Calae Caja oy y slaly ZAN 5 300N 5 ja day ) o3 (but) oy slal Load 20 5 3590 8 el Uilay g (Aliald) s 48 suss
sy "cihe Ciya" (and) <alall Coja J8 Alald 3 ea g Lia Ladl (but) O8N 5 dudie coela Ui A3GN 5 3 o g cand)
Dl U ALalil) 3sa g8 aifie 4B 5 Y,
e.g. 4. Either he didn’t bring the book,or someone took it from him.
he didn’t bring the book < (Y1 5_ll
someone took it from him < 45l 5 sl
* s "calae (o a Jay  slaly AUIL 5V 58 day a3 (or) daad Legd Guilead) () Lgses L ALaldll 3 g g ¢ Alialdy 48 gauna
A RIS Ssa g s L ALaldl) dgm s s o) @i sl 5) e Ll L ALl 5 g 8 e 33 61 " Either” gy b
8 Leaal ) clac ally 4pus 138 5 = (V) Aleall” daiil) 5 candicauses and effects-" aled 4l )
e.g. 5. I'm selling my car and (I’'m) buying a new one.
I’m selling my car < J5¥) 3_jaill
(’'m) buying a new one < 438l 3 jall= o sl o e Cads Sadll (1
*h s i Caat Ly 3l sl by &5 (and)
e.g. 6. Mohammed is going on a trip for a few days,but (he) will be back before Saturday.
Mohammed is going on a trip for a few days < (s¥! 5_jill
(he) will be back before Saturday < 4Gl 3 j88ll= (o 8l (o e Cads (Saall 01
*h s "Calae (o ya" Jay 3ol oy 3 by ) &5 (but) |
e.g. 7. He may have received the letter but (he may have) forgotten to reply.
He may have received the letter < Js¥! 5_jill
(he may have) forgotten to reply < 4slll 5 jadll= G @l G Lo Cads Saall (e
*h s "Calae (o ya" Jay 3ol oy 3 Ly &5 (but)
* As seen in examples 5, 6 and 7, when the subjects of the two clauses refer to the same person or thing,
the second subject can be deleted. We can also delete the second verbal group if it is the same.
S el g Jadl) 5 Qa3 ei el say US 13) A0 5 5880y agddad o oSeall (ped ol jaill 8 Jadl) 5 Jeldll ) S5 13)
Otileall,
* 5 Al ey oda & Alaldll 2 sa g Caa el a1 e 53Sal | il () salall e 1sda) W) Akl e il
gl 5 G5l o<1 el e oS3 56 oSl o SLE W ga s s 50 JSE b Jle 50 (Y V5 £ o8 JUa))
Exercise :
Decide whether the following sentences are:
a. simple sentences b. compound sentences
1. My neighbor and his family are going on a trip.

Al JSS Jeldll Jlad) (Saall e (they)
ol ¢l "My neighbor and his family" = "they" 2als Jeld i3
going < aaly =
Js& : they are going on a trip
*O S ol alld aal g J=8 5 aal 5 Jeld ;g simple sentences

2. My neighbor is going on a trip but his family are not going with him.
My neighbor is going on a trip < 1Y) 3_jaill
his family are not going with him < 4Gl 5 sl
Ua Jaa3i 1 My neighbor Jeld = Jialbhis family Jelé
Is aclue Jad = gre el J=b
going J=é = not going J=é
* 5 g (cabae i ya) Jay y slaly lidadi pe U 52 Lial U 1) Jad (e ST 5 Jeld (e ST "but ™ 5o lsal) o s b,
compound sentences

3. Either | lost my wallet or someone stole it.

| lost my wallet < Js¥1 5_all
someone stole it < 4l & yadl)
La Laadli: | Jeli = Jlidbsomeone Jeld




Lost J=é = stole J=é
* g g (Cadae Caya) Jayy 3ol ik pe 558 Ll U 13 Jad ge ST 5 deld e ST "0r" 58 Gl sall ¢ sSsd 2 b, compound
sentences
4. The wallet was either lost or stolen.
The wallet < Jelé
lost sstolen < (plad
A Jall 0 sSaud Jad e ST 5 aals Jeld Lal Ua 131 1 @, simple sentences
#5 ol Lol (e (o) Anguanl) A Wl (5 slasia IS8 Jxb g0 ST 5 Jel (m ST L 23 50 2 5Y A sl Alaal) () s
h‘}&ﬁ@@.’—ﬂ&uﬁ\gdﬁlﬂu—n)ﬁ\ (gie ujﬁubj\sm)gj\.m.ﬂ\ a Jani< ).\S\cn.au\ USAA\UA)::AAUAJA;).\.\ML\A
s 0aal g 4alS it Jeld (e "they" Jad e JAST Al (9% aal g Je B i< Adany saal g Alaall )AA:.\L.A.\\ Lia)
Exercise :
Decide whether the subject in the second clause is:
a. Optional (can be deleted)ldds (Say) 4,L581) b, Obligatory (cannot be deleted)ledds Say ¥) 4l )
1. My neighbor is going on a trip and his family are going with him too.
My neighbor < Jeld
his family < Al Jeld
s sl T3] ¢ Lanaal Cads (€0 Y 5 olilisa: b Obligatory (cannot be deleted)
2. My neighbor is going on a trip and he will take his family with him.
My neighbor < Jeld
he < delll uéi e 352y paa sa" Jeld (My neighbor)”
s sl T3 ¢ Lanaal Cads €y 5 leiliiie: @, Optional (can be deleted)
3. Sara will study hard for the exam, and she will try to get high grades.
Sara < Jeld
she < Jeldll (udi Je 392y jan " Jeld (Sara)”
s bl 13) ¢ Lasaal Cada (S 5 lslidiie: . Optional (can be deleted)
4. Sara will study hard for the exam, and Maha will do the same.
Sara < Jeld
Maha < Al deld
sa sl 13 ¢ Laaaal Cada (€0 Y5 clilisar b, Obligatory (cannot be deleted

s @L"\S\ 5 _paalaall

Subordination
Subordination:
In Lecture 1 we said that sentences can be divided into simple, compound and complex sentences. We
discussed simple sentencesin detail in previous lectures, especially Lecture 10, and compound sentences in
Lecture 11. In this lecture, we will discuss complex sentences.
A complex sentence has two or more clauses joined by a subordinating conjunction. At least one of the
clauses is subordinate to a main clause.
A main clause (also known as an independentclause) is a clause that can stand alone as a complete
sentence.
A subordinate clause (also known as a dependent clause) is a clause that cannot stand alone as a complete
sentence.

el Jaadl;
Baine Jan 5 S je Jan apn Jan ) Lpannl Sy Jaall () Wl 1501 5 jpualaall 3,
MJ\AJ\ aﬂw\éﬂs‘}d\ dAAJ\ Lu.uﬂ\.i} ‘o‘).u\.ﬂ\ oﬁ@\&uwmu\ u“)mhd\‘_gdmuw\ d.q;j‘ Luials
M\M\ay&d\a&@w&h&»jww
dapend) dlaal): saa) 53 538) e (5 5iaS — one clause)




48 yall Addagll; STl (8 58) e s sind — two clauses or more) 48 4wt Cihie Cigya JA (10 agaiany (il )
sainall Alagdl: ST i (s 8) Jle o 5iaS — two clauses or more)aiad cilie Cigya JA (e agunny (pladi e
Adaall g i

8_Adll ax (clause)

Ly )

simple aww

(32~ 53 %8 — one clause)

Y

compound &S

(U1 i % — two clauses or more)

B ¢a: Coordinating Conjunctions siCorrelative Coordinating Conjunctions

(e yPhie 4o Colae Clig ya — 4l Calae (o ya)

complex sz

(sS1 5l o458 — two clauses or more)

S e Subordinating Conjunctions  siCorrelative Subordinating Conjunctions

(4o )Dlie 4as Calac Coga — 4 Coalac Cag a)

‘ Al 58l e 3o 68 Lﬁi)"aé.fui 3 e dplaie) (sS5 of f A 0 5S5 @ljEl 3 gas) JBY) o),
*(Aglad) 3,881 - main clause); it 3 8ll) La)l 35 - independent clause) AleaS lewdi e aaiad Jll 5 3l &

B
*(432:80) 3 438 - subordinateclause): dnic ! 5 5ill) Layl cxi - dependent clause) e aaixi Y il 5 3l 4
s ALnS L

* A clause can be subordinate by being able to do one of the following:
HE LY sn) Jee aliing o U (e (dpnal) o o5 o 5l (e
1. replace an NP in the main clause
e.g. Everyone could seeit.
Everyone could see (that) he was frightened.
The subordinate clause “that he was frightened” is a noun clause. It functions as the object of the verb

“" ”

see .

1 -4 3880 8 dpacd) B jlal) Jladiad
J%/ Everyone could seeit
it < Jzdll Jsmda 98 5 danl 3 le 85 e (see) .
lllagul> - ((that) he was frightened ) < aiiwall Lpulul) 5 @l e doalaic) a5 4l 5588,
see < J=dll
Everyone could see < lLgudd o aaiad dlitie dlas,
* a3 iill Aleall 13) "that he was frightened" Jzill Jseie & Ua Lk 55 Gl dlea & (see).
2. modify an NP in the main clause
e.g. | often see my old schoolfriends.
| often see friends who were at school with me.
The subordinate clause “who were at school with me” is called a relative clause. It functions as a modifier
of the NP “friends”.

2-Apa) BR8N A dpan) B ladl Jyaasi

Ji/ | often see my old schoolfriends

friends < 4dsdll 3 jlall Ll 4 58 5 4aesd 3 5ke (my old school friends) .

my + old + school < (sl 418 ¥ ane pexex> " friends” .

*B)ﬁ) 2 %\L&]\ Y ama EOU sda R\ P OSAAM O — c|ause) Z;xa_\’j B)ﬁé) e\qs:u\ ‘_')SA.J\ (e TJ\ P /\JA:\ - subordinate
clause) ol Juail " friends”

* Llagul> " “my old school- (who were at school with me) < liiuall Lpulud) 5 &l e doalaic) a5 4l 5 58,

*13) (I often see friends) < &bl 3 ,38) & 5 liise Ales 4 - main clause).




(who were at school with me) < 4nlic) daa & (subordinate clause)
el W 38 5 Al 55l aa Ui Apalaie V) dleall “friends”.
*4%1) dleall 131 " who were at school with me" il Aleall 5 4 sum sall Alaally o8, Apan¥) 5 5Ll Joans Ui Lgia o
"friends".
3. replace an adverbial in the main clause
e.g. | met Ahmed twenty years ago.
| met Ahmed when | was at school.
The subordinate clause “when | was at school” is an adverbial clause of time. It functions as an adjunct in
the main clause “I met Ahmed.”

3-Aoalady) 3 A4 A G g ylal Jladiad
JBs/ | met Ahmed twenty years ago
twenty years ago < Ol ge ks
slilasiul>  (when | was at school) < 4sen) 3 le
Hledia (S ¢4y jlidl
Lagll deall " when | was at school" dsulu¥) Alaall Al Lia Liiida 5 Gla 3 e 48 4l des & "I met Ahmed".
Jasl)
4s gi 9 JAhlual)
4y JaiLal
4y JABlAl g s
Aidul o
AanluY) 580 8 da) 5 kel Jlasial
it <_pesa" dpand 3 le”
dlaa (aisee it
that he was frightened
daanl 5 yaa-dlsiiall 3 jal) e gdlals) " Everyone could see”
J=ill J 920 "see"
AanlY) 580 8 da) 5 kel Jlasial
my old school< dueul 3 jle
dlaa e:my old school friends
who were at school with me
Al dles -Aldial) 5 8l e galais )" | often see friends”
a5 jlall Jaaa friends”
Aula) 58l 8 Caglall Jlagi)
twenty years ago <<k
when | was at school
O\A‘}M e 4,}5)): Uaa-dlaiial BJEQ\ ‘_As: éALAk«\" | met Ahmed"
AanluY) 5 8l A" met Ahmed"

A subordinate clause is usually introduced by one of the following:
1. a subordinating conjunction, e.g. when or that
2. a relative pronoun, e.g. who, which, whose .
AU e L&Y saa) JMA (pa 30 Bale dsalaie ) 5 AdY):
1- LaladieY) ciball g a: when sithat
2- Lgasall gl Adll jiladll: who slwhich slwhose
Compare:
1. a. He was frightened. (Independent Clause)
1. b. that he was frightened (Subordinate/Dependent Clause)
2. a. 1 was at school. (IndependentClause)
2. b. when | was at school (Subordinate/Dependent Clause)
Examples “1.a” and “2.a2” are independent clauses. They are complete sentences by themselves.




Examples “1.b” and “2.b” are subordinate clauses. They are not complete sentences on their own. A main
clause must be added to “1.b” and “2.b” if we want to make a complete sentence from them.

KJJG.A;

JEial) ?BJ
JUiall)3_jal)

e sl

1. a.

He was frightened

5 Ao Ales
(e 5 )

1. b.

that he was frightened

s e dgalaic ) dlea,

-(Redlaie | 5 ja8),

Al dlea raai 5 Lgle aaiadl Al 558 ) 2 lias,
2. a.

| was at school

-4l Alatoe Al |
(Rl 5 )

2. b.

when | was at school

-4l e aladie] dlea,
-(Adlaic ] 3 y38),
-4l dles a9 leale daiatl dpulil 5 58 ) ~ U,
Exercise:
Decide whether the underlined clause is:
a. dependent b. independent
1. It was obvious to everyone that he wanted to leave.
that he wanted to leave < 4alS 2 s 5 Laa3U "that" Js& o) axkins ¥:"that he wanted to leave" &Y dlaall g
5 ol sall dalaic) Alaa oo 13 Al g 3uie e Alea maaiu : b, independent
2. He wanted to leave and this was obvious to everyone.
He wanted to leave < J s ¢} adain (Aiiuua Ledl (1) Lalaie] 2 des o3a:"He wanted to leave" &Y dleall g
& sl 1Y) €l g Bake Alas maaiv : @, dependent

3. My friends came to visit me when | was in Dammam.
when | was in Dammam < 4alS 2 s 5 a3l "when " Js& o) akiss ¥:" when | was in Dammam®” &Y dlaall g
& gl 5 dalaie) Alaa o 13 Aadl 552 e Alaa mualu ;b independent
4. My friends came to visit me, but | was in Dammam.
| was in Dammam < Jsi o galaiv (Aiiue Ll (51) alaie) 5 ddas o382" was in Dammam " &Y dleall ¢
& sl 13) 6l 5 3aude dlen maain : @, dependent

Types of Subordinate Clauses :
1. Noun Clauses
2. Relative Clauses
3. Adverbial Clauses
4. Other (Conditional Clauses, Result Clauses, Purpose Clauses... etc.)
Lalaiey) Jaall g1 il
1- deasY) Jaall




2-4 e sall 5l Lpnsil) el
3- 48 ,hall Jaall
4- s 53> Conditional Clauses - 4k il Jaall
Result Clauses- daiiiuall ol dailill Jaall
Purpose Clauses - 4yl i daslgl Jaall
Comparison clause- 3\-@@\ Jaall
Reason clause- kil Jaall
We will take a look at each of these types in the following sections starting with noun clauses.
Al Jeadly o dy (Ul sl (3 ) 531 038 (30 IS (e 5 a0 (il
Noun Clauses
Noun Clauses :
We can divide noun clauses into that-clauses and wh-clauses. A that-clause begins with “that” and a wh-
clause begins with a wh-question word, e.g. what, who.
doany) ddaall
that-clause " 3! Jasthat"
- laii (that)

wh-clauses " 3 Jeawh < dbuYL Lala
A @llS; fasi(wh- question) Jie/ What-Who

A. That-clauses
A that-clause can have four of the functions of the NP. It can be:

Jl Jaa -iThat;
Lpan¥) 8 all o il £ 8 (S5 O (Saall (NP 055 38 ¢
1. Subject of a Verb in another clause
e.g. Thatthe drivercould not control his car is obvious.
(=It is obvious.)
Note: “That” is obligatory in this sentence. We cannot delete it.
1/ s A ddaa (& Jadll fxiga i Jold
J/ That the driver could not control his car is obvious
That the driver could not control his car < Jxeall Ldlatul bt ¢ Jeld "It"= It is obvious
is < =i
obvious < 4lSa
*S (It) A "It is obvious” Jeld el
*34IS Ua- 14k sals (That) > (Al 3)) — obligatory) Ledds i€y ¥ dlaall 4
*J 68 ki ¥ (the driver could not control his car is obvious) 4 ¢ s (That) .
2. Object of a Verb in anotherclause
e.g. Everyone could see (that) he was frightened. (=Everyone could see it.)
Note: “That” is optional in this sentence. We can delete it.
2/ A daa b Jadll Jgaia ;
JY/ Everyone could see (that) he was frightened
Everyone < Jelé
could < Modal 2clus Jad
see < Jxé
(that) he was frightened< J=ill J 2és "see" jaally allasinl (Sadll (1 5 ¢ (it) = Everyone could see it
LK (jt) A & "Everyone could see it" Jadll Jg2da Cislatsee”,
*ihgala; - alS L “That” Ledda LiSey dileall i 4y )il
- oaid dlaall (e L83 olaii> Everyone could see he was frightened




3. Complement of Subject +BE
e.g. The truth is (that) he was very shy. (= The truth is this.)
Note: “That” is optional in this sentence. We can delete it.
3/A 5 Jad + Jaipall 5f Jolill dlasa:
J&/ The truth is (that) he was very shy
The truth < 13w
is < A4S Jad
(that) he was very shy < 5Ly auls Allagin) el (pes ¢ 43 50S)) Jail 5 lxiall 41 (this)= The truth is this
*a gala; -AdS U (that) > ledds LiSe ddlaall 8 4 jladl,
- sl Alaall (e i mkaini> The truth is he was very shy
4. Apposition (to nouns like “fact”, “truth”, “explanation”)
e.g. The factthat he was shy surprised me.
“That he was shy” is an appositive noun clause that refers to the same thing as the NP “the fact”. We say
that the noun clause is in apposition to the NP.
Note: “That” can sometimes be deleted in this case.

4] Jad:
-Jie ¢ Ll 8/ fact — truth — explanation .
JB/ The fact that he was shy surprised me
The fact < 4wl 3 ke
that he was shy < -Lueul ilaa & "Noun clause” <~ J (s 558 2 s(That-clause) dsenY) Jeall g1 5l gaa) |
galaic) 5 i
-Ja
-0l 1588 ¢ Sinall (i Lagl Laa DS (that he was shy) ZsewY! s el dx s (The fact) .
*a gata; AalS L) (any i (that) g 33 s se (o sSisale oS0 el oda & dlead) (1 adad of (Kaall (o> The fact
he was shy surprised me

Reported Speech:
Reported speech can be either direct or indirect.
Jsial) cildadl:
ile el pile ()5S 38 Jsiall ),
a. Direct speech is quoting the actual words spoken by someone. In this case, we write the quoted
sentence between guotation marks (” ).

a9 @Yl Adle G m;ﬁsfd\ laal) K6 Al o8 @(" ”).
b. Indirect speech is restating the words spoken by someone. We can use a “that-clause” to report indirect
speech.

Sl ) QUaA) (@ Lo aa e (L Limaian)) 335500 LSl a2 Lpa sale) e 3 ke 5
ac sl L delia U e W) QY] dadle aadivd off o s i ddlal) o2a ),
aladiu) Wi ¢llall o322 & (That-clause) sl ye i s 58 238Y,
e.g. The man says, “The road is closed.” (direct speech using quotation marks)
The man says (that) the road is closed. (indirect speech using a that-clause)
Js/ The man says, “The road is closed” < ks Gl 831 Laaiin) ¢ pdlea lad,
The man says (that) the road is closed < 4alS Laaaiul ¢ pils & Gilad "that"Ls,
B. Wh-clauses
A wh-clause can have four of the functions of an NP. It can be:
I Jax -2 (Wh-):
a1 3 lal) e ity £ A 0 5SE  (Saall (NP (S5 6
1. Subject of another clause
e.g. Whatcaused the accident is a complete mystery. (= It is a complete mystery.)
1/ Al et Jolb;
Ji/ What caused the accident is a complete mystery
What caused the accident< _sall allaiin) Sy 5 Jsin"It"=It is a complete mystery
is < Jxé




2. Object of a verb in another clause
No one knows whatcaused the accident. (= No one knows it.)
2/ s A Ay B Jadll § gria;
JE/ No one knows what caused the accident
No one < Jeld
knows < J=é
what caused the accident< J=ill J 520 "knows" rexally allasiu) (Sedll e 5 ¢ (it)= No one knows it
3. Complement of Subject +BE
The question is whatcaused the accident. (=The question is this.)
3/A 5 Jad + Jaipall 5f Jolill Al
J&/ The question is what caused the accident
The question < Ixix
is < A4S Jad
what caused the accident < 3 LY auls Lellain) (Saall (o ¢ 435Sl Jadl 5 fvinall AeSa (this)zaait <> The
qguestion is this
4. Object of a preposition
This depends on whatyou want. (=This depends on it.)
4] A Gl grda
JE/ This depends on what you want
This < Jelé
depends < Jad
on < A& <a
what you want< _all <a al J =i (0n) Usesall dllaiiu) UiSay 5 ¢ (it)= This depends on it
Exercise:
What is the function of the underlined clause?
a. subject b. object c. complement d. appositive
1. The fact is that no one could do it.

S+V (Be)

The fact< Jelé
is < 435S Jad
that no one could do it < (sixall JLSY dlaall 8 age Lasa s oY ¢ AleSa
4 sl 13 ;¢ complement
2. What he discovered was important for science.

What he discovered < Jeld
was < 435S (a8
s sl 13 1 4. subject
3. The fact that no one could do it disappointed me.

The fact < 4eul 3 le) Jeld)
that no one could do it < Zeu! dlea) Ju)
s sl 13 0 d. appositive
4. Everyone knows that he made a great discovery.

Everyone < Jelé
knows < J=é
that he made a great discovery < J2ill J s2is "knows"
4 )l 130 b object
5. The workers rely on what the manager has to say.

The workers < Jelrely < Json < <o
what the manager has to say < sall sl Js=éa (on)
s <l 13 b, object
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Relative Clauses
Relative Clauses :
In Lecture 12, we discussed subordination and the types of subordinate clauses. We talked in detail about
the first type of subordinate clauses: noun clauses. In this lecture, we will cover other types of subordinate

clauses in more detail.
duadl) Jaad):

Catl) Jan) g5l g dagl) L8l ¢ e L0l 5 alaall 3, Lpend) Jeall ; M\Mdﬂ\&)ﬂ\uc Jpailly Wiaas, oda
DS Sy i) Jaall (5 A £ Y1 i 63 palad)

2. Relative Clauses
A relative clause is a clause which mainly modifies a noun phrase. It usually begins with a relative pronoun:
who”, “whom”, “whose”, “which” and “that”.
e.g. 1. The car which he owns is very old.
(The car is very old. He owns the car.)
Sometimes the relative pronoun can be deleted (zero relative pronoun), but it still exists as a grammatical
position in the clause.
e.g. 2. The car he ownsis very old.
In example 1, the relative pronoun “which” is the object of the verb “owns”. Similarly, in example 2, the
zero relative pronoun is the object of the verb “owns”.

"

Axail) Jaall &\3.\\ &l

2-4dpudl) Jandi:

Lan¥) 3 jladl sl OS5 Jaxs ) Jeadl o, 20D 4l yilaally Jaadl o2 1o 32le: who, whom, whose, which,

that Jul8 axy ade Gaatin Gald aladiu) 4l jileall 238 (e S

YJBs/ The car which he owns is very old

which he owns < & Ua aadiial) il jecall 5 3% 58 Lo o3 Aadi dlea & (Which) A3 oo Lddds s Alaall oda
isall (car) el 5 4ilial e slas Litae§ g8 ¢ (which) dedll Js2ée 58 (owns) .

* ey 5 caiay 8 )yl el (as i(zero relative pronoun)ileal i s sad g seS 1 s ge i oS

YJ&/ The car he owns is very old
he owns < =2 Wb aill jaaaall 5 A dlas e 53 A dlea & (zero relative pronoun) st L ol jiaxll
J=dll J 5286 " owns".
The relative pronoun points back to the head of the noun phrase modified by the relative clause. The head
of the NP is called the antecedent of the relative pronoun.
e.g. The manwho called us yesterday has come to meet you. (the pronoun “who” points back to the head
of the NP “man”. “Man” in this sentence is called an antecedent.)
*J) oo Gaatie (V) (antecedent-dawsl) _).\LA.\AM (poEall paiall;
Aaail) 50 IS e 32 A Apanst) 5 lall Gl U Y s ansil) el
~piall af ) o 5 Aansl) 3 laall Ll - antecedent) il jpaall,
JB/ The manwho called us yesterday has come to meet you
The man < Jeld Lhdla g ¢ a3 ke |
man < 4z 5 ell ul 5l 58 (The man) adiie sl ) 52 5- antecedent) i) sseall (Who).
who called us yesterday < Jelill Aldaa Lgidida 5 5 daanl dles 2 (man)
who < sa 4l eﬁl«]\ ).-a.'\al\ 5 (el s " man"m ¢ (WhO) u.ubl\ ‘_A\ el "'man"
¢ The Use of Relative Pronouns:
A. Personal Relative Pronouns
The personal relative pronouns “who” and “whom” are used with human antecedents.
e.g. 1. There is a man outside who wants to see you. (There is a man outside. The man wants to see you.)
e.g. 2. Ahmed, who/whom | told you about yesterday, is here. (Ahmed is here. | told you about Ahmed
yesterday.)
*U8 LaS; dadiial) jualiall) (o el ge p233d G Sy Ll jilacall (4e 321l — antecedents) <l slad) (e aell g
AanY);




doadldl) Al yiladl) -
who) - whom) gyl (A i il desfiall jualiall) s padind jlaca 8- human antecedents).

YJUs/ There is a man outside who wants to see you
who> e 20 "man” s'man” meall deall sda Jdiad (S 5 ¢ sl Iyl aiia jaie g4 ; There is a man
outside. The man wants to see you
YJ%/ Ahmed, who/whoml told you about yesterday, is here
who/whom> e 122 "Ahmed" zuall daall o2 Juad (Say 5 ¢ Glud¥) ) ol sl Jlediia o)) paic Laa 51 Ahmed is
here. | told you about Ahmed yesterday
*Ahmed, who/whoml told you about yesterday, is here
4alS Ua (Ahmed) 338xall dlaall 8 Jeld el |
*Ahmed is here. | told you about Ahmed yesterday
4.IS Lis (Ahmed) dladiall dleall 8 4 J 9280 ¢ls,
B. Non-Personal Relative Pronouns
The non-personal relative pronoun “which” is used to talk about animals, objects, places, ideas... etc.
e.g. | want a watchwhich is waterproof.

iyl adll padl) -
which)) add s paca 4l gf) &l JSEY) 5 LY 5 oLl 5 il pal) ae podivg jueca ),
JE/ | want a watch which is waterproof
which> e 20 "watch” 5 "watch” e Jx (animals, objects, places, ideas... etc ) «-" watch" s paic
=il ypaall (which)
C. Personal and Non-Personal Relative Pronouns
The relative pronouns “that” and “whose” are used with both personal and non-personal antecedents.
e.g. 1. There is the driverthat was speeding. (“that” used with the personal antecedent “driver”)
e.g. 2. There is the carthat was speeding. (“that” used with the non-personal antecedent “car”)
duadd yall g duaddl) Al iladallaa
that) - whose) gl () i (Al Aediial) jaliall) ge 23505 filaca (2= human antecedents ¢Li¥) 5 Sl gl oo
DS 5 Sy )
YJU«/ There is the driver thatwas speeding
that was speeding < 4w dlaa
that <& aafiall jaiall 1 ¢olua) I Huly padld adile paic aadlioddiul 5 sl e (driver).
YJU«/ There is the car thatwas speeding
that was speeding < 4w ilea
that <s» 38l paiall 138 ¢ aadld je 30 jaie gealicadiu) 5wl jueda (car).
Note: “Whose” gives the idea of possession.
e.g. 1. The manwhose car you borrowedwants to see you. (The man wants to see you. You borrowed his
car.)
e.g. 2. We saw the castlewhose walls were made of rocks. (We saw the castle. Its walls were made of rock.)
* gl padll oo 4 sals (Whose):
‘"5\...».'\3\ el adAll (pae auiag O Caaadll L‘mj 13) (Whose).
Y Jis/ The man whosecar you borrowed wants to see you
whosecar you borrowed < & iles
whose < s 1,
man < il jeall a3iie paic s (Whose).
~Lieadivl "Whose" daJll (o8 5l of) e 388 slacY La) < (re s,
-J s 3aaall Alaal) Juad Lo i 13):
The man wants to see you. You borrowed his car.
YJUs/ We saw the castle whosewalls were made of rocks
whosewalls were made of rocks < 4w dlaa
whose < i s,
castle < (il jaall adiia paic s (Whose).




-Laadisl "Whose" );AJ\ (e a..c).um 4213l Ol u\) oe 3)55 ;LL:.C\J LAA) < (e o,
- 58 Bbaal) Alaad) Jad L i 13
We saw the castle. Its walls were made of rock.

*aga da glaa:
1-deall (A il jraall Jae g Lo paad Cang A1uY) o8 Jial Jall 2ie
2-43an) 5 jlaadl 8l I Alaad) 8 31324 () 685 Ll dgaaail) Aleal),
3-leie oliiu¥) (a5 Alaall (84 )5 pin e Al Alaal 3)
eIn the following section, we will talk about the third type of subordinate clauses: adverbial clauses.
*3 Il Jeall : Aal) Jaall o G £ 0l (e Craains ¢ U andll 3
Exercise:
Which of the subordinate clauses in each of the following sentences is a relative clause?
a. relative clause b. not a relative clause
1. The machine which makes plastic bottles is broken.
which makes plastic bottles < U3 il ymachine < o e aaia palc
*ileall sda (e claiu¥) oSa 131"which makes plastic bottles” _kial basa s (Y(Aeall Jixe (g it Y lalias 13) o).
s <lgall s al relative clause

2. The manager is upset about what the worker told him.
what the worker told him < 4lSs Widks smanager < Jeld
*ilaall oda e elixin¥) (e ¥ 13"what the worker told him" ¢ ba) Wasa s Y (ALl e (30 (il lalids 13) &),
s <l : b, not a relative clause

3. The problem is that he didn’t oil the machine.
that he didn’t oil the machine < &« giauls sproblem < [
*laal) o2 e slixiu¥) (e Y 13"that he didn’t oil the machine” @ _ba) Wasa s (V( (sre (o (i alidds 13)
alaall),
s sl s b, not a relative clause

4. The worker that forgot to oil the machine is speaking with the manager.
that forgot to oil the machine < i ik smachine < (i jé adiia jaic
*aall 22a ce laiu¥) Se 13"that forgot to oil the machine” ksl Wass 5 GY( ine (o (il Y lalitds 13)
alaall),
s <l 3, relative clause

5. They called a technician who could fix the machine.
who could fix the machine < 43z Lgiads stechnician < glsY) A sy il adiie yuaic
*ileall oda (e slaiu¥) oS 131"who could fix the machine” ¢ _ial bass s OV (Aleall ine (e it Y alida 13) sh).
s ol g, relative clause

Adverbial Clauses
3. Adverbial Clauses:
Similar to adverbs and adverb phrases, adverbial clauses allow us to talk about time, place and manner.
3- 4l dlaal ;
S aldl sf bl 5 S 5 el e Cnaalls W pranss A I Jaall ¢ Labas 2 Il ol jlad) 5 oy plall 4 g il 13,
e.g. | met Ahmed in 2005. (adverbial phrase of time)
| met Ahmed when | was travelling. (adverbial clause of time.)
He parked his car here. (adverb of place)
He parked his car where there is a parking sign. (adverbial clause of place)
He drives carefully. (adverb of manner)
He drives as his father did. (adverbial clause of manner)

JE/* | met Ahmed in 2005

in 2005 < gl il e Wi dé jla s e oo,

| met Ahmed when | was travelling *

when | was travelling <gU (o 5) Ole 3l e Ulxi 4 )l dlas 1lge 5 ¢iasi dlea oa),
He parked his car here *

here < &l e Ulxida )l 3 jle P




He parked his car where there is a parking sign *
where there is a parking sign <gU 2 5) Q\Sal e Ul 48 )k dlea 1lge 5 ¢A0asi Alea a).

He drives carefully *
carefully < &slu sl sl e Wy Js o Cala s
He drives as his father did *
as his father did <@l 2 5) dsla 5 Clad e Uil 48 5l A tlge 5 td0ag dlax 8),
Note: The words “when”, “where” and “as” in the previous sentences are subordinate conjunctions.
*ClalSll 13k sald” when- where- as" 4 Calae Cagya e 5 ke A8Lall Jeall 8,
Adverbial clauses also have functions similar to adverbs and adverb phrases. For example, the adverbial
clause in the following sentence is an adjunct:
e.g. | met Ahmed when | was travelling. (The adverbial clause “when | was travelling” is an adjunct.)
A"t 5 Al Alanl 8 Al Alaal /(o Al el 5 gl Al Catlla 5 gl 38 50800 el
| met Ahmed when | was travelling
when | was travelling<gU) Leiads s 438 )k 4 dla)
Compare: | met Ahmed in 2005. (The adverbial phrase “in 2005” is an adjunct.)

a5 )\ia -

I met Ahmed in 2005

in 2005 < @1 Wik g s colall e LWl dd a5 jle oo,

¢ In the next section, we will look briefly at examples of some other types of subordinate adverbial clauses.

*4h 0 el Jaall o 5al o) 51 G Al e jlaialy s jlar il ¢ Jall audll 8,

Other Adverbial
Subordinate Clauses
Other Adverbial Subordinate Clauses :
4. Other Adverbial Subordinate Clauses
Please return my book if you finish reading it. (Conditional Clause)
Ahmed is quicker than | am. (Comparison Clause)
| couldn’t open the door because | used the wrong key. (Reason Clause)
He closed the windows so that he wouldn’t hear the noise outside. (Purpose Clause)
s A A B dadi Jea:
4- s Al 4k g Jea:
1-4k 4&d) daall - Conditional Clause : < (if)
Ji ¢« dla caa ¢/ Please return my book if you finish reading it
2-Adugdill) 4luadil) dlaall) - Comparison Clause: < (than)
Jba ¢ ol m 45 jlae/Ahmed is quicker than | am
3-4auaull) 4idhiall 4aall) - Reason Clause : < (because)
JBe ¢ Le g 2l Jae s muia 63/ | couldn’t open the door because | used the wrong key
4-dua pl) 4daad) - Purpose Clause : < (so that)
JYs/ He closed the windows so that he wouldn’t hear the noise outside
*&Ja_h:
- AV A8 Y Al Jaad) g A BN Jaal):
Aagl) Calaall oy yau a8 5223 " subordinate conjunctions”

-when, where, as
-if, than, because, so that

** alaada e d&)m;mg)ﬂxww\@hﬁﬂﬂﬁcMJM}MLJJQ\M\@LQJU}AFLAS
idaidl ylaxll" Personal Relative Pronouns” leall" L) u_n\...n\ e La Lgaa ) Ul (M\ i3l el laliag
Auad Al Aall",

Ol ! (Relative Clauses) 4 ga sall Jaall o) 43l Jaall :lalina




Independent Clause

An independent clause is a group of words that contains a subject and verb and
expresses a complete thought. An independent clause is a sentence.

Jim studied in the Sweet Shop for his chemistry quiz.

Dependent Clause

A dependent clause is a group of words that contains a subject and verb but does not
express a complete thought. A dependent clause cannot be a sentence. Often a
dependent clause is marked by a dependent marker word.

When Jim studied in the Sweet Shop for his chemistry quiz . . . (What happened when
he studied? The thought is incomplete.)

kel Jxn dependent s 5l

4l dles Asiusindependent

Lalaic] dlea & LU oda e g gind 3l Jaall il 2 i s b L < yial Ul Y &
after, although, as, as if, because, before, even if, even though, if, in order to, since,
though, unless, until, whatever, when, whenever, whether, and while




